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ABBREVIATIONS AND SYMBOLS
Amount of substance n | Equilibrium constant K | Milli- prefix
Molal
Molar
Mole

Ampere A | Faraday constant
Atmosphere atm | Formula molar mass
Atomic molar mass u | Free energy
Avogadro constant Na | Frequency Planck’s constant
Celsius temperature  °C | Gas constant Pressure
Coulomb C | Gram Rate constant
Second

Speed of light

Electromotive Force E | Hour
Energy of activation = Ea | Joule
Enthalpy H | Kelvin Temperature, K
Time

Volt

Volume

Entropy S | Kilo- prefix

r =~ AN u e O < O 7

Measure of pressure mmHg | Liter

CONSTANTS Useful Conversion Factors and Relationship
R =8.314 J.molt.K? 11b =453.6
R =0.0821 L.atm.mol1.K? 1in 1.54 cm (exactly)
1 F =96500 C.mol* 1 mi=1.609 km
1 F =96,500 J.V-1.mol* 1 km =0.6215 mi
Na =6.022 x 103 J.s 1pm=1x102m=1x10%cm
c=2.998 x 108 m.s* 1 atm = 760 mmHg = 760 atm = 101,325 N/m
Proton mass 1.672623 x 102 g =101,325 Pa
Neutron mass 1.674928 x 102 g 1 cal = 4.184 J (exactly)
Electron mass 9.109387 x 1028 g 1L atm=101.325J
1J=1Cx1lV




a 7 o

asgm:ajm?a 538%8&252519 #5585 Logarithm and Exponent
2 ¥

Logarithm Exponent
log1=0 100=1
log10=1 10t =10

log 100 =2 10%2=100

log 10t =-1 101=0.1
log 102 =-2 102 =0.01
log 103 =-3 10 =0.001

log AB =log A + log B 10A x 10B = 10A*B
(10n)m = 10nxm

A
IogE: log A-log B

log A"=nlog A 10~/ 108 = 10AB

Natural Logarithms

Logarithms taken to base e instead of 10 are known as natural logarithms (denoted by In or loge; e is

qual to 2.7183. The relationship between common logarithms and natural logarithms is as follows:
log10=1 10t =10
In 10 = 2.303 e2303=10

Thus In & =2.303 log =

Sometimes we may be given the natural logarithm and asked to find the number it represents. For
example

In & =59.7 thus 2 = €7 = 8 x10%®




ss@esSes@l The Quadratic Equation

A guadratic equation takes the from
ax’+be+C=0

If coefficients a, b, and ¢ are known, then g is given by

—b++vb2%2—-4ac
X =
2a

Suppose we have the following quadratic equation:
2x’+52-12=0

Solving for =, we write

_—5+(5)*-4(2)(-12)
x= 2x2

Therefore

f sSR!

REBIDTINSMNGE




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
1RSSR R IBHIS) SN IBHIFS (BINN+9) SKIRE............
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Tel: 098 472 472
igsmes@:maéégjué no
9. fi. GIRANHGS sm@‘jﬁ[ﬁhﬁﬁmmmmmsmwmumssmn 3s, 3d, 4p, 4f, 5f 811 6d1
2. GINANAGS S[ﬁ?JULﬁhﬁjiUﬁhLﬁijm
9. MY N (Z=7) (AT p b, #HY Si (Z = 14) uR i s
M. HI§Y S (Z=16) fUNT d G. fiuii CI (z =17) puAbisi p
gy 8 fuinamg: i thahsun§o 8 gpeiaéc

B IRpuUIAeAT NI MuAMg i IHG G{R8GENM: Be* (z=4), F(Z=9),
Fe2*(Z=26), N¥(Z=7), He(Z=2), S*(Z=16), Co*(Z=27) 81 Ar (Z=18)1

b. A. sy umagwmstivaisiwannmathamnAywmuepingithtyussing:
10U 6 IR WEA AT AIMAIN M SISTAINS 20%1 AANSUBI]S  (Unuma
anmeuuing 8 nntdupimadgjsluaam aum IS GjHAT 20%]

2. UM A SN STIUAISIAIgANM AN AY L 1WA 100 s H{MWHALIHI
M : NSISIaun 50 %1 iisumumeIs sl s vbnwinygdluanau:
IR 200 s iGN ch{pfiAyniin 92

FUARGUGIUR] (SO-Cl) IFithanSFi2yasaia 81 2ajsyi Athwiaygnitntg

d 1

Ayo
s mARAMURngiag 9 1§

sgssessnes: e Huidd
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9. gisuiuiymitsinytluadnugiug idthanssi2sans 8 anaisgs

b. annsmalgisang)sisipiings:

m. sansydvniauginog sty s idpinypiardssius:nm 10 0§ 10

funtlisiuas S uginugiraiSh 0.65 M1
¢ shgimandgs @) fgjedugiugian 4%
(b#Gj: In 0.65=-0.431; In 2 = 0.693; In 5 =1.609; &2 = 0.301)
m. gigaSminamuisgimsiispt:
fi. Zn + As2O3 + H2SO4 — AsH3z + ZnSO4 + H20
8. FeC204 + KMNO4 + H:SO4 —  Fez(S04)3 + CO2 + MNSO4 + K2SO4 + H20
fi. Sb2S3 + Na2CO3 + C — Sb + NayS + CO (BLjEth s adE)
5. XOz* + YO — Xo04¥ + Y™ + Y307 (G s M)
1. CusP + Cr207% — Cu®" + HsPOs + Cr¥*  (6ijjih S#ada HCl s M Sth S IRuE )

G. CuSCN + KIO3 + HCl1 — CuSO4 + KCl + HCN + ICl + H20

G MARSAMAYMAD 5.72 ¢ (RINSHHAAIYItEW 68.49 0, GUMGRYWEANS 8.00 LT fS
MIPARYUARIFIHGERIF C (graphite) + O, () — > CO, ()

HMWHURAYGUAARNMNGRMERA 182 °CT GIAANS AUHEASIURATIG{RIS:

. massamAainNU: Cu-zn 6.11 g (IRAgthywmaiagii2suagaaisfyilaus 110

#
grisfpitrusinuegrumMemsEg 1.26 L ISIasnNmMA 22°C 80 ASENE 728 mmHg Gi

BANSIM AW AT FR SN TS INGjH UG EGE: Zn 1 65.3, Cu : 63.5

Pednic:SaisnsniidBedemummea melngesiieindipm: gimeinmenns
89S 90 000 68 {CsBemeBmmeeiigies
sgssessnes: e Huidd
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sifusisfieHSains Esg)enSnans SIgN+9) CMmes............
sfusge I8 od te 8o gl W09

#R9 BESAN §65:66105 M (NS

?i[Lﬁ:]HLUnjh NIE) Tel: 098 472 472

SirmupnEwSimentEsan Mo
g
9. . g:ﬁnnﬁﬁgsmq’jnmhnﬁu’fmfﬁmmsghwmﬁ:hégws 3s, 3d, 4p, 4f, 5f 811 6d1

nmsalyGgsadfsmth e M thwHEji s, p, d, f,

{ 0 1 2 3 5
mipesifimes | S p d i h

HGISm Sﬁgsmsjﬁgqhﬁﬁﬁ?mqh[pjmﬁm 3s=4+2=(4x0)+2=2 msjﬁgﬁlh
Ggs mgjﬁmhﬁﬁﬁ?mqhmjmﬁm 3d=4(+2=(4x2)+2=10 mf{]ﬁ[ﬁlh
ﬁgsrﬁq’jﬁmhﬁﬁﬁ?mthﬁjmﬁsh Ap=4L+2=(4x1)+2=6 ﬁ-igjtiiﬁlh
fagsmsjﬁ[ﬁhﬁﬁﬁ?mqh[;umﬁm 4f = 40+2 = (4x3) +2 = 14 IHEJG{AN
GSS msfjﬁmhﬁﬁﬁ?mqmmmiim 5f=40+2=@4x3)+2=14 mr{jﬁmh
ﬁgsrﬁq’jﬁmhﬁﬁﬁ?mthﬁjmﬁsh 6d=40+2=@4x2)+2=10 mr{jﬁmh
2. GINANAGESIHGIB{ARATURR U PbT:

9. H1GH N (Z =7) (U U p: 1s* 25? 2p°

OISIGSSIHE]G{N AIUAR{ATAIUIM p 918 3 IHE[G{AR

sgssessnes: e Huidd
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b. 1§H Si (Z=14) funUins: 1522522 pf 35?3 p?
OIS GgSIHGIBAn AU T S 018 6 IHG] BN
M. H1§Y S (Z=16) funt d: 1s? 252 2p° 3s? 3 p*
OISINSIHEBARAN U NUM d
G. ftih CI (Z=17) (pusiiin p: 1s? 2s? 2p° 352 3 pb

OIS GSSIHGIGRNAIURRUN UM p 118

12 IHEJG AN

HIGY N, Si 811 s thigaemhsm o Shedh Cr
M{EIASNEIM s

al a o

5. (ujuaeddlhrumothiagm 'Eijti[ﬁﬁ NEA:
Be?* 811 He (2¢), F- 81 N3 (10¢), Fe?* 811 Co%* (24¢), S 84 Ar (18¢)

b. A, AANSUBHALS iwnumARAMUEARY 80 winuidupimadgjoiun

A 1
FUH UM BISSGJHAT 20 %1 1369 Mujuyg In%—kt sigy K=—xIn [[]]
t

DR SAUEAIMFIS IR 100 % I AIMHIS:TISISTAINT 20 % FGIS NI UM ATW

[A Summary of the Kinetics of Zero-Order, First-Order

rfm:i mmjtrmmﬁ A ]] >0 L 5 and Second-Order Reactions

Concentration-Time
Rate Law Equation Half-Life

JEISIGnnf]s K=0.27 ht rate = k e, & o bn

rate = k [A] In[A] = In[A], - kt

rate = k [AJ2 [1?] = [jT] + kt

sgssessnes: e Huidd
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B oo oz 1 1Ak
In[A]O- kt 8igj K -xIn A,

I 8 IR UGS SHIH 100 % FUH UM HIS ST SIST AU 20 % FGIS AU IR) UM BT

g s udtm A, 20 _1
2 [Alp 100 5

name k- L xint =209 _ g7
N8 K=-gnX"5 = 6n >

GGISIBIN])s K=027 h*

AN N URAMAUUARYIS

In 2 0.693
k 027h1

mujuyg te = =257h

OIS I N RUMARAMUUAAY tz = 257 h
19 annsunntt upimaigoiun s M aIS S 6jHAT 20 %

Alo_ i sta1 t=2xIn Al
MEJUBE In7 =kt 8ig) t=—xIn Al

RO U H AUMIFIS I 100 % UM AIS M STIUAHAT 20 % 112181 U RS

- s 100 _ 5
100 % — 20 % = 80 % FGIS BRI UMATWIRIN I UATNG % =50 "1
t

RIS t= LIS >
~027h°1 4

-——(In5-2In2)=083h

gurs s n st upim ol yoiun st UM EIS S GjHAT 20% 18 t=0.83h

sgssessnes: e Huidd
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&0 annsn st upimadajiluvaimumaIs s gjHad 20 %

e - e giar t= — L gn Al
MEFUEE Inon = - kt sigj t -xIn A,

RN S MRS I Y 100 % M RIS M STIUAHAT 20 % 12181 auns

[Ale _ 80 _4
[Alo ~ 100 5

100 % — 20 % = 80 % FGIS BRI UMAIIEIGAIGUAUNG —

1 4
—_1X|n_

SRS t= —
0.27h 5

027h_1 (2In2-1In5)=0.83h

HeIssrusnnuti upimaigOlun st UM IS S GHAT 20% 18] t = 0.83 h

2. g eumais sleaunstigs uiNpinysiunna iw:nm 200 s IShth{piny
[Alo _ _1 [Alo

iinti9? 1669 mujusg In— =kt 8igj K=-xIn
[Ale t [Ale

TN S I AW A T 100 % FIEIRIEME A TISISTAINT 50 % §GIS IR R umM AT

[Alo _ 100 _ InK —
O I UAUINY —— T 50 =2 eINK - K

o 1 _0.693 1
IS K-lo0 xln2——100 =0.693 x 10?25

S

JGIS:IGINI])S K=0.693 x 107 5™

i sigj K———xln il

GG muitys In—=
ey Y [A]o [Alo

NTNHSASEIEIE A IR 100 % PIHASTIE A TISISTAINT 50 % FGIS N AU UM AT

N I URUNY ——- A, 50 1 InK —
[Alp 100 2 e"" =K

sgssessnes: e Huidd
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o 1 1 0.693
R == 2 g1
AT S K-lOOSXIn2 1005 0.693x10“s

JGIS:IGHRI])S K=0.693x 107 5™
INUTH AN I A TSI ee SIS EN AT 200 s

In2
W89 MUIUES At = giap At e~ (700) 200 _
JUB g 1

1 = 0.25
[Alo [Alo 47

st m s s aumsIsiasns 0.25 x 100 % = 25 %

HBISI Ut umA A 18180 25 %

Gl mujuyg In%:—kt: —

200
sigy 1Ak _ 2~ (00) - 22 =1 =025

[Alo

i1 8 e aum s ST aun 0.25 x 100 % = 25 %
HGISaUEAumE A ISTan 25 %

7. 9. airuiuBmMils wiAysiunduginug iehansii2gana 81 aaisys
SOCl;, — SO, + Cl
b. annsalgising]) sisgings:

In2 In2  0.693 :
MYJUBE e = — 81Gf K= —=—"—=0.077 min*!
Y k ty/2 9 min

§GIS:IGHAI]S K=0.077 min’

sgssessnes: e Huidd
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m. aan At gugiugifd sl un oo uingURaIsiHadtsnn 10 O §
1i¢9 mujuug In [Al = -kt +In [A],

NS t=10 1§ k=0.077min? 8% [Alo=0.65M

iSams In [A], =-0.077 mint x 10 min + In 0.65

=-0.77-0431=-1.201

816] [Al=e 1291 =0301 M
HGIS: ImthﬁUﬂUﬁjﬁLﬁmSIum[S‘lﬁjm [A]: = 0.301 M

Gl mujuyg In[[]] = —kt st ] lt_ o(-kt) = (-0.077x10) _ g 453

HGIS: tmthﬁmUﬁjﬁLﬁmsfumrmﬁjm[A]t [Alox0.463 =0.301 M

G. InLnf‘“IﬁLﬁ m[UTJS"IS (8'19) IuHJ@Jﬁjﬂj 10T 1[81&1[114%

[A]

A
MUY In[ Alo

0 =1 InBh
A]t—kt sig) 1=-x x In Al

TN E ST H UM RS UG 100 % pUH AU MAIS TISISIAINT 4 % §EISHI]U

Alg 100
MBI U] uATN G [[A]]O — =25 .
AN A AT < LAt 100

3 : In 25 o
RS = 7 min 1 <" - [Alo 100
i ms

[A]¢ - percent of A remained

1 al
:T(2xln5):42 NG

0.077 percent of A remained
100

HOISItiiin ki UM t =42 min

sgssessnes: e Huidd
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m. GassBmiennmuisigyms vt
. Zn + As;03 + H:SOs — AsHs + ZnSOs + H2:0
0 +3-2 +1-6-2 3+ 42.6.2 -2
Zn + As,0; + H,SO, AsH; + ZnSO, + H,O0

GifndnnftwnGgSHAIRAY Zn = 0 §GIS:G§SHAIARYINS AUTURR 1 mol Zn 18] 2

& 1 =3 1 C{

SnGSSHAMRRYG WG AUTURR L mol AsOs I8 12

JoIssumigmimsifulpupuGgsHARRY
6 Zn + As203 + 6 H2SO4 — 2 AsHs + 6 ZnSO4 + 3 H20

+2+43-2 +1+7-2 +1+6-2 +3+6-2 +4-2 +2+6-2 +1+6-2 +1-2
FCC204 + KMIIO4 + HzSO4 —_— Fez(SO4)3 + COZ + MHSO4 + Kst4 + Hzo

I NTNANNGWAGSSHAMAAY Fe=+2 811 C=+3 GIS:G§SHAMARYIASAIIUAN 1 mol

L 1 1 3 1 G{

FeC204 16 3 NG SHAMARYGWGE AITURH 1 mol KMnOa 18 5

JuIssumigmimslfulpuipuGgsHaAmaanY
2. 10 FeC20: + 6 KMNOs + 24 HoSOs — 5 Fea(SOa)s + 20 COz + 6 MNSOs + 3 KzSOu + 24 H20

7. SbyS3 + 3Na;CO3+ 6 C —2Sb +3Na;S+9CO  (¥Hjih s+ AdH)

+5-2 +3-2 +5/2 -2 1 +4-2 (BHJENSTa)
uj. X02+ + YO+ _— X2043- + Y- + Y3O72-

AAY (YO') BUWIGIA] 4 §GIS:G§8HAA

a 0]

sgssessnes: e Huidd
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JuIssuimigmimulGul{puEuGgsHARRY

2X0*+10 YO — X204 + Y +3Y307#

gaugn: engh 2(+1) + 10(+1) =12 g -3 + (1) + 3(-2) = -10

Hors s ndaiicy 22 on- nngatiiyjejusgaiady
22 OH + 2 XO2" + 10 YO* — X204 + Y™+ 3Y307,% + 11H,O0  (8gijih 8ma)
SusudmigrgimimsiimAnamuuing

Balancing by using method of half-reaction
1. For an atom in its elemental form (Na, Oz.etc.): O.N. =0

Mmaf ﬂﬁI'T'I FUURIN H ‘ﬁij 2. For a monatomic ion O.N.= ion charge ( with the sign
before the numeral)

2 X0yt + 56 — X004
YO" + H:O +4e — Y + 20H

3. The sum of O.N. values for the atoms in a molecule or
formula unit of a compound equals 0.

The sum of O.N. values for the atoms in polyatomic ion
equals the ion’s charge.

RS MARAMU NS H§AY U
4. For Group 1A: O.N. = + 1 in all compounds

2XO02" +YO' + H20 + 9e — X204> + Y +2OH" 5 For Group 2A: O.N. = + 2 in all compounds

Y on % G “ 6. For hydrogen O.N. = +1 in combination with nonmetals.
MARAMUSIHAANY

O.N. = -1 in combination with metals.

3YO* + 80H — Y302 + 4HO + 3¢ 7. For fluorine: O.N. = -1 in all compounds.

- - - - 8. For oxygen: O.N. = -1 in peroxide
5618 By mimusiimanamuping

O.N. = -2 in all other compounds (except with F)

22 OH +2 XO;" +10 YO* — X204% + Y-+ 3 Y30/* + 11H:0  (8tijihsmey)

iEfinnfteisEn OH  (Method for Assigning hydroxide ion coefficients)

al 9 9

9. AinNfiGgSHRUnHYMHY [Gim:myuitumssgsynannyippuindium:)

1 % 1 W

b. AansuiEUPENIG§SHRHAYUAMYY (n.o SwhotwRmgsEp no fishin:vimdoph)

m. sanwsnauisispitumns OH joissivesinn OH 1idjejugntdm

sgssessnes: e Huidd
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(Kimsrea’s First Method) (20/01/2020)

Stepl 3YO" + OH — Y304 + H0
n.o(Y)=+3 n.o(Y)=+4
Step2 An.o(Y)=+4 —(+3) =+1

GysyndangiRs unw Y 9 fs +11m: Y MiAs +3 gois: v h¥mmevdh MiEH ]G

Step3 3YO" + OH — Y304 + H0

ihwdgsyndany Y ifis +3 inuduipfics M Sjti{ﬁh g (i oo
guisaums  3YO" +  OH — Y304 + HO + 3¢

§hﬁ§ﬁ: ahgh  3(+1) =+3 QA -2 + 3(-1) = -5

Hois b oy s oH- mhightﬁﬁjﬁjﬁgﬁiﬁ@

§o18 s aBmigymimsiimanamuping

3YO* + 80H — Y304 + 4H.,O + 3¢
fEfinnfiteisgan OH  (Method for Assigning hydroxide ion coefficients)

(Kimsrea’s Second Method) (20/01/2020)
o. tanteuingudmitudsmsidinunwuigsfi{Enaln oH) sygmpuHn g o)
imwuigs H-0 islsyamg:mgsiiias (H)

3YO" + OH — Y304 + H0

. MAAIGE 22 MIHAN OH (2eOH) §h — MIBRAN H-O (5 H0)

YO* + @2OH — Y3077 + = H0 . o 2
3YOT + mOH = V07 2" nidhgsmgui{Hias

apinumSH{fif
sgssessnes: e Huidd
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m. §udssmgunndiusidujinnigme: =

3YO" + 20H — Y30+ + szo

3+ =7+ — iffams = =8
3YO* + 80H — Y3:07 + 4H0
ghugh: algh 3(+1) +(-8) =5 nhaf -2

guissufupiicy 3 ammpitumsugniiddiajugnidmn

3YO" + 80H — Y304 + 4H,O + 3¢
1. 124 HCI + 11 K2Cr207 + 6 CusP — 18 CuCl; + 6 H3sPO4 + 22 CrCls + 53 H.0 + 22 KCI

(Bhjih s ada UM S E IURN)

+1 -3 +6 -2 +2 +1+5-2 +3
CuzP + Cr,0 —  » Cu?* + H;PO, + Cr**

I NBRANNGWAGSSHAAAY Cu=+1 811 P=-3 IS :Gg8HnIAnYIAS AU 11 il
1 mol CusP SNGSSHARIAAYG WG AITULAT 6 fid 1 mol Cr072
JEISsutmigmimsiFulpupuGgsHARRY

124 H* + 6 CusP + 11 Cr.07* — 18 Cu®* + 6 H3PO4 + 22 Cr** + 53 H:0
mgnisy 124 Cl, 22 K* nnafifgy 124 Cl, 22 K*

124 HCI + 11 K>Cr207 + 6 CusP — 18 CuCl; + 6 H3PO4 + 22 CrCls + 53 H2.0 + 22 KCI

sgssessnes: e Huidd
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ghardmngmimuliminamuiping
Balancing by using method of half-reaction
MARAM U GSEnY
CusP+4H0 — 3 Cu®" + HsPOs+5H + 11 e
MARAMUSHG§nY
CroO7 +14H"+6e —2Cr¥*+7H0
gois:udmigmimsiimanamuping
124 H* + 6 CusP + 11 Cr,07* — 18 Cu?* + 6 HsPOs + 22 Cr®* + 53 H,0
gwnghigy 124 CI, 22 K* wegifss 124 Cl, 22 K*

124 HCI + 11 K>Cr207 + 6 CusP — 18 CuClz + 6 H3PO4 + 22 CrCls + 53 H20 + 22 KCI

ghmubgsuipupudgsundnng

+1-1 +1+4+6-2 +1-3
HCl + chr207 + Cll3P —_—

+2-1  H1+5-2 43
C“Clz + H3PO4 + Cl‘Cl3 + H20 + KCI1

ol al

BSSHAAINRYIRSAIU 1mol CusP 16 +1 Inghgiugs CusP !18 MENEY Cu 1n:Ggedgs

1 1 )

HugaRyIRSaIguLd m

D=1 1 =1

BSSHRAINHYIRSLUIU Lmol CusP 1] (+5- (-3) =8 thtiM I CusP 18 9MK{Y P
in:6gebgs yugnnyiisuuin) ¢

Jo1S:Ggsmgispnifisaiuig 99
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GSSHAMHNRYSWE Y 1mol KoCr207 18 +3-(+6)=+3 %ﬁgﬂi‘;tmﬁm K2Cr,07 ;18
VY Crin:igetss grnjnnyifisaiuiad

124 HCI + 11 KCr207 + 6 CusP — 18 CuCl + 6 HsPO4 + 22 CrCls + 53 H.0 + 22 KCl
G. CUSCN + K103 + HCl — CuSO4 + KCI + HCN + ICI + H,0

69 guadmimnmimulivipuipudssundnng

+1-2-4+5+1+45-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ———» CuSO, + KCI + HCN + ICI + H,0

ISIORANNAWRGSSHARIRAY Cu=+1,5S=-2,C=—4 82 N=+5 IS1:G§8HAMARYIAS

pUjuIad 17 SNGSSHANAAYG WG ASjUTA] 10 §GIS:GE8HAMARYIASAIIURN 1

bie
CusCN 18] (17-10=7) BB SHAMTARYBTG: AI{UGHA 1 mol KIOs 1] 4

JoIssuimigupmimuiiuiipup s gsyamany

4 CuSCN + 7 KIO3 + 14 HC1 — 4 CuSO4+ 7 KCl + 4 HCN + 7 ICI + 5 H.0

fiiGw ﬁ{flﬁjﬁmiﬁmjmimﬁ?ﬁﬁiLﬁULﬁﬂjﬁﬁg HAUGHY

1 -$

+1-2+4-3+1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ——— CuSO4 + KCI + HCN + ICI + H,0

IS BRANNAWAGSSHAIRAY Cu=+1,S=-2, C=+4 Rt N=-3IS1:Gg8HnInnyIAS

puiuLe] 9 SnGgSHANIARYGWGS :G§SHAMAAYIASAIIUAN 1 mol

CuSCN I8 (9-2=7) BaGgsHn : #1 1 mol K103 b8y 4
sgssessnes: e Huidd
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JuIssuimigmimulGul{puEuGgsHARRY

4 CuSCN + 7 KIO3 + 14 HCl — 4 CuSO; + 7 KCl + 4 HCN + 7 ICI + 5 H.0

Rem shabmigumimuliuipupusgsyndnany

+1+4-4-1+1+5-2 +1-1 +2+4+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ———» CuSO4 + KC1 + HCN + ICl + H,O0

GSSHARAAY Cu=+1,S=+4C=—4 80 N=-1I81:G§SHAMAAYIAS
PUiUIA] 11 BNGSSHANARYGWESAIIUIN] 4 JGIS:G§SHAMAAYIASAIIURR 1 mol
CUuSCN I8 (11-4=7) 8GSSHANAAYGWEAJURR 1 mol KIOs 18] 4
HGI8sudMIg N MImslGulpuE G gsSHAARY

4 CuSCN + 7 KIO3 + 14 HCl — 4 CuSOu4 + 7 KCI + 4 HCN + 7 ICI + 5 H20

i8c guadmimnmimulivipuipudssundnng

+1-3+20 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl —— CuSO4 + KCI + HCN + ICI + H,0

IS RAnNAWAGSSHARIAAY Cu=+1,5=-3 C=+2 81 N=0 I :G§8HnAIANYIAS

PUIUIA] 12 SHGSSHANARYG WG pIIUIR] 5

CuSCN I8 (12—5=7) 8hG§SHAIANRYT

4 CuSCN + 7 KIO3 + 14 HC1 — 4 CuSO4 + 7 KCl + 4 HCN + 7 ICI + 5 H20

sgssessnes: e Huidd
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n6d ghabmigumimuliuipupudgsyndhany

+1-442+1 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ——» CuSO, + KCI + HCN + ICI + H,0

GIs:GgsHnaianyIASAIIURN 1 mol
$AJ{UTN 1 mol KIOs 1] 4
JEIssudmigmimuifulipuipuGgsSHAan
4 CuSCN + 7 KIO3+ 14 HC1 — 4 CuSO4 + 7 KCl + 4 HCN + 7 ICI + 5 H.0

89 guadmimumimulivipuipudgsandnng

+1-8+2+5 +1+45-2 +1-1 +246-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl —» CuSO, + KCI + HCN + ICI + H,0

I SRANNAWRGSSHAARY Cu

PUIUIE] 17 SNGSSHAIAAYG WG I 10 §GIS:GSSHAMAAYIASAIIUFHR 1 mol

CuSCN i (17—10=7) BNGSSHAMAAYGWG S AITURN 1 mol KIOs 18] 4

JEIssutmin g mimulfulpuipuGgSHaan

4 CuSCN + 7 KIO3 + 14 HC1 — 4 CuSO4 + 7 KCI + 4 HCN + 7 ICl + 5 H0

sgssessnes: e Huidd
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w80 guadmmumimulfvipupudgsandnany

+1-5+2+2 +1 +5-2 +1 -1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HC] ———» CuSO4 + KCl + HCN + ICl + H,O0

ITGRANNARAGSSHAIRAY Cu=+1,5=-5C=+2 82 N=+2 IS :GESHAIRAYIAS
PUjUIE] 14 BNGSSHAMNRAYG

CuSCN 18] (14-7=7) 8nGgsHnaianys
HGI8sudMIg U MImsiEulBuE UGS SHA

4 CuSCN + 7 KIO3 + 14 HC1 — 4 CuSO4 + 7 KCl + 4 HCN + 7 ICI + 5 H20

60 Suadmmnmimulivipuipudssandnng

+1-7+44+2 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ——» CuSO, + KCI + HCN + ICI + H,0

I NBRANNGWRAGSSHAGAMY Cu=+1,5S=-7,C=+4 B N=+21

PUjUIE] 14 SHGSSHANARYGW G U]

CuSCN I8 (14-7=7) 80 §SHAMNANYG WS
HGIS SuEMIg I MImsiEulBuE UG gSHA

4 CuSCN + 7 KIO3 + 14 HC1 — 4 CuSO4+ 7 KCl + 4 HCN + 7 ICI + 5 H.0

sgssessnes: e Huidd
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fide fuudmmagmimelivipupudysyndnny

+1-60+5 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ——» CuSO, + KCI + HCN + ICI + H,0

ITnGRANNARGSSHAIANRY Cu=+1,5S=-6,C=0 81 N=+5 IR :GSSHAIAAYIAS

1 1 =

pUiUIe] 17 SNGSSHANAAYG

1 1 <t
1

WG ASTUA] 10 GIS G SSHARAAYIASAIIURR 1 mol
i

CuSCN I8 (17-10=7) BN G§SHANANYG WG 1 mol KIOs b8 4

HGI8sudMIg N MImsiEulBuEUGSSHANRRY

4 CuSCN + 7 KIO3 + 14 HC1 — 4 CuSO4 + 7 KCl + 4 HCN + 7 ICI + 5 H20

690 ghamimnymimuTiuiipupudgenndnng

+1 0-10 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO3 + HCl] ——— CuSO4 + KCI + HCN + ICI + H,0

Bubh NS WwRGSSHHAINNAY Cu = +1, S=-5,C = +4 811 N = 0 I GgSHnannyIAscujuIa]
5 {518 : G SSHRAGRAYIRSAITUHHN 1 mol CuSCN 16

HAYSWHAIIUHH 1 mol KIOs I8y 4

a
1

o18: aBmImimuituipupuss synanny
4 CuSCN + 7 KIOs + 14 HCl — 4 CuSO4 + 7 KCl + 4 HCN + 7 ICI + 5 H20

sonnifa SR uEminmimsiiulpuputgsHamangmugmniiumncifmns

sgssessnes: e Huidd

Facebook: Kimsrea Houn




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

699 uadmiumimulivipuipudssynainny

+1-5+40 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl —» CuSO, + KCI + HCN + ICl + H,0
OIHR A ANB RS SSHNEYNNY Cu=+1,S =5, C = +4 811 N = 0 191: 6§ SHHAURRYIAS U
12 BuGSSHN ANNYS G cjuiad 5 §618:SSSHRAUNRYIRSAIIUNHYN 1 mol CuSCN 16
(12-5=7) BuGgSHRAIHAYS WG MIJUHH 1 mol KIOs I8y 4
G618 BmIMIMuIRuipUE UGS SHRARRY

4 CuSCN + 7 KIO3+14 HCl1 — 4 CuSO4 + 7 KCl + 4 HCN + 7 ICI + 5 H.0

69w fhadmmumimslfuipupudgsundnny

+1 00-1 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO3 + HCl] —— CuSO4 + KCI + HCN + ICI + H,0

i NS RESSHRENHY Cu=+1,5=0,C =0 81 N =-1101:G§SHnAGnnyIRs iUy 11

SUGSSHRAINNYS WG AIJUIa] 4 6186 SHAAINMRYIRSUIUKY 1 mol CUSCN 18]

1 1 -%

(11-4=7) BuGYSHARIGAYSWG:MIIURH 1 mol KIOs I8y 4

Ho18 s aBmiymimsituipupuss synanny

4 CuSCN + 7 KIO3 + 14 HC1 — 4 CuSO4+ 7 KCl + 4 HCN + 7 ICI + 5 H20

sgssessnes: e Huidd
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nGom §uasdmiumimulivipuipudssynainny

+1-100 +1+5-2 +1-1 +246-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl —» CuSO, + KCl + HCN + ICl + H,0

B A NKWHSSSHNEINHY Cu=+1, S =1, C=0 {11 N = 0 11 :GSSHnAInnyifiscujuiyg 11

SUGSSHRANNYS WG ATUIaA) 4 618 GSSHAANRYIRSAIIUKN 1 mol CUSCN 18]

-

(11-4=7) BuGSSHRAIHAYSWG:MIIUHH 1 mol KIOs I8y 4
G618 EmIMIMuIRuipUE UGS SHRARHY

4 CuSCN + 7 KIO3+14 HCl — 4 CuSO4 + 7 KClI + 4 HCN + 7 ICl + 5 H:

69c ghadmimnmimuliviipupudgenndnny

+1-1-1+1 +1+45-2 +1-1 +2+4+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ———» CuSO4 + KCI + HCN + ICl + H,0

1B AANBWRGSSHRENHY Cu=+1,S =1, C=-1 &1 N =+1 1Q1:5§8HnanngIR S auuie]
13 BUGSSHAAIRRYSG IjUiad 6 §618:GgSHRANRYIRSAIIUNYN 1 mol CuSCN 16
(13-6=7) BUGSSHARIARYSWGIIUHH 1 mol KOs I8y 4

Ho18 s aBmiymimsituipupuss synanny

4 CuSCN + 7 KIO3 + 14 HCl — 4 CuSO4+ 7 KCl + 4 HCN + 7 ICI + 5 H20

sgssessnes: e Huidd
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m69d fuadmiumimulivipuipudssynainny

+1-1+1-1 +145-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO3 + HCl] ——» CuSO4 + KCI + HCN + ICl + H,0

IBR A ANKWHSSSHNEJNHY Cu=+1, S =1, C = +1 81 N =1 I :Ggsynannyifisauuiy
11 BuGSSHNRANNYSG cIjuiad 4 §618:GSSHRANRYIRSAIIUNHYN 1 mol CuSCN 16
(11-4=7) BUGSSHARARYSWG:MIIUHH 1 mol KOs 18] 4

5618 By mimuituipuipuss synanny

4 CuSCN + 7 KIO3 +14 HC1 — 4 CuSO; + 7 KCl + 4 HCN + 7 ICI + 5 H:0

899 ghadminmimulivijpupudgsyndnny

+1-2+2-1 +1+5-2 +1-1 +2+6-2 +1-1 +1+4-5 +1-1 +1-2
CuSCN + KIO; + HCl ———» CuSO,4 + KCl + HCN + ICl + H,0

B HANNGWRGSSHRINAY Cu = +1, S=-2, C=+2 8§11 N =—1191:G§SHAAGRRYIRS ULy
11 BUGGSHRNNRYSWY: Ui 4 u18:G§SHANHAYIASAUGH 1 mol CusCN 16

(11-4 = 7) BUG§SHAAANYSWEAURH 1 mol KIOs 18] 4
jois:odmigaymimelfivipugudgsynanng

4 CuSCN + 7 KIOs + 14 HCI — 4 CuSO4 + 7 KCI + 4 HCN + 7 ICI + 5 H,0

E. ARSI BAUGRMgaIs:

inGgsvnisHymawinifyws c fa o

sgssessnes: e Huidd
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572 g
~ 12 g/mol
mo, 684g
2" Mg, 32g/mol

=0.476 mol

Ng = 2.14 mol

NI ) Ui C 81 0; AR sIEMIRMIIMNE{A 11 §GIS: C thuapma{uf
AIANNG |

688t O, auRsIMWEAAY = 2.14 mol — 0.476 mol = 1.664 mol

mursBmi neg, (AIfAA) = n¢ = 0.476 mol

N mMSG§8HUanis AsfURRM g = 0.476 mol +1.664 mol = 2.14 mol

atm

nRT 214 molx0.0821 L2 x (182+273) K

MUYjU] PV =nRT 81Gj P=——= = = 9.99 atm
’ v 8L

HOISIInRm g P = 9.99 atm

. GIAN M AW AR o[RS I TS

FUBMIRSIN U Cu-Zn [TARYNYWH RIART{2G
Zn(s) + 2HCl(aq) — ZnCl;(aq) + H2(g)

Cu(s) + HCl(aq) — @IS{uiiny

inGgsyugnisfpiusiinusgrums

4

. PV
mujus§ PV = nRT §igjn="——

1 atm

FNy P =728 mmHg =728 mmHgx ————— =0.96atm, V=126L
760 mmHg

R =0.0821 L.atm/ mol.K, T =22°C +273=295K

0.96 atm x 1.26 L
0821 L"";tlm X295 K

mol.K

sgssessnes: e Huidd

nmsGgsgu ny,= -

=0.05 mol
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NN AR UH N Zn 8 He AR EMIF M E{R 11 §GIS G g§8Y

Zn =0.05 mol S IEJH"‘I fJ Zn = 0.05 mol x 65.3 g/mol = 3.265 g Zn

" T 3.265
TR O SMAIWAIR ARSI % Zn = 611: x 100 % = 53.44 %

Huife Sesemesies: R S8R

Tel: 098 472 472

NS InHEN P WENHRMGS UM SH IANHAI NS AJBIUY N

uniisIfummigivpiogs

No part of this compilation may be reproduced or distributed in any form or by any
means, or stored in a database or retrieval system, without the prior written consent.

Prepared by Houn Kimsrea
May 18, 2018
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1RSSR R IBHIS) SN IBHIFS (BINN+9) SKIRE............
sfusge ISR 08 te 8o gl Lo9odd

85 DHIKRSRI HESRR §65:6005 M 40

é’irLﬁ]HLﬁmh NIE Tel: 098 472 472

IBRNEGRINEESIPR Nl
L giuTingpe st ime 81 §ygunnmeisgimsiisps:

[Cr(NH3)s] (NO3)s, 120 Hg, Co(CO):, 2N Hg, Ko [zn(OH)], % H,
[Fe(H20)4(OH)2]*, :; H, N20s, Hgalo, H2CrOsg, Cl.07

WMHgHU Hglen SaFaIHEIGNGE MG BIYE? GIG]2 NI ANUNA]
11 A gruinm g spnismpy 81 fuindywageniel: Fe(Z=26), Fe*,
Ni* (Z=28), Cu?(Z=29), P (Z=78), Pt*, Co(Z=27)
2. 1hmgy 81 uinlywomsHejoaniuinudgs?
A. gy 8 fuinamg: i thahsun)#o 8a gpuiaéca
1is. rﬁmﬁmrﬁsﬁﬁmhthHnmg:mﬁﬁ;m@jﬁLgéﬁéh@?
. & immaswigyanhwidgugn 7 X firu X th88geugnms
§h zZ hiue it U e gy GIvAFNWNmMEAST X t1SEIUHINUHN M= A (g/mol)

s gathE1as 1 (A = 8180 1 AN{RN = 1.67 x 107 kg, Na = 6.022 x 102 {156

2. GIUAPUIT 19 =6.022 x 102amu (Fii A3 amu thZI5EI )T

151 3.01 x 102 amu N SUS{Mu? 1 84 g mstigis amu?  (feAgn § bO9d)
Iv. ghsgwijihwnag:fui 1 ag:inufywijigjaihuwiagopns
sgssessnes: e Huidd
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AJAAINWEHASENS KMnO4 0.1 M, MnClz0.2M 841 HCI01M 84 Ag:fins& fijiginmty

msjtigjﬁéﬁmmﬁqhﬁ;m.qujhmmmfﬁ FUES KoCr207 0.1M, CrCls 0.2 M HCI 0.1 M
annsgadinjEgiepaisagiinlyw 8n annmaginngrulsntsgiins:
(b fergn § W099) IHE]: E(MnOs/ Mn2")=151V §31 E°( Cr072/ Cr3*) = 1.33V, log 2= 0.3

v. whnytivafdiiusingnain idthaaisynaiiaus 84 §n Athiuiing

B SATYIBINL] 81 6.4x 107511

9. Giﬁﬁlﬁﬁﬁﬁﬂ""‘lﬂSL ﬁ” ulun

ntfunsIiQsmay uPUN{PRAYULHHASIWIIN N 600 5T
It smAIW UNUN{PRAYBINRHATIW NN 450 571
¢ hgimant s @) idjefEiusingnainan 5 %?

(IHE]: €098 =0.962; In 2 =0.693; In 5 = 1.609; &2 = 0,972)

FN W AN WM A B AMAR R A AU W AJRE 115 UIUEA Uf§ﬁﬁjmmm:jn ryjjuf gty

UIRBARGHY (1) Fujgaaa A

f. gieisiuBmimapingadiiouannigiie on) Juig

2. ITImiAN W Th* 567 mg B AfAJWATFRENTA T 1A

0.50 M US‘I Sﬁﬂjﬂjﬁlu%{]ﬁ[ﬁﬁﬁﬁiﬁmn Th3+ GJI—TEU’ﬁ‘h

ﬁmmGLm’”liﬁjnjLijﬁthmﬁjﬁﬁiLa G 15 5Mi‘g§13~‘a
g GJHRI? (In&JmﬁjmnH[E:]U Th =232)

sgssessnes: e Huidd
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s eI fieHSains EsS)enSuans SIgN+9) CMmes............

sfusge ISR 08 te 8o gl Lo9odd

Sgnnn: DaiRisRo HES]R 165:6095 M 602

Gz idtin ﬁ“tLﬁ]HLﬁmh NIE) Tel: 098 472 472

SErMIENESENISESE[RS il
I ﬁﬁﬁnmﬁs{fjﬁ(ul)ﬁmﬁ, [Cr(NHz)s] (NO3)s
MINSJIU: BRAMBS (ammine) ISJUBS NHs
INWAN MR UYRUSHE§SHRNRAY) MU Af]] TRmeanIns:
n.0(Cr) + (0)x 6 + 3(~1) = 0 §16] n.o(Cr) = +3 1{fN2 NHz MNBHAMNE (neutral ligand) B sugfi
1ay] Shugnlimete -1
i Agsugigonsys fijougnaijnsimuw i:idumsamgins:
[Cx(NH3)s]?* msmp:ﬁtﬁhﬁﬁmmﬁsmﬁ(lu)
ugnivaRuin g gmsgng +3 iyn:figois:gjunifuindpns wugnng -1 Ggs 3

1ueiuin 111 fiomagjigsynadnny +3 AN [HYiBUMSHY [Cr(NHs)s] (NOs):

HEIS HGANMBS{HB(1)SMBMISJUBS [Cr(NHs)s] (NOs)s

qnIfi-199, nyjunuinn:faggy

fattegItiun. IUﬁjmﬁi"]mmUm guaggn (- Sﬂ‘(ﬂﬁjﬁ‘lﬁﬁ
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IHMMYSUHNAT0) U HRAKEMYS AT Co(CO),

Hiunts:MAZGANG (neutral complex) IPMUSH Co 16 0 tthwrani co MMwRAANE (neutral
ligand) 81 8USRTATAJS] |

IMwigsnnin:fuyRugh GgsHRgnnY) Ajudajss idumsunuins:
n.0(Co) +(0x4) = 0 §1G n.o(Co) =0 T{M: CO MITANANG (neutral ligand) OISV IS
5182 Co(CO) MISIAN B IHMMYIUHNAI0) ¥ GO UH{MMYS

MIH—200,

if3) MJUiﬁLmﬁLﬁﬁﬁjﬁﬁhmﬁ(ll), K2[ZNn(OH)a],

mingga: sutinn:Aougnionsys fRsugnaljnsimw in:ibhmeunuins:
[Zn(OH)«]> TSI =B ﬁtﬁmﬁ{,mﬁ‘[,ﬁlﬁﬁgﬁﬁhmﬁ(l 1)

BAAFIARAY (Hydroxo) MSUSAIG-1  GMAuMsughteg +1
ugnivaiufnfgerigmspng 2 igm:Agois:gjupifungmagutss 2
:GSSHAMINNY Zn B8N [Zn(OH).J* 18 n.o(zn) + 4(-1) =-2 818f n.o(Zn) = +2
1Ugiuil 1 AAMAGESSHRAINNRY +2 VAN Zn TE T 814 [Zn(OH).]*

dim:AaohmMbim v UM U M

SIGJININIANTN: A3 AT gIsinn s A A M 1T -

HG1SUMaguIn AR R UM E(11)NSJUBS Ko[Zn(OH)4],

BI6]Y (Deuterium),  Haiais—2

AuinmmmgEREnag1),  [Fe(H20)4(OH)]",
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MINSIAT: BHAMTY (aquo) ghuinnegs Ifiﬁﬂﬁ:[,ﬁlﬁﬁg (Hydroxo) t[fNsiUTIMBHEGI{Y

inwAiohmoli:iuynugs (FSSHRMUNKY) MIvIRJughuaTh MG uTIns:

n.o(Fe) + (0)4 +(-1)2 =+1 §1] n.o(Fe) = +2 1{fN: H,O MIBHAANS (neutral ligand) BISUSHIA
fgS] ShugnturfAEnagIad -1

iuefuih 11 finmhgjdgsunanng +2 wananu:InniB M SHY [Fe(H20)s(OH),*

o1s: FuiinimmgER{Enag(1) MSJUYS  [Fe(H20)s(OH)2]",

" NAMING ISOTOPES

nd)uurhifag s o auRimgim | 1denfify a specific isofope of an
. = ' element, write the name of the element

MuiMywgD ) Shihwmgys followed by a hyphen and the mass
) ) number.
gouan: 2c mys-12 2c mys-13 - Example:

Hydrogen - 2 . .

» L .
. H bydmner e

s C mys-14 Hydrogen - 3 ’ ji o--

35 37 e
17 Cl ﬁ:—35 17 Cl 31—37 HSVT"“@V : Isotopes of

Hydrogen

8inu-59 2o yndiiews-18 Y0 #nmiws-17 0 #ndiis-16

MRS, SpAuRnaA

4

BUMSIUSUnG g iemyyiomiigsgshugm«

gauunnn: 12 ¢, 3¢, ¥ c mingguSamipgn:msiue it § ueMyuism (Z2=6)

v L

9 9 /] "I ol

fagie: mfiugidunsjuygiuy jussdiugugsmiismsjuugiganngam

(=

SAIUIAN: CHs-CH,-OH §11 CHs-O-CHs thitayfs 8RN I N SJUBSH UGG (C2He0)
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AnIHgGASe: thingy g Auiniiue sESSIHGIGRNYEM M SIMWIHGG{AN

1 v ~2

4

HGE 1 2RIAN: N, F 81 Ne ey IH GG SGENM (18 10 IHGIG{RRGTGE) T
1. &, gissivnmuH G spnismyy 81 fuinSywaigeanrel:
Fe (Z = 26): [Ar] 4s?3d° M SIHEG{FRIAITAUIU 4,

m. 5,Hf

Fe?*: [Ar] 4s°3d° 91 S IH GG LRUTRUTU 4 15225?2p° 3s? 3p° ds? 3" 4p® 5s24d" 5p° B4 5l

Ni2* (Z = 28): [Ar] 3 BN SIHE]G{ANIEUTAIIU 2,

Cu?* (Z = 29): [Ar] 3d° B SIHG BN IFITAIY 1,

— 3d10;
Pt2* (Z = 78): [Xe] 4f 4 5d ¢ IS IHG]G{RNIUTRIIU 2, L0 | |

5520 ——— 440

Pt*: [Xe] 4 5d° BN BIHE]GAN IRUTRIGU 4,

Co (Z = 27): [Ar] 4s3d 1 S IHFJG IR IAST AU 3,

msmgy 81 Guinnmsis e §6ie
Ni?* and Fe (26 €), Cu? and Co (27 &) thiiaJIH G SGRAM
1. 7. RGRES: L mol #MIGH X = 6.022 x 102 H1§Y X = Na HIGH X

1mol HIHH X =M () MgH X IIHATMS: M (g) H1§H X = Na H1I§H X

SIG{: H180 1 HIHY X M(gmys X 1
- s C NAHIGHX @)

tifg A=Ggspan + Ggsanjn =z +N

SIGjHI LHIGE X=ZXMp+ NXMa=mp(Z+N)=mpXxA=167x10%*gxA (2)
M eEIY 1 {15 = H18U 1 AN{RN = 167 x 102 g
sgssessnes: e Huidd
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M (g) M5t X

= v - -24
Na H15U X 1.67 x 10 x A

M (1) 81 () nfams:
8igj M (X) =1.67 x 102 x AXNa=1/NaXx A xNa=A (g/mol)
NS 1/ Nax 1,67 x 102 §GIS: M= A (g/mol)

2. IS Imol MFEMUYS -12 = 12g MFEMYS -12

Imol HIFEMUYS -12=6.022 x 102 NIHEMYS -12 = Na NIFHEMYS -12

I1ITHMS: 12 g MGEMYS -12 = Na HIGEMYS -12

12 g MIGEMUS —12
NAHIGEMUYS —12

S16j: H1fU 1 MIGEMYS -12 =

g Hieu 1MGEMYS -12=12amu

12 g MIGEMyS —12
NAHIGEMUS —12

A mS: 12amu = sG] 1 g = Naamu = 6.022 x 102 amu

HGIS: 1g=Naamu=6.022x 10> amu § 1 amu = 1.661 x 10% g
11 3.01 x 102 amu H1SUIS{MY? 15 8.4 g NISUYS amu?

FMTRENS 1 g = Na amu = 6.022 x 102 amu

1g

HGES: 3.01 x 102 amu = 3.01 x 10 amu x ————=
v 6.022x10

059

. 6.022 x 1023
HGIS: 849=84¢g Xl—g: 5.1 x 10%* amu

v aansgadingpungiepnisag iy g §h annsnginsfruicunisgin

MnOs (aq) + 8 H* (aq) + 5 e — Mn?* (aq) + 4 H20 (1) E°C=151V
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[Mn2+]
[MnO4~] x [H*]8

Q= [MnOs]1=01M 8§ [Mn*]=02M

[H]=0.1M

SIS Q= =2x108

(0.1)(0.1)8

- 0.0592V
meaEmiE-E-———Ilog Q

o 0.0592V 5 -
PRISIUAMS E=151V - s log2x10® fEsE=151V 8t n=5

GRS E=1.51V-0.008V =1.412V
pudming: i@
Cr,0* (aq) + 14H* (aq)+6e —2Cr¥* (ag) +7H.0O () E°=1.33V
[Cr3+]2

Q= [Crp0,2~ | x [H*]1* fiing [Cr:04]1=01M 81 [Cr*]=02M

[H]=0.1 M

o "'h _ﬂ 4 x 1013
IR IWAT S Q_(O.l)(0.1)14= X

- 0.0592V
MufdBMmIi E=E’— y log Q

g 0.0592V . -
I ms E=138V-—— log4x10° [HRIE=133V &1 n=6
R MS E=1.33V-0.134V =1196 V

HOIS AYINHA IS GURTSEAMIIS IR 1412V - 1.196 V = 0.216 V

GG puoming:

MnOys (aq) + 8 H* (aq) + 5 e — Mn?* (aq) + 4 H20 (1) E°C=151V
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[Mn#*]
[MnO, | x[H*]8

Q= fiind [MnOs]1=01M 831 [Mn#*]=02M

[H*]=0.1M

1S o= =2x108

(0.1)(0.1)8

o 0.0257 V
mepdmi E-E-———1InQ

0.0257V

IS RIS E= 151V — INn2x10%® i@y E=151V 81 n=5

NS E=1.51V -0.098V =1.412 V
pudming: @i

Cr,0* (aq) + 14H* (aq)+6e —2Cr¥* (ag) +7H.0O () E°=1.33V

[Cr3+]2
[Crz0,%7] x [H*]14

[H]=0.1M

[ [Cr.0#]1=01M 8% [Cr*]=02M

(0.2)2
(0.1)(0.1)14

o 0.0257 V
muyufgvmi Eon_T InQ

I nums Q= 4% 103

P 0.0257V . .
rm:rmthE:msv—TIn4x1013 MR E=133V 881 n=6

RS E=1.33V-0.134V = 1.196 V

HOIS AYINHA IS GURTSEAMIIS IR 1412V - 1.196 V = 0.216 V

2H0, -2 H,O+ 0O
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b. iiniginn (91§ manamuspingdivasaiigs?

In 2 0.693

Muyjuyg tue = = =10828 s = 180 min
SUERTET K T64x107 551

HEIS U NI MARAMUTURAY te = 180 1§

m. ififEiusingadndivanaipsmany v OMPRAYPIAGHATW 1IN 600 s

4

In2
a al A o A - —_—
9 muyuyg In [[A]]‘ =_kt sigj [A]]‘ _ e (T0528) 000 _ g-0.0384 _ ; o,
o o

isndnmsdiptasingndarsiani 0.962 x 100 % = 96.2 %

Hoismanwijitusingaaatiun = 100 % - 96.2 % =3.80 %

A o 3 )
Ak =2 ¢_n2 :
[A]o tl

2

b muyjuyg In

600
[[:]]t =2 (10828) = 2-0.0554 _ 5 op9

i i msdiasingngnisiauns 0.962 x 100 % = 96.2 %

Fois:maiwdElusingaaativn = 100 % - 96.2 % = 3.80 %

¢. ihagfusingangativas st smaw UQUNURAY{PIHRHATIUI NN 450 s

In2

Ale A _

1G9 muyuug In [[A]] = —kt snraJ[ e _ o~ (fo828) 450 - ¢=0.0288 _ 7,
0

o

i i msfpiusingnainisiauny 0.972 x 100 % = 97.2 %

HOIS A ﬁnil‘.ﬁi—i[}.l[ﬁj . =2.80%

[Ale _

GG myjuyg In—=-
[Alo
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450
- (10828) _2-0.0416 _ 5 977

i snfamsdaiasingaadaisiainy 0.972 x 100 % = 97.2 %

Fois:maiwijitusingmaation = 100 % - 97.2 % = 2.80 %

G Rpmawnui s 1 §) Iﬁ%ﬁ@JﬁLﬁfﬁijnﬁﬁf{fﬁﬁjn} 5 %2

[A
[

[Alo

169 mujuyg In—
[Al¢

lo _ —
A, K sigf t=-xIn

al 9 ]

i s maHifusingaainily 100 % N UMAISMSISIAING 5% ijGIS:

[Alo _ 100

—=20
Al 5

B UM AT R AIUATNY ——

- 1
= xIn?2
LIRS t 64x10-5s-1 0

= 2 xT0-5 =1 X (2In2+1n5) = 46797 s = 780 NG

HOISItwiin ki pa{piimie t =780 min

[Ale
[Alo

Ay

. _ 1
=—kt sigf t=—>-xIn T

it mujuyg In

hm s st aumadfau SINHAAIAINY 100 % ST EUMEAIS N SISTAIN 5% §GIS:

Al - > — 005

0 QU I UM AT S T T
= [Al, 100

RSHTIS t= - 1_5 X In 5x102
6.4x10 s 1

1

64x10 °s1

x (In5 + In102) = 46808 s = 780 &

HOISIuilin ki ps{giime t = 780 min

VI 9. . editegisgSmimapinya ol ARIGEY (1) i gangawagls:
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Th3* (ag) + 3 I (aq) — Thls(s)

2. AN 2N WA AR g Isi MBI

)
v

NNaj ° NNaj

MyivtdS Cv=[Nall]=—— 81G6] V, =—

¢ 0 [(Nal] VNal J Vnar [Nal]
0.567 g

i T = = = -3
NS MG RIEME N,y = 3x N (pp3+) =3 (27 g/mol) 7.33 x 10 mol

- 7.33x 1073 mol
AT S Vi = 0_’; — /:“’ = 14.66 x 10° L = 14.66 mL

oIS s WA A uH U gIE BT MG (RN Vyar = 14.66 mL

1. ﬁji[ﬁjiﬁjﬁﬁ‘limh[}iﬁﬁ 2]

ThO: (s) + 4 HCI (aq) — ThCL (aq) + 2 H20 (1)
AANSE 80y WA RH A AFIE GBI MG R

Nyl HCl
MUJUEE Cu=[HCI =y~ S16] Vi = s

10.56 g

X 5Mingg =4xn =4 = 0.16 mol
FENWMEAIEMI Dyt = 4X N (1ho,) =4 (G~ =) = 0.16 mo

o 0.16 1
nSams Vyg =Tn?;10/L = 0.103 L = 103 mL

oIS ang AR AT RTEGTH BT MR Vaa = 103 mL

sionfiunyfimfin sfsivsmeSwa dmsumin:e iwhdns §mynns meindwn
gpasfisigangnasintginm:

All rights reserved. Prepared by Houn Kimsrea
May 25, 2018
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1RSSR R IBHIS) SN IBHIFS (BINN+9) SKIRE............
sfusge ISR b ie So1 ¢l Loodd

85 DHISRSRO HESAP §685:6005 M 40

Tel: 098 472 472
igsmes@:maségjué onen

9. MISAANAGAIGAIAIWAIASY NaCl At 35 %7 IignmGHursaidyfifanwagh
is s siiiyre? Ging GG WIvATHA (wé fergn & boam)

b. . aﬁmmghrﬁhﬁsﬁﬁgmmsgﬁaﬁisﬁ: A 81 B IslmiganmathAnnAYWwT NG
annsuAsninwigaiseisSywamsnwid R unGINWiAIU SRS 7 15
ihwiga 81 gpoumuihwignivssihoasmsSWHnIyu? graminnigpumnnithignis
2ai8 A 891 B NHSABS UENHAIIU

2. GIviNMN§nH¢shinh Ke 80 K uinbiiing aA(®) b B (g)

s ﬁhﬁﬁ'ji';@ 87 GIURN AN WS ATt
IHGJUthmHLﬁijngﬂ“l

2. IS GgSIHEIGIAN AR 8 Ahpndpsidumsgnduln v
A IS IHGIGN [pah 8i Ahphipsimuliumsaniuii M2
w. iiF Ui Me> thigiaeivum §o U gpoum fo? ngi?

USRI Rt au 1 {Uaid = 160 1 AN{EN = 167 x 107 kg 80 Hey 1 IHEJGAN = 9.11 x 10% kg

. UNWHYMATH 3.459 g I8 Nacl 811 NaBr FiISinnwgh FAjG e RAY Yt afnIusegj

AgNO; IRiRSIBG gRUmMSastNUmanni 91 ARdiggumsSnsapimswareinnusimssy
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RIS RS9 KCN ttﬁwﬁ;mwmjnfﬁmg9mmsrﬁwﬁrﬂtgﬁﬁmé‘fmﬁﬁgghﬁqﬁns KOH™1 I{mus
ﬁrjmé"?mﬁﬁii :ﬁsgmmsm;: HIAIgGSS 54097 |
fi. GIASTIRUT A S MIma [y “é’rmﬁn}mfjn}rmm?sLULﬁgﬁgmhm?“l
2. annmmansisaiuliywIghanuids (bd fergn g bosb)
(Iﬁ&JH”‘I ﬁjmgmﬁju: Na = 23; Cl = 35.5; Br = 80; Ag = 108)
€. A, e oAy wuRimwgngn 8 meaginaflsun =054V isliiganmn 25°C
1 RERAIEHE] [Zn*] =1 M B rutnnf (bt 1atm (o fgfnn & LOOE)
GIAANSIAUNU G rUivas [H*] 81 pH 1 186]: (log2=0.3, In X =-8.6 > X =2 x 10*)
2. GINAINNIS i anygnimuis i aiinighmsidiurgrsiaiannmn 298 K

Co (s) + Fe?* (aq) — Co?* (aq) + Fe (s)
AANSUBIATEN 80 UIBUEINENNIITRINOIRAYIS: (09 teifm g boomn)

I G]: E° (Zn*/ Zn) =—0.76 V E° (Co?'/Co) = —0.28 V, E° (Fe*'/Fe) = —0.44V, In X = —12.45 — X =4 x 10°

<

b. winygtluaduginug (So.Cl) I thansFidsnaia 81 anjspi AthpAnygniinta fiuwms
()7Gj: In2=0.693; In 5=1.609)

e mmmﬁﬁn,mmL gHny Iﬁj8819"l

pur g
A. annmalgisig])sisingis: (0& fefnn g1 bo9Y)
2. INRIMIWINUTS (DF) IY]e[nugTrupiain 1 % Isuimnniiy?

. ﬁgmmmjhéﬁﬁu';

Hy
fnnts cCly Grulduiss

WHSH G 25 mL MSHWHRIANWHRNINS 2 mg 1HUIgH 5 mL ISAnImE
5 i

Bnbmbifnhliinbi i

iy nuagménm:t minnfujine

)
grugaémsiugenniitans

i
mﬂtﬁl‘jnﬁ-mmﬁ AN CCl, NS 85 B I{E St G ey

A uiAmitma ifgiuduiislinigatuiains me? (b f2rign 8 boal)

-~ 1

g. iEtmAnhingaé Nt gl ccl, 5 mL §rg)mftufag SShIS‘Iﬁjmﬁhmﬁjgﬁ"

Anpunsmesisgspcinces sigginpunsmesigicisgnsicasmenty
Try not to become a man of success. But rather try to become a man of value. (Albert
Einstein 14 March 1879 — 18 April 1955)
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s eI fieHSains EsS)enSuans SIgN+9) CMmes............
sfusge ISR b ie So1 ¢l Loodd

#R9 HESQAN §65:6005 M (S

§ILﬁ:]HLUnjh NIE) Tel: 098 472 472

SiRMIENESSENINSSE]R

Gy Wl agpitu eyt agfafitns NaCl AUt 35 % MSIE YN AE AT WA §]E

Jd v 1
fuTnphEapime 30 g/ 100 mL 1s1a3aaNMA 20 °C 1 1 :Tadganmnbesiis fh

uingh Eaquivn 39 g/ 100 mL fidi

i m s #1509 NaCl =39 g 8% Hieungnitragjaftiny NaCl=100g+399g=139¢g

0 ~39g 3
/oNaCI—139 x100 = 28 %

8

HGIS: ndsMo g agjri] WwagjfiGns Nacl AUN 35 % Mg

b. f. sumchwigs AmhumnnisgaisSywaliumsai s

3]

4 Dl

g. U EENWigRITAMUGSMSSwo wulnGauisupwanls AMEUYA NG Isgs]
sSywalirumsannpw gummgifiadednywmsgnanisi A 8§11 B IS sumnaeds A

811 B thautn Wi

iifnms N Ehwigagajs A: Pas (nAg)

(nsg)
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finin=na+ne
wrrsynhwigngais A muiimnnasividams

P n,RT/V N, 2. Ny
A - = =Xa, FHRU =Xa mLUmﬁHmaﬁjS A
P (n +nB)RT/V n,+ng n,+ng

HGISITRMS Pa= XaX Payju

Sﬁ@lj: Ps = Pﬁjﬁj -Pa= Pﬁjﬁj - Xa X Pﬁj{fj = Pﬁj{fj (1 - XA) = XB X Pﬁjﬁj

np ng nj +ng
({M: Xa+ Xe = + = =1)
np + ng np+ ng np+ ng

9

HGIS SIS P = Xe X Prygs T AT Xe =1 Xa mmmm&jmaﬁjs B
2. NS UGN WIGA2aIS A:Pa= (N, —

[BI°

ABATS B:Pa= (N, 1) R IGIAGER K, =t
Vv [A]

nBRTjb (nij
_ V [B]b An An
: Ja (RT) [A]a (RT)™ =Kc (RT)

IgM: An= Gg8EugnISHymanIAn - Ggstuanisuym
HGIS:¢nAGSRINN Ke 81 Ko & Kp = Kc (RT) 7

m. fi. §tih Mn2 N8G5 SHEIGEN mqﬁqnﬁsﬁmn} s FRHAT 67

FITERTI T wIHQEGLﬁhmHLﬁJmﬁﬁgmﬂ 152252 2p° 352 3pP 450 3d°

2. §tii M2 18 25 [AR 30 fngAn 81 23 MGG T

A inssumgiopn an 8 dnpngpsimeidusmspaitgn Mne

H180 1 {PA# = 10 1 nhmlh = 1.67x10?" kg 8§11 Biadeag 1 Ii—i?f]'l‘j[ﬁlh =9.11x103 kg
kR SIIIHEIGIAR = 23X 9.11x10% kg = 2.1 x 102 kg = 2.1 x 10 g
sPessesees: iy By
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HIPUTUEHN = 25 x 1.67x1027 kg =4.2x 10% kg =4.2x 102 g
H1 a0 AN{H = 30 x 1.67x10%" kg = 5.0x10% kg = 5.0 x 102 g
w. fuii M2 th{sA ¢ AEIE § 6 YN NN SIHEG{RITGEES 5 pud i 3 d°
G. A. sunrsiuBmimnuiagASmunim o wispiigag i
NaCl + AgNOs: — AgCl + NaNOs
NaBr + AgNOs — AgBr + NaNOs
AgCl + 2KCN — K[Ag(CN);] + KClI
AgBr + 2KCN — KJAg(CN);] + KBr
4 K[Ag(CN)z] +4 KOH — 4 Ag +8 KCN + O, + 2 H;0
2. annmaIwisEiuiywoghnnuiily

iiG9: M X th1 ey NaCl IS 2t M8 3.459 g — X thH1 89 NaBr
Let X is mass of NaCl,

MUISTMINIGIGRMS n (NaCl) + n (NaBr) = n (A
@& n (Nacl) +n (NaBr) =n (Ag) then, mass of NaBr = 3.5 -X

FEN S M (NaCl) = 58.5 g/mol , M (NaBr) = 103 g/mol , M (Ag) = 108 g/mol

X 3459-X 54

Let X is mass of NaCl,
=0.05 mol

ams 585 103 108 then, mass of NaBr = 3.5 -X

ITATIS X =m (NaCl) =2.223 g §812 m (NaBr) = 3.459 g — 2.223 g = 1.236 g

- 2.223g
HGISS AT S % NaCl = X 100 % =64.27 %
¢ 3459¢g
% NaCl = ———Nadl 100
12 % NaBr =100 % —% NaCl = 100 % — 64.27% = 35.73 % mass of mixture

m
236g % NaBr = NaBr__ 4 100

1 -
U % NaBr = 3459 ¢ x 100 % = 35.73 % mass of mixture
' % NaCl + % NaBr = 100 %

TGz mi X hE§SHU NaCl 81 Y thG§8 & s NaBr R o~ oNaC

My EMIRIGIGATMS n (NaCl) + n (NaBr) = n (Ag) % NaCl = 100 % — %NaBr
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fintiy M (NaCl) =58.5 g/mol , M (NaBr) = 103 g/mol , M (Ag) = 108 g/mol

I X +Y=0.05mol

585 X + 103 Y = 3.459

IR TS X =n (NaCl) = 0.038 mol 841 Y = n (NaBr) = 0.012 mol
PSS ISR T8 m (NaCl) = 0.038 mol x 58.5 g/mo = 2.223 g

m (NaBr) = 0.012 mol x 103 g/mol = 1.236 g y m (NaBr) =3.459 g -2.223g=1.236 ¢

- 2223 g
HGISSIGRMS % NaCl = x 100 % = 64.27 %
4 3459g

1912 % NaBr = 2208 100 96 = 35.73 %
o 70 —3.459gX 0= . (o)

4y % NaBr = 100 % — % NaCl = 100 % — 64.27 % = 35.73 %

=2

iiGms mi X hE§sHns NaCl i1 iTams 3.459 g —58.5 X th1 2 NaBr
My IEmMIRIGIGATMS n (NaCl) + n (NaBr) = n (Ag)

fintis M (NaCl) =58.5 g/mol , M (NaBr) = 103 g/mol , M (Ag) = 108 g/mol

3459 -585X 54
103 - 108

RS X + =0.05 mol

IS SRS X = n (NaCl) = 0.038 mol 1812 m (NaCl) = 0.038 mol x 58.5 g/mol = 2.223 g

IS e m (NaBr) =3.459 g -2.2239=1.236 g Let X is mole of NaCl,
2.223g

_ M (NaCl) = 58.5 g/ mol
rL) ° (o) = 0, = 0
GEISIIINME % NaCl =37 £g ¢ ¥ 100 %= 64.27 % Then m (NaCl) = 585 X

£912 % NaBr = 100 % — % NaCl = 100 % — 64.27 % = 35.73 % m (NaBr) = 3.5-58.5 X

3.50 - 585X
n(NaBr) =——

1.236¢g 103

j % NaBr = 100 % = 35.73 %
i % Na 3_459gx 00 % =35.73 %

3.459g - X

tiGd: ma x mBgssia Nacl imidams — =

mi;'rm NaBr
sgssessnes: e Huidd
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My MINRIGIGRAMS n (NaCl) + n (NaBr) = n (Ag)
fintis M (NaCl) =58.5 g/mol , M (NaBr) = 103 g/mol , M (Ag) = 108 g/mol

X 3459-X 54
+ =
58.5 103 108

ibinky = 0.05 mol

ITATIS X =m (NaCl) =2.223 g §81: m (NaBr) = 3.459 g — 2.223 g = 1.236 g

- 2223 g
HGISIIRmS % NaCl = X 100 % = 64.27 %
4 3459¢g

I1: % NaBr =100 % — % NaCl = 100 % — 64.27 % = 35.73 %

G % NaBr = =328 . 100 9% = 35.73 %
r= = o0.
U 7o Na 3.459gx (] 0

50g-X
58.5

oo . . 3.4
iGes min x Egsding Nasr I iums

Y NaCl
Let X is mass of NaCl,
Then m (NaBr) =3.5-X
fintis M (NaCl) =58.5 g/mol , M (NaBr) = 103 g/mol , M (Ag) = 108 g/mol  M(NaBr) = 103 g/mol, then

My IEMIRIGIGATMS n (NaCl) + n (NaBr) = n (Ag)

X 3459-X 54 n (NaBr) = 32X
= ——=0.05 mol 103

+
103 585 108

Gitnls

TS X =m (NaBr) =1.236 g 1812 m (NaCl) = 3.459 g — 1.236g = 2.223 g

- 2.223g Let X is mass of NaBr,
i ° 0 = 0p = (o)
HGISSIURmS % NaCl = 3450 ¢ x 100 % = 64.27 % Then m (NaCl) = 3.459 - X

[S12 % NaBr = 100 % — % NaCl = 100 % — 64.27 % = 35.73 % M(NaCl) = 58.5 g/mol, then
3.459-X

1236¢ n (NaBr) = =223
1j % NaBr = x 100 % = 35.73 %

3459¢g
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1G9 M X NG NaBr IR1ETH M S 3.459g — 103X thE1 8 NaCl
My IEMINRIGIGAT S n (NaCl) + n (NaBr) = n (Ag)

fintis M (NaCl) =58.5 g/mol , M (NaBr) = 103 g/mol , M (Ag) = 108 g/mol

3459 -103X 54
= =0.05 mol

ITRAMS X - -
o ¥ 58.5 108

IR IR TS X = n (NaBr) = 0.012 mol 1812 m (NaBr) = 0.038 mol x 103 g/mol = 1.236 g

IS1: m (NaCl) =3.459 g-1.236 g =2.223 ¢ Let X is mole of NaBr,

o 2.223g M (NaBr) = 103 g/ mol
[*) ° 0, _ 0 - o
HoIS I ms % NaCl = 3459g X 100 % = 64.27 % i G = TR

£S12 % NaBr = 100 % — % NaCl = 100 % — 64.27 % = 35.73 % m (NaCl) = 3.459 — 103 X

3459 -103X
n(NaCl) ===2_=""=

1236 g 585

% NaBr = 100 % = 35.73 %
U % Na 3.459gx 00 % = 35.73 %

> Gam: gigpunsihspouiinagamesamniiumciims
&. . aAnATN Uyt ed [H'] 89 pH

FUEMIMARAM IR Sy

2H"(aq) +2e — H2(g) (MBHH)

Zn (s) — Zn** (ag) +2e (HIANH)
i m 8 s MG I 2 H* (ag) + Zn (s) — H2 (g) + Zn?* (aq)

AE° = E° (M) - E° (MIANH) =0.00V - (-0.76 V) = 0.76 V

P (Hy) [Zn%™] 1 2 » .
- 2 = AT firy [Zn?*]=1M S8 P (H2) =1atm

- 0.0257 V .
‘mﬁﬁjﬁmiEzE°—Tan [ins E=054VE8an=2
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0.0257V 1

IROUMIS 054V =076 V — In
al 2 [H+]2

IR12 In[H]=-8.6 Iihtis In X =-8.6 816] X =2 x 10*
GoIssndams [H]=2x104 M

myjuyg pH=-log[H']=-log2x10*=4—-log2=4-0.3=3.7
bz sudmimanamui Sy InisInGRYISEH HO* / He

2 H:O" (aq) + 260 — H2(g) +2 H20O (1) E%=0.00V
0.0257V

mﬁﬁjé‘rmsE:EO—Tan IR E =000V 8i1n=2

iR P (H2) = 1 atm

0.0257V "

Rms E=0.00V - ————Ino—

= 0.0257 V In [H30"]

sumImannmui g Inisigayisy zn/ zn

Zn**(aq) + 2e — Zn(s) E° = -0.76V

- 0.0257V 2 -
MufutMIE=E’ - Tan [P0 E'=-0.76 V S#1 n =2, [Zn?*] =1.00 M

0.0257V 1 1

RUAMS E=-0.76 V - > ln[Zn“] =-0.76 V ImmK=m:1

I asSmisgjmi: Zn (ag) + 2 H* (aq) — Zn?* (aq) + H2 (g)
AT S AE = E (H30*/ Ho) — E (Zn?*/ Zn)

0.540 V = 0.0257 V In [HsO*] — (= 0.76 V)
0.54 V = 0.0257 V In [HsO*] +0.76 V

1812 In [HeO*] =-8.6 1intis In X =—8.6 81G] X =2 x 10*
GoISsniums [H]=2x 104 M
sgssessnes: e Huidd
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mujusg pH=-log[H]=-log2x10*=4-log2=4-0.3=3.7

2. (whAyIS B8N GIARICIR NS IS IS FoaANMN 298 K1

AANSUGINGSHL fh UfLﬁULEjmmﬁn LT RN O A RYIs:

E° (fipU) = E° (Fe?*/ Fe) — E® (Co?*/ Co) =-0.44V — (- 0.28 V) =-0.16 V

0.0257 V ,
MEUEFE = ——— K [fdn=2

- 0.0257V
[RS8 —0.16V=T|n K

115 IN K =-12.45 W InX=-12.45 1G] X = 4 x 10°
joIsniams K=4x10°
MEJUYE AG® = — nFE el = -2 X 96500 J/V.mol x (-0.16 V) = 30.88 kJ / mol

b. A annmalgisangg]sispingis:

- 0.693 _
OGISIUAMS K= — = (0.0866 min
? 8 min

2. BANKIUIINN (D) IRu]e[Sugirua s 1 % isuTmaniily

o

: 3

m?hmsmmmmﬁﬁ‘}mmmmruﬁ 100 % mmmmﬁts:msrmmn} 1% gG[SZﬁﬂj[E:]Uﬁ‘Iﬁitﬁ

1 2

PR B PUIL UR UM [Alo/ [Alr = 100% / 1% = 100

A
mujuyg In Blo_

[Al¢
IFAGE  In 100 = 0.0866 mint x t
2(IN2+In5)=0.0866xt Nt In2=0.693, In5=1.609

. 2.302
~ 0.0433 min~

1 =53 min
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HGIS:dRms t=53min

lo

AL Sl t=2yIn 2l

k [Ale

iG9 mujusg In[[

BN S Ut UM LS GTRU I 100 % UBIUMAIS N SIST IR 1 % ISR U] U

[Alo _ 100

=100
[Al 1

MBI AN I AT

o 1
AT S t—WX In 100

=mx(2ln10)=538‘l§

HOISItwiin ki PE{pimi t =53 min

[A]
[Alo

(Al

it muyjuug |
" Al Al

~kt 8igj t——ﬂxln

IR EN S AU E AU RS AU TRU IS 100 % pUBBUMAIS T SISTAIN 1% i GIS:

e e

03 U I3 UM A S EAg oS njmjtjﬁtmt'i
= [Al, 100

o 1 \
ROANS t=— X In102
ol 0.0866 mn—1

1

. — xIn102=53 NG
0.0866 mn—1

HOISIWiin ki S{pime t =53 min

AUTU I AR EY CCly 85
AtMy Iznhmﬁjﬂzo 1
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2mg-X

o 2 _X 111 4 - ”
—SmL__ g5 gig %:17 m “Like dissolves like

25 mL smn s cmT e N,
- dissolves i
IWHATIS X=0.11mg issolves i

Water / polar layer
Jois:Avnuiujiislauigathaénf 011 mg . \ ’

4

boundary ’

2. anns e uislaunsghthesén e

W s - CCl
mi X thgiufuinghehas A 0,11 mg- X :

theh ot g thasanimeginnts ccl @ B ©

Copyright ©2009 Pearson Prentice Hall, Inc. 12 dissolves il’l 1
non-polar layer

AUMU A0 CCly 85
AUMU AN A Hy0 1

xplei]

011mg-X

5 mL °
TZSE—’ ST[EJ

25 mL

0.11mg-X
®, =

17

RIS X =6.11 x 10° mg

gorsciufnisiunigimegéaf 6.11x10° mg

> 1§ls A, M X (mg) thehsufujiginthauén
M1 Y (mg) thsuffujiinithautheyanimainnts cCl,
RERTIS X+ Y =2mg

AUNU AR M I CCly 85
AUNU LARM A 0 1

xples]

Y mg

5 mL
Xmg
25 mL

=85 8igjY=17X
I mS 17 X + X =2 mg §16] X =0.11 mg

FoissAvnuiujiislaunigamas§nf 0.11 mg
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2. ann i uiIsiunigathasén

SpnenigseigssgenSnags ©ign9)

mi X (mg) thiuiujighthéa
M Y (mg) thi1suffujii gireh sauth ey animisi Aot CCl
IR X +Y =0.11 mg

AUMU AN CCly 85

N ——— -
AUNU AN AT H0 1

Y mg

5 mL °

X mg =85 Eﬂ@JYZl?X
25 mL

i ms 17 X + X = 0.11 mg §1gj X = 6.11x103 mg
goissAvnufuiislaunigathas§ad 6.11 x 103 mg

> Gam: gigpunsihspnwiingagamensamniiumoiims

Prepared by Houn Kimsrea

November 29, 2017
All rights reserved.
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. SRORINFITEST
ERRBHS
CHEMICAL KINETICS

e First Order Reaction: In [[

=kt 4 In[[]] =kt; (phnygnib 9
i nmARaMuEiny ArwntiropimaduiefuntH)maURRISWEH MA A

pifsATMUId s rmhms[A]t—% i [A=2[Al

It
Alo

Al 2[A
R kt 8i6j In L

=k
(Al (A, e

D i In2 0.693
HGIS: Tt IﬂﬂjmﬁﬁnmnjLUﬁ” t Half-life: tiz = —— K :T (k: rate constant Itiimji]S)

e Second Order Reaction: 1/[A]t = kt + 1/ [A]o; Half-life: tuz = 1/ K[Alo (URAYRINT b
([A]o initial concentration of A AUNIRY) ([A: final concentration of A AUM £ R)

a aa
PHRIBIHNS
ELECTROCHEMISTRY

The Standard Free Energy Change (1atm, 298 K) sf{su{grsthsnsieuiagiin
e AG’=-RT InK = - nFE el

_ RT 8.314 ] 7 Kx298K 0.0257V 0.0592V
We obtain Ecele = oF In K= ] = - InK= Y log K

mol K

0.0257 V 0.0592 V
o Ecar=———InK=———logK

nx 96500

iy s In X =2.302 log X
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AG = AG® + RT In Q Because AG = — nFEcen and AG® = — nFE cell
—NFEcen = - NFE°cai + RT IN Q
Dividing the equation through by — nF, we get
- 0.0257V 0.
e fUUMIiNernst E= E°—T INQUE=E°-
R =8.314 J/mol.K 15312 ]S
T = Temperature in K 83 anmn
n = moles of electron from balanced redox reaction G§8&IHEGIG{ANINIAITMITS TR
F = Faraday’s constant = 96500 J/V.mol Itiiti;ni"“l P
K = Equilibrium constant (Q = K) Iini S {ifingy

The relationships among Ecei®, K and AG®

K

AG=-RTInK

E° cell =E° cathode - E° anode

AGe _n@ E° cell

All rights reserve

No part of this compilation may be reproduced or distributed in any form or by any
means, or stored in a database or retrieval system, without the prior written consent.
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AG° Ecel’ Reaction Direction Spontaneity
Negative (-) Positive (+) Forward Spontaneous (Favors formation of

wirgmudrugpuu products)
No reaction Reactants and products are equally
m SLﬁﬁ iy favored
Positve (+) Negative (-) Backward Non-spontaneous (Favors formation of
[wAngmu§ri{mey reactants)

LEO says GER (Loss of Electron is Oxidation; Gain of Electron is Reduction)

A New Ox; Red CAP (Anode Negative Oxidation; Reduction CAthode Positive)
A New CAP (Anode Negative; CAthode Positive),

n Ox Red Cat (Anode Oxidation; Reduction Cathode)
An Oxygen atom Oxidize become Negative and CA Reduces become Positive
(Anode, Oxidation, Negative) (CAthode, Reduction, Positive)

LEO says GER (Loss of Electron is Oxidation; Gain of Electron is Reduction)

RIG OIL (Reduction Is Gain of Electron; Oxidation Is Loss of Electron)

gusse Reseneimes: e 81

Tel: 098 472 472

UK

gsanwimwmnsans iwWiGistundw dfunmsy)sfiyw Gigdhnmians
e GGG 1038 msanmungh

No part of this compilation may be reproduced or distributed in any form or by any
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_ Concentration of solute in organic phase _ m(org)/V(org)

~ Concentration of solute in aqueous phase B m(aq)/V(aq)

nmﬁﬁﬁmﬂiﬂfl mnhmmmmﬁ
nmﬁﬁﬁmnimmnﬁmMGn

Kp: Distribution ratio or Distribution coefficient or Partition coefficient:

NI Ui W Y IsFangiun

¢ ol (=3

uNGHSINSAjISGohd

fn 1

9. winyGlundaigpaisidmpiisisigamesaegs Ampingnihd 9 finvmsalys

=4
al

Iﬂ.[ﬂS 6.5x10*s™ ISTRIH ANAIM 500 °C*]

1 0

n. it mispingGiun i ldgwdisiemsits

2. ann dunu g siiisiauns vbfuiagwiigidsonsm 122 9§ I5dumiils
IR RI TS IEG 81 0.75 M

5. fipimawn i s (@ §) igjoiuhaigu s gjaas 75 %?
w. AANSUUINMARAM U (NF) [BAnyIs:

I G]: In 0.75=-0.288; In 2 = 0.693; €°°° = 0.470

GIgt: A — > H,C=C—CH; _ _
H 0.470 M, 35.5 min, 17.75 min

b. hnydluammsmadmiisd uimphngimoalinsisun] s 5.6 x 104
f. gieisi S mitspinydiummms idthd dmasyd

2. annAatmimms iuislans s fpdngufiadasinm 25 9§ ifdmmidvives
IHM S 1781 0.88 M

) ﬁLnim::m i s (1§ idgjdlunmmsajuns 4%?
sgssessnes: e Huidd
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us. AANSIL N SAAM (1§) [IRAYIS:

I G]: In 0.88 =-0.128; In 2 = 0.693; In 5 = 1.609; €% = 0.380

Gift: Co:He — 2 CH3; 0.38 M, 96 &, 21 &

m. wingdlomwugpemiyitsy 8h mbigsisigameasgs & mpfinygnihd 9 fin
§ISIGING) S 7.5 x 1045 1sledfnnmn g

f. gieisieSmits o ingdtrun s é upgreithinéigys

g. ann duntmé ugginnuisieons vt hwdngwiaielssiw:nn 15 17 iidmmiidy

AT G TS IEg SR 0.40 M

=1

B fipimawn i s (1 §) idgjoiunm§ upiaHes 95 %2

uwr. BANSUIINUAAMUERAYIS:

(IFGj: In0.4=-0.916;1In 5=1.609; In 2 = 0.693; € - 1591 = 0.203)

GIFHS: CoHsCl (g) — C2Ha (g) + HCI (g); 0.203 M, 66.5 1§, 15 &

¢. winyGluafpilusingnnin telthaaisynaiius

19, 1 1 b 1

IBTbRY]| SR 5.4 X 10° 571

9. Giﬁjﬂﬁﬁﬁjﬁi’ﬂﬂSL ﬁ

HESTUI [0 AU 800 5°1
HESTUII0 AU 350 5°1
¢ hpimausnsgps ) ilyjeduitusingnaiaang 10 %2
gagj: e00%2=0.958; In 2 = 0.693; In 5 = 1.609; 0% = 0.981)
B 2 H,0; (aq) — Oz (g) + 2 H20 (I); 214 1§ ; 4.2 %; 1.9 %; 710 1§
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. A wnumaywostlumsimgnpmathAnnAgwmuspiagaih oy w gliwmnn 6 i
MWHA AE AN MSISTAINY 20 %71 AANSUBHALS (WwnMARLM hnag 81

s UTH R MR O TuR e UM RIS S GJHET 20% 7

2. (uE UM A gwmsGlunisl sGHAnMAth AN AY U TUS: IS 100 s M WY A ASMHIS S
M 8I8Tauns 50 %1 gt eumaIS sl It s UNUNBARAYGIURKLS Wi Ina 200 s IEHth
whnygnithy 97

al L

&, winyoluAiugiug (So.Cl) IFlthansdidganin 8 aajspi Athiuiny

<« [\

WIS NI MARAM I ARYIET 10 1§

9. gisuitruiruSmits{pinygtiumddruginugg Isithanstidsnein 8§ aajsp

b. annsmalgisang)sisipiings:
m. aan s Fun o gt sl s UApdnYgoiaIFsswIn 12 91§ 18

AunindgivesruginugaiSh 0.85 M

e

. IRpmawIn Ut s (1 §) INY]e[RIUGIuR eI 5 %2

N

. In0.85=-0.163;In 2 = 0.693; In 20 = 2.995; e™~"*° = 0.
(lAGY{: In0.85=-0.163 2=0.693 20=2.99 0.9946 = 0,370)

GIfWS: SO2Clz — SOz + Clz; 0.0693 /min; 0.370 M; 43 min

All rights reserve Prepared by Houn Kimsrea
May 25, 2018
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1RSSR R IBHIS) SN IBHIFS (BINN+9) SKIRE............
sgssge ISR mo te ssen §3 Woodd

85 DHIKRSRI HESRR §65:6005 M 40

é’irLﬁ]HLﬁmh NIE Tel: 098 472 472

ISRNEGRINEESIPR Né

9. Gigh 81 Ginmeudmigeanimy:

A.CuS + HNOs — Cu(NOs), + H.SOs + NO + H:0

2.As;Ss + ClOs — HsAsOs+ SO+ Cl (5iijih 8 edm)

a.Ag + HS +CrO/# — AgS + Cr(OH)s (8fjjinsmey)

— “ggRn
+ He

b MGH M ((NBIAFHNGEY) B1STNWIH ]G RISy AUIPTIUY AT 3p°
. PUTIRIIIG mmsjamhmasmhwmﬁsh sp 8i1 mst"immmsjﬁmmtm'mmﬁsﬁm NS
9 1i M2 msﬁgsmsjﬁmhmqﬁi:i@sqhﬁsﬁmn} p AnHaligs?
2.1 M agannguédms (ream 81 mising:§?

SR M hpiae it sn §6 u gpeua o2 e

m. ifEpIme O sMiaiiiunstumsiunsfuinigs umonsthunuptp Sy}

fn

Gohun I ggHAM TS 496 KI/ mol? Iimiadli uipiSntumsiuAt SN2

IBG]: h=6.626 x 1034 J.s; ¢ = 3 x 108 m/s, Na= 6.022 x 102 atoms/mol
¢. Aruirumfe g runhiSopimsuianhuning:fruie ag:fnfywnirgimnwi
sPessesees: iy By
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frusagtinfiirumsiHgispmnm: s 8n ageinuFlmjrgininwinnm:ma 8 (AR
AgeuB{nMARUNHSGA: Pt|Hz(1 atm) | H:O" (1 M) || CI (1.00 x 103M, Ag* (? M) | AgCl | Ag

AginHA Ul GUATsgAruIS o8y 0.397 VI GIAANIAUNUThE Ag* 81 BrugANABRIANW
AgCl 181835 nNMN 25°C1 IR G]: E'(Ag*/ Ag) = 0.80 V, In X = -15.6 — X = 1.6 x 10”7

&, sy F AW H Y W S| 0.100 L ISAUNUHWRIANWAHNINS 2x 10° M1 1HUTEH 0.025
L issnimginnt col grusigjdinimidmawnmaduiism iyt agi §as1 1wt
IS1A0B NN 25 °C HUIHHNGINWHAUHYMFIANUS CClL, TS 85 BRIFS thinnwG i s

ugeanfirnnmunSnas I, (aQ) =—== L, (CCly

A upuimidma imsfuiisiunigathuéatips?

g. iatmAanthindaé Anthusgd ccl,0.025 L §ig)aidmsiwninsSnsiruniguthedna?

. wihwywthaiinu:gigRimnum:ima Saedfung minnw 112918 S I INWIFIg 196

ISy agjin H.50, il iMwipfnyGiiae grums 2ais Al rugT §h ayrutsagfiy B In
gt ey ntiTAgji Ba(NO) rﬁghmmmmﬁfﬁmsgmmsermﬁﬁﬁﬁjﬁﬁga pis sdrugih

ERUEIONGUPARYIAG G AT SAMI 1.864 97

v

9

A annsgima Sadrueliniiumsisighupwiils

2. nﬂﬂSTnthﬁTnitﬁﬁjﬂJ'tﬁﬁth H,S0. 10 11155 IE S th H,S0, fUg 10 % GRUJH{Y I?'i""
mgmLmﬁ 81 gnfin

>

B iimEn Y2 is AJAJUIAJJA HoSO. NNIGIF NENE I IHEGUMSHIY pH =27 IRM2IVRIRY

v 1

ARSIt 82 1A E]: Ag = 108, Cu =64, S = 32, Ba =137

fl. qgwumsrj“ 2350 B e pb (RIMsIAAN SR muiuasn 23gpb Amainttsms
Otuaiuas 25U mAanamuiiaismygy 235u Glunth 25 Pb s alyia] 4.5x 10°F1

f. Gregitui oS midtunmgy 235 thingy 205Pb 1By 2350 UL MMA NS o SRIHEEAR

8. giﬁﬂﬂmﬁﬂjm:]ﬁ 208 Pb 8h 238y ﬁ'hﬁﬁ[S: IUﬁi:i‘ISi—ﬂtij‘ﬁ'lﬂ_T?leOSm"]

@

I5E)J:In2=0.693, In X=-0.117 — X = 0.889
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s eI fieHSains EsS)enSuans SIgN+9) CMmes............
sgssge ISR mo te ssen §3 Woodd

#R9 HESQAN §65:6005 M (S

(U{InB8ey ﬁﬁé’erﬁ]HLumh NIE) Tel: 098 472 472

SERMIENES SN SNRIBBERPANE
9. Gifh 81 Ginmrudmijonmey:
A.CuS + HNOs — Cu(NOs); + H:SOs + NO + H20
SurudmiggmimuifulpupuGgsHAnaRY

+2-2 +1+5-2 +2 +5 -2 +1+6-2 +2-2
CuS + HNO3 — > CH(NO3)2 + HzSO4 + NO + HzO

IRANNSWAGSSHAMNARY S=-2 §EIS:GSSHAARYIASAUTURR 1 mol Cus 1ad 8 81

1 1 % 1 C{

AANSWAGSSHAMAAY N=+5 jEIS:GSSHAMAAYBWGAIJURN 1 mol HNOs 8] 3

1 1 =) 1 1 C{

HEIS UM MImsiGulpuEuGgsHARAY
3CuS + 14HNOz — 3Cu(NO3): + 3HSOs + 8NO + 4H,0
Snsusmmgmimsiimanumuuing

CuS + 4H,0 — Cu* + SO + 8H' + 8¢
NOs; + 4H* + 3¢ — NO + 2H:0

HEIS s udmin g mimsiimAn M uinY

3CuS + 8NOs + 8H* — 3Cu* + 3S0O4# + 8NO + 4H:0
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HR gty 6 HY 84 6 NOs
rRnaifisy 6 H 82 6 NOs
Jors:ndnmsudmigmimueiimanamuising
3CuS + 14HNOs; — 3Cu(NOsz), + 3H:SOs + 8NO + 4H:0
8.A5:S; + ClOs — HsAsOs+ SO/ +Cl (6hjihsnedn)
Gursimigymimsiiuiipuusgsgnngany

+3-2 +5-2 +1+5-2 +6 -2 -1
As,S; + ClI037 ———» H;AsO, + SO/ + CI

FAANAUWRGGRHAARY As = +3, S = -2 GEIBIGESHAMANYIABAIUTN 1 mol As:Sy

1e] 28 BNANNAWAGSSHAMAAY Cl=+5 §GIS G§SHAIARYG WG IIUHR

1 mol ClOg I8 6

HGI8 s uBmig g MimuiiulBuEUGSSHANRAY

6 As;Ss + 28ClOs +36 H:0 — 12 H3AsOs + 18 SO~ +28 Cl- +36 H*
3AsS; + 14ClOs +18H.O0O — 6H3AsOs + 9SO~ +14Cl +18H*
Susudmiangmimsiimanumuing

As;S3 +20 H2O — 2 HsAsOs +3S04* + 34 H* + 28 &

ClOs +6H"+6e — CI'+ 3H0

JEIS:ndams udmigjmimuiimAnAM U Any

6 As;Ss + 28ClOs +36 H0 — 12 H3AsOs + 18 SO +28Cl" +36 H*
3AsS; + 14CIOs +18H.0 — 6H3AsOs + 9SO~ +14Cl +18H*
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BH.Ag + HS +CrO# — AgS + Cr(OH): (8gijinsmey)

0 +1-2  +6-2 +1-2 +3 -2 +1
Ag + HS + CrO> —» Ag,S + Cr(OH),

SRAnNSWAGSSHANANY Ag=0 §GIS:GSSHAIARYIASAIURN 1 mol Ag 18] 2 81

1 1 ) 1
1

AANSWAGSSHAMAAY Cr=+6 JGIS:GSSHAIARYGWGASIUHN L mol CrOs2 18] 3

6Ag + 3HS +2Cro# + 5H,0 > 3AgS + 2Cr(OH)s+7 OH-
gueudmigrgmimsiimaAnmuuing
2 Ag +HS + OH — Ag,S + H20 + 2¢°
CrOZ +4H,;0+3¢ — Cr(OH):+ 50H
JGIs i m s udmignjmimuiimanamuping
6Ag + 3HS +2CrO# +5H:0 > 3 AgS + 2Cr(OH)s+7OH
fEfinnfitueisgan OH  (Method for Assigning hydroxide ion coefficients)

9. finnnibgsHnignnygMyy Gimmysinunstgsyndnngipwindiyme
v, ﬁnnﬁﬁ%{,ﬁiiﬁjmégsrqﬁijﬁﬁgiwﬁimtjﬁ (n.o SWHNUWHIHG G n.o Rshitn:viiHg]o[in)
m. sanswgnafuisiaisums OH jsiseivesgan OH idigugniAim
(Kimsrea’s First Method) (20/01/2020)
Stepl CrOs# +H,O — Cr(OH); + OH

n.o(Cr)=+6 n.o(Cr)=+3
Step2 An.o(Cr)=+3 —(+6) =3

GysyRARRySwy: tihw Cr 9 swy: -3 §ois: cr hantws MIFHG{G{§N
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Step3 CrOs# +H0+3¢ — Cr(OH); + OH"
ihw Cr 9 stwg: -3 i:ibapficsMIE gio{ft gy (hoyGwntHgjG{h)
goissuhme CrOs2 +H,O0+ 3¢ — Cr(OH)s + OH-

ghugn: agh  (-2)+(-3) =-5 A 5(-1) = -5

juisdugpticy s on- sngiiidigiugniaim
Ho18 s aBmigymimeiimanamuping
CrO/# +4H,0+3¢ — Cr(OH);+ 50H
fiEfnnaiueisEan OH  (Method for Assigning hydroxide ion coefficients)

(Kimsrea’s Second Method) (20/01/2020)

9. arituing: Mt sms i nmwuigsi{En Al 1) sygngeHtliag ©)

al 9

‘imlﬁiﬁ‘S\‘H H-.0 iS‘lHQﬂJﬂg:fﬂfjHH[_ﬁiﬁiS (H)

1Y%

MnOs +H,O — MnO,+ OH-

. MUAIG! 22 MIHAN OH (2eOH) §h — MIBRAN H-O (5 H-0)

x
MnOs + - H20 MnO; + & OH" o S o2
- ‘ nidhgsmgui{iiias

b
a o )

m. §uGgsmyuanaiusIdgjinnigme: =

v 1 1

apinumsH{fif AU
MNOs +~H,0 — MnOz+ 2 OH
4 +§:2+aetu‘?ﬂm83e:4
MnOs +2H0 — MnO, + 4 OH
ghugn: eigh (-1) +(-3) =4 NMaH —4
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jmsudupfise 3e annpidnunsugniidigugnidn

MnOs +2H,0+3e° — MnO2+ 4 OH-

. %24Po +23a +2 e — 222Rn
Ggstiay (A) sujusRNNIGRTE Sasneg): 214+ 2(4) +0 =222
IUBHIGHET (2) ujuapnRIgala Syl 84 +4+(-2) =86
238y, 234Th + %He
. . fUIERITIT mmsjﬁtqhmﬁgm&[,ﬁjmﬁm s p & 152 2s? 2p° 3s? 3p®+
M2 186§ S IH ]G (AN ﬁj;ﬁqhﬁ:ﬁmn} p fi 121
2. UTlRIIIm mmt{jﬁ[ﬁlh M ME AU s p & 1s? 2s? 2p° 352 3p°4s?

angué 4 (Aud 1 She SN M RIjE

q
Ui M2 I EIAENEIG 6 I P SIHG G HRIITRAU AU EY w8

m. N thsnuEimSIdgjhshenugssnnifusywanuan

496 K] 1 mol
1mol ~ 6.022 x 1023 HIIUEH U

niims: = 8.24 x 1010 J / §IrUF Y

hc (6626x10 —34]s) (3x108 m/s)
E 824x1019j

mujuug: A= =2.41x107" m =241 nm

a

JoIs: mppimisimeminilirum sttmsiuasfuin g 241 nm Miagfi upidi

RUNSIUAIR SN AR A AU

Wavelength formula: C=4 V
Where, C: speed of light (3 x 108 m/s), A: Wavelength (m), V: frequency (Hz or s)

C
Plank’s equation: E=hV = h n which, h =6.626 x 1034 J.s

s5)escg@esaens: ey M
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. 16593 sudmimAnnmuinSytsy

H2 (9) + 2 H20 () — 2 H3O" (ag) + 2e  (H1ANH)

2A0" (aq) +2e° — 2 Ag (s) (M)
nnmesuSmigngmi: 2 Ag* (aq) + Hz (g) + 2 H20 (1) — 2 HzO* (aqg) + 2 Ag (5)

AE® = EY (M) - E° (1 ANH) = 0.80 — 0.00 = 0.80 V/

[H30*]2 1
[Ag*]2x P(Hy) [Ag*]?

- 0.0257V 2 -
MUftMIE=E’ - Tan iAW E=0.397V 8ddn=2

IR P (H2) = 1atm 881 [H:O*]=1M

0.0257 V | 1
n
2 [Ag*]?

idims 0.397 V=080V -

IS12 In[Ag']=-15.6 Fiht In X =—15.6 816 X = 1.6 x 107

goissndhms [Ag]=1.6x107 M

MuBUAANAERIN WIS AgCl

Ksp =[Ag][CIT=16x10"x1.00x10°=1.6x 101

HEIS s uRANA{EaI L AgCl IsTsasnNmA 25°C & 1.6 x 10720

Gb: yBmimARAMUN USyWw IS GAYISEH HO/ He
2H30" (ag) +2e¢ — H2(g) + 2 HO (1) E°=0.00 V

0.0257 V

musami E:E"—Tan IR E° =000V 83 n=2

BN K =————= = Binu P (H2) = 1 atm 8§11 [H3O0*]=1M

o 0.0257V
OAMS E=0.00V - Tln1=0.00V
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sumimannmui Sy singayisy Agt/ Ag

Agt(ag) + 1e — Ag(s) ° = 080V

- 0.0257V s -
MuEMIE=E’ - Tan IRV E’=080V 8iin=1

ms E-080 V- 2027V, 1 s K =
M8 E=0.00V - —— N5 " Ag]

e EmiE M 2 Agt (aq) + Hz2 (g) + 2 H20 (1) — 2 H30" (aq) + 2 Ag (5)
[MTATNS AE = E (Ag*/ Ag) — E (H30*/ Hy)

0.0257V_
0.397Vv=0.80V - In —0.00 Vv
1 [Agt]

0397V =080V + 0.0257V In[Ag*]

IS12 In[Ag']=-15.6 Nt In X = —15.6 81Gj X = 1.6 x 107
guissndhms [Ag]1=1.6x107 M
MuBUFANAERIN WIS AgCl

Ksp =[AgT][CIT1=16x107"x1.00x 10°=1.6 x 1010

HGISHURANA{EHEIANLT AgCl I8 sasnNmAn 25°C & 1.6 x 1072
iGEms: gEmemAnamei Sy
Hz (g) + 2 H20 () — 2 H3O* (aq) + 2~ (#1ANH)
2Ag" (ag) +2e° — 2 Ag(s) (M)
b msamignjmi: 2 Ag* (aq) + Ha (g) + 2 H20 (I) - 2 HzO* (aq) + 2 Ag (s)
AE® = E® (M) - E° (| AN H) = 0.80 — 0.00 = 0.80 V

[H30*]2 1
[Ag*]?x P(Hp) [Ag*]?

Binu P (H2) = 1 atm 8§11 [H:O0*]=1M
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o 0.0592V R -
MUEMIE=E’ - TlogQ iU E=0.397V8dIn=2

0.0592V 1

oS 0.397 V=080V - 2 log Ag+2

IS log [Ag*] =—-6.8L IiNls log X =—6.81 SIG] X=16x107
gorssndhms [Ag]1=16x 107 M

My uAANAFRIN IS AgCl

Ksp = [Ag*][CI] = 1.6 x 107 x 1.00 x 10 = 1.6 x 10710
HOISHUAANA{EaINL AgCl IsTssnNmMA 25°C & 1.6 X 1072
iGGds uSmamanamuiuSytramGsingayisy Ho / H.

2 H:O" (aq) + 20 — H2(g) + 2 H20 (1) E°=0.00V

- 0.0592V 2 -
ﬁ‘lHﬁJ’Hﬁ‘liE:E"—TlogK [ E°=0.00V 8iin=2

Bty K = ——— = I Rd P (H2) =1 atm 841 [H:0*]=1M

o 0.0592V
[RS8 E=0.OOV—Tlog1=O.OOV

sumimannmuiuSywInisingayisy Agt/ Ag

Agt(aq) + 1e — Ag(s) E° = 080V

- 0.0592V 3 -
MufutMIE=E° - TlogK [iRUE'=080VS8#Iin=1

fnme E=080V - 20292V o 1 LS K =
M8 E=0.00V - = 108 1] " AgT]

b mm%m:ﬁmjm:: 2Ag" (aq) + H2(g) + 2 H20 (I) —» 2 H:0O" (aq) + 2 Ag ()

ISR S AE = E (Ag*/ Ag) — E (H30*/ Ha)
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0307V =080V - 22222V 5 1
' TV T OB g T

0.397V =080V + 0.0592V log [Ag']

112 log [Ag'] =—6.81 kihtis log X = —6.81 81G] X = 1.6 x 107
gorssndhms [Ag1=16x 107 M
MuBUgANAERIN IS AgCl
Ksp = [Ag*][CI] = 1.6 X 107 x 1.00 x 10?3 = 1.6 x 10710
HEISHUAANA{EaIANL AgCl IsTssnNmMA 25°C & 1.6 X 10720
& n. 1G9 m X Ammdagnmasén

1812 2x 103 M - X mﬁmﬁﬁujﬁqhmmm:mﬁimm CCla

AUMU AN CCly 85
AUNU L ARM A Hp0 1

xgloi]

2x10-3-Xx 3
0025 . 2x107° =X
—x>— =85 s§igj X =21.25

01
UGS X =8.98x10°M

HGIS S AUNUHWEIS unsgatheu§nf 8.98 x 10° M

898x10~2—X

0.025
X

0.1

IORTS X =4.04%x 106 M

HEISAUNUHHIsIaoniniithey§/f 4.04x 100 M
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> f. 1612 mi X (mol/L) thium ] ﬁqhmm§ﬁ
M Y (moliL) e SHfH Rt ATANIMAIANLS CCls
SRS X+Y=2x103M

AUMU A0 MU CCly 85
AUMU AN Hy0 1

0025 -85 sigjY=21.25X

0
OAMS 21.25 X + X =2x 103 M 816j X = 8.98x 105 M

GISsAtMUALHIsIuritheu Ak 8.98x 10° M

3
f. 1Ems mi X chAunGiuigath sy meginnts CCl

1912 2x10° M- X thAvnGAujigatheg §a

AUMU ;AU CCly 85
AUMU AN A Hy0 1

xplei]

ITAME X+Y=9x105 M
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AUMIU ;AU CCly 85
AUMU AN Hy0 1

xple]

Y
025 _ .
=85 ®EjY=2125X

1

ITRMS 21.25 X + X =9 x 10° MSIG] X = 4.04 x 10¢ M

Gis:AtMUAWHISIusgthas § /i 4.04x 100 M

Gam: gigpunsihcpowifngag)amsusamniiuncifms
9. fi. Ut EMIMa Ui agAsmusihtashwisuii Ay

2 Ag + 2 H.SO4 — Ag2SO4 + SO2 + 2 H0
Cu + 2 H2SO4 — CuS0O4 + SOz + 2 HO
SOz + Brz + 2H20 — 2 HBr + H2S0O4

Let X is mass of Aqg,
H,S0. + Ba(NO3): — BaSO4 + 2HNO3 d

then, mass of Cu=1.12 - X

iiG9: mi X thied Ag 1912 1.12 - X thE185 Cu .
or let X is mass of Cu,

mySmiRIbGams % n (Ag) + n (Cu) =n (BaSOs) then, mass of Ag = 1.12 - X

112 -X _ 1.864 gy 103 Let X is mole of Ag,
64 233 Y is mole of Cu
NIAMES X =0.864 g I912 m (Cu) = 1.12 - 0.864 = 0.256 g Then m (Ag) + m(Cu) = 1.12

108 X+64Y =112

+

iiGle mia x thégstnu Ag 811 Y thigsgns cu
Let X is mole of Ag,

mursEmigaRinms % n (Ag) + n (Cu) =n (BasOs) - (Ag) = 108 X

810 A X+Y=8x103 §f X+2Y=16x103 m(Cu) =1.12-108 X
or let X is mole of Cu,
Then m (Cu) =64 X

RS X =8 x 10° mol §11 Y =4 x 102 mol m (Ag) = 1.12 — 64 X

108 X +64Y =112
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HGIS: gaumAreg 0.864 g 811 gauehiiinigg 0.256 g
iGms M X thGgsHn Ag I1stsusiag Cu=1.12g- 108 X

MEEMINIGITANS Y2 n (Ag) + n (Cu) = n (BaSOq)

112 -108X 1.864
64 ~ 233

32X +1.12-108 X =(8x 102 x 64) =0.512

Yo X +

=8x103

SRS X =8 x 103 mol
HGI8: Hheu{mAtag 8 x 10° mol x 108 g/mol = 0.864 g
gaugntinimg 1.129-0.864 g =0.256 g

Tifes ma X thEgsgmu cu iR siaudias Ag=1.12g-64 X  Let Xismole of Ag,

Then m (Ag) =108 X
m (Cu) = 1.12- 108 X

112-64X _  1.864 112-108X

Yo =2 222 X = 3 n(Cu) =
/2 108 X =33 ~8x10 Ce

112-64 X + 216 X =(8x10°%x216) = 1.728

musEminunsihms %2 n (Ag) + n (Cu) = n (BaSOx)

or let X is mole of Cu,
Then m (Cu) =64 X

FIATNS X =4x 102 mol m (Ag) = 1.12 - 64 X

1.12-64 X

HGI8: gheugfintag 4 x 10° mol x 64 g/mol = 0.256 g n(Ag) = —

Heau{mnreg 1.12 g—0.256 g = 0.864 ¢ Let X is mass of Ag,

then, mass of Cu=1.12 - X
) <k n(Cu) = 1.1624—x
mysEMIANIUNRGAM S %2 n (Ag) + n (Cu) = n (BaSO.)

or let X is mass of Cu,

IEGHE: M X /g CuIS1: 1.12 - X thE18U Ag

112-X X 1864
Yo — =

- 8x103 then, mass of Ag =1.12 - X
108 64 233

1.12-X

n(Ag) B 108
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64 (1.12 - X) + 216 X = (8 x 10 x 64 x 216) = 110.592 Let X is mass of Ag

GRS X=m (Cu) = 0.256 ¢ Y is mass of Cu
Then m (Ag) + m(Cu) =1.12

joIs: tasymfitag 1.129-0.256 g = 0.864 g o R

1G9 M X thi1agivas Ag 811 Y thE18ditas Cu

MEEMINGRGHMS %2 n (Ag) + n (Cu) = n (BaSOs)

X Y
° 1 —_— -3 =
{5 Tos Tea " 8X10° U 64X+216Y =110592

X + Y=112

SRS X =0.864g 81 Y =0.256 g
HGIS: Heu{mAIA] 0.864 g 81 therugiiinimg 0.256 g

> Gam: giqpuagih pawitgre) amesamniiumsiims
9. 11592 MySMISNILRGTAT S n (H2804) = X +2 Y = 16 x 102 mol

1158180 H2S04 Y § 18T 16 x 102 mol x 98 g/mol = 1.568 g GrujB{fiAyia 10 %

" . 1.568 g x 100
IR M SH1FU HoS0s A G RUTU = 0 =15.68 ¢

. o 15.68 g x 100
G IS SAUMUM AT A I Ajji SO =— e = 80%

16 E bz 1916180 H2S04 Y ERT 16 x 10 mol x 98 g/mol = 1.568 g GrujB{pfinyia 10 %

1.568gx 100
10

I O S 81 FU HoS04 AU §FUTU = = 15.68 ¢

MAIW HoSOs FUFY = 100 % — METW H2SO4 GRUUHAY

=100 % —10 % =90 %
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TR O S 818U H2S04 U § AUTU = 18U HoS0: GRUTURAY + H18U HoS0s 8U R

15.68gx10 N 15.68 gx 90
B 100 100
15.68 gx 100

HEIS:AtMimM Ay It agfi Ha2S04 = 196g 0%

= 15.68 g

8. suitrsiuBmifuinagls H.so. thytw§a
H2S04 + 2 H20 — SO4> + 2 H3O*

ENWIEA % IS Ay It Agfi H2S0: 21RIRGIFINENE IS I grum Sty pH = 2

N 1 1568¢g )
ROUHRMS nHzSO4=598—i=8X10 mol
mol

[H:0*] = 10°H = 102 M
FUEMIAWNAYITIMS [H:0"] =2 Ca 816f Ca=5x 10° mol / L
8x10~2 mol

—3 mol
5x10 :

HGISTNmMS Va= =16L

(. . gisoiegisSmidtunmgy 238 U thingu 235 Pb
206 4 0
g2Pb+8; a+6_7f

- Nt t
9. mysusmiln—=—-kt=———1In2
No t1/2

FENS t=7.6x 10° §1 811 t1=4.5x 10°

7.6x 108

= _ZE;EBEX“12:_0117

0.889 Mgy
15y

- N¢
(ST S N_ =0.889 =

o

sigjigsmyy 238U thnurslauniing 0.880 gy Sumgy 235U iluia] 1My
I: Ggsmgy 238U firumsGlunath 25 Pb = 1 M1 - 0.889 MFH = 0.111 N FY
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A isH (it sme QITDY 012
GOISIUNMS 2387 = G880 o~

Sasd: ninme N _ o ggo L 0882 MAY _ 889iNDY
PAmS g E YOt T gy 1000 m1g

sigjissmygy 238U tnnurslauniing 889 gy Snimgy 238U dwIa 1000 MY
I: Ggsmygy 235u finumsGiunth 235 Pb = 1000 HMIH — 889 #MIGH = 111 NFY

B it sme LY 012
YOISIUAMS 2387 = g0 g~

Sasd: ntnme N _ o ggg L 0880 MY _ 889 MY
5N, 158 100198

sigjigsmygy 28U tnrurslauniing 8.89 gy Shengy 28u illuie] 1005y
1912 GS8Mgy 238 U liinum sGiunth 205 Pb = 10 M HH - 8.89 MIGH = L1L MNJH

. - 206pb  111#15H
HoIssndums - 238y =

0.889 1Y _ 889 MNjY
158 100#15Y

[ [ a N
SSRSN: M S N—t =0.889 =

o

sigjGgsmygy 25U thnuislauniing 889 Mgy Sy 25U tduie] 100 NHY
I GSsMgy 238U fiirum sUlunth 235 Pb = 100 Mg - 889 MY = 111 N GPY

HGIS IR sme 111Mpo 0.12
OIS 230, = gg o mps =~

i ut]d Shsa{pnth: v)s fuph

Tel: 098 472 472
Prepared by Kimsrea HOUN
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1RSSR R IBHIS) SN IBHIFS (BINN+9) SKIRE............
fusge ISR b ie S8 ¢ oo

85 DHIKRSRI HESRR §65:6005 M 40

Siip ]H[pnjh NIE Tel: 098 472 472

ISNNEGRINEESIRE &

9. mysBMIGgnUI] smsadnann s siwhngywhsang) Saftnisnmawhng
q]‘lt'itnjﬂsﬁmnqmﬁhﬁmﬁﬁmﬁﬁgmmﬁﬁm Islinnmywanpiing 9 IHe8udmi
WwAnYmse A— siAGT Ewigpui])s SanEmas: gujwaisienme:

«;gm ¢ 17§81 [Al., [Al k 811 t Eiipu [AL, thAtMT Atsignn: t=0, [Al thAtM A 18]
2AN: t=t k MIBHAL 84 s uping
2. IRTU NI MARAMUTERRY (t 1) NISSWHGIYE? GIAMIATMIENAESHIUIN
AL HRIBI])S k 1SQIAGEIYE? GIUEM
w iiptunug s Figjugwivnd A N 0.25 M 161 015 M 1T k=67 x 104512

IEE]: In 3 =1.099, In 5= 1.609

ArsiumAs u AuuniiSsEimsudahuwiing:doudilt umsagautiinmiué:

Pt | Co?* (2.0 M), Co** (0.010 M) || Cr®* (0.50 M, Cr207% (4.0 M), H* (1.5 M) | Pt

fi. Gieuitui e miB i umcinigiarsisdnnnmn 208 K

2. AN AEINHF S GunT Shulpugnyn LR N O A ALY IS

I8 G]: E'(Co®/ Co?) =182V, E'(Cr:07*/ Cr3*) = 1.33 V, (1.5)* = 292, log 3.34 = 0.52

m. fi. HNA 20 om® FIEMyHWEIRPARYMywHARisiia megrumsmysignain
558 60cm® 811 GIMEAGSS 40 cm® (N ﬁ&ghmgmngm)ﬂ giinnajusgisfyimyrs
sPseosies: e Hui
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2. IRWNS NS AISIHMS 87 HUIMUUW{PIAG T INWA 1L APUWIS: G {UARY My H[ e

BruSIrtas 3.05 L IRGGRUMSMUSSHAMAGSS 1.7 L1 ANNAJUBE §IFiussfimuyIs:

IR AIRHGIM U USH He 18] 7.57 ANNFJUBSHIUH U ROHIMUISS

G. SRR AN WHWGEAN S 50 mL FE UM WIHE G AIH Cu(NOs)2(ag) 0.05 mol/L 8§ AgNOs
(ag) 0.1 mol/L {pim StaIGHFuSImannwoigHi s 250 mA ghma T iighasisivamgaiis
mstgs iIslutiagaus§imadmnimims 40 s1§2

I G]: Cu =64, Ag = 108, E' (Ag*/Ag) = 0.8V, E’ (Cu?*/Cu) = 0.34V, E' (H20/Hz) = -082 V,

E’ (O2/H20) = 1.23V, E' (NOs/NO) = 0.96 VV (b fefign § boam)

6. NS Ay I AR E AR I N WY L 8 E1S HCOOH 0.1 mol/L 8i HOCN 0.1 mol/L I8183H AN
MAN 25°CT 7. IR AU AR W AIAIS 818 pH 811 pOH Aty HS?

2. ANNAUNU{UIA ¢ A Ans A TE U SIHEISHN AJ U AT NS S

I5G] Ka (HCOOH) =1.8 x 10* Ka (HOCN) = 3.3x 10%, v51 =7.1,log 7.1 = 0.85 (W [8A N §1 boaly)

o. fi. ilgjip]urguitmmaAnmuitamgigjrony i X 8 Y 1 galgpanymsfinng
#1600 400 g IsmM AR 91 6 IZMUEn gRignanjrymsinndmeiey X 81 v isTaini 25 ¢ 84
200 g )R E T 1My Y MsiwnumAramuiiadgisanistwnumanamuiiamg x?

2. gywitsiafwinius-238 658 1 mg §1 0257 mg Ispinn-206 tiumsyanmidfuafwh njy-

[=3

2381 susnumAR M uiiais mittuafwh nu-238 thi i guHsainn-206 1AJ 4.5 x 10°
gIssMWMUGISE?  1AG]: In2=0.693, In 1.297 = 0.260

. gifh 81 Sinmeasdmigsnnmy All Rights reserved

ﬁ. Fe(CN)64_ + MnOA_ — Fe3+ + Mn2+ + NOS_ + C02 + HZO HOUN KIMSREA

. Ks[Fe(SCN)g] + Naz2Cr207 + H2SO4 — Fe(NOs3)s + Cr2(SOa)3 + CO2 + H20 + NazSOs + KNO3

BSU + X > 138cs+ Rb +X

gignm st hansangnidis ifin:myndsmeifshihw
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1RSSR RSB SHIBHAFS (BIN9) SRIRE............
fusge ISR b ie S8 ¢ oo

85 DHIKRSRI BSERR §65:6005 M 0

UTHES ﬁj‘ﬁﬁé’ir[ﬁjﬁmmh NIE Tel: 098 472 472
SeRMIINBISNINEENaREEQRR ME
9. A. GIUINMAENHESH [Al, [Al, k 811 t Iy [Al thAtNG A 18180n: t=0, [A thAUNY A 18]

gan: t=t k misif) §a thiwsnagsing All Rights reserved

Y .. HOUN KIMSREA
v sudmi wingnits A -

SRR __AlA]
m{ﬂ S{hn m

mﬁﬁmﬁm{ﬂsrmhms ﬁjﬁm:m{ﬂsmﬁ“ =k [A]

. - A[A] _
mursmingf]syingidnemms —— ==

A[A]

= k[A] 81g] =kt

rmnmﬁﬁmﬁj:msmnammtmjm diAl _ —kt

[A]

dnAnndiwnt=0 8 t=t ndams f[ A - ke

(A] 0
HOISTAmMe¢nAEsh [Al, [Al k 821t & In[A]—[Alo=—kt

al o e [A]t _ [A]O _
UIWAMS¢NAFSA In—— =-kt 4y In——=kt
[Alo [Ale

2. I INSMARAM AU HAY (t 1) NSSWHGIYE? GIAMinuimi¢A§shiuin

TUI N UM AR MU A it n utd U RIMg I UHYMa UG Ui ngHama
anmtsAtmiiiie

muSwy S wisis: s mARLMUERAAYINN t = tw, [Alc=[Alo/2
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1y Ao _ 2 _ 0693
k  [Alo/2 k k

iR m s ayS miity: IﬂﬂjmﬁﬁnmﬂjLﬁﬁ“ 102 =
AL HRIBI])S k 1S IAGEIYE? GIUEM
iyj]swhng

[A]
w iiptiwnuti s Fidujugwiunyd AN 025 M 16 015 M 1T k=6.7x 10452
[Alo [Alo

1
MyIUESs In—=kt &6j t==xIn—
JUBR AL, N T

ISR S k NGENSRAGEM 5% min? Bt h* iyns k= =%, min §# h?

munsyinyinms [Alo=0.25 M, [A]:=0.15M, k =6.7 x 10* 5!

1 «In 025M _
6.7x10"4s"1 015M 6.7x10 4s"1

5
X In=
3

) 6.7x104s1 X(In5-1In3)=7615s=13 NG

HOISItwiin ki PU{FIIMIT t = 13 min

A, GirsiioiuBmidsinrumsifiargiasiaognpmn 208 K

1 o

FnN) Co** (aq) — Co* (ag) + 1 e

Savlpuunhenuisiuopings:
9 sydmimannmui uSywInSsinGAYisy Co*/ Co?
Co*(agq) + 1e¢ — Co? (aq) E° = 182V
- 0.0592 V \ 0 .
MEBUEMIE=E" - TlogK [N E'=182V 8din=1,

[C0%*] = 2.0 M, [C0%] 0.010 M

sgssessnes: e Huidd
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o 0.0592V 2+ Co2t 20M
ninms E=182V - — log[co3+} it K = e = = 200

[Co [Co3+]  0.010 M
E =1.82 V- 0.0592 log 200 = 1.683 V

sumimannmuduSgurInisingayisy cr.02/ cre

Cr207% (ag) + 14 H* (aq) +6e —2Cr¥ (aq) + 7TH20 () E° = 1.33V
- 0.0592V R -
MufdtMIiE=E°’ - TlogK FHAU E°=1.33V 811 n=6,
[Cr3*] = 0.50 M, [Cr2074] = 40 M, [H*]=1.5M
- 0.0592V
RTNNS E=1.33V - TlogK

[Cr3+]2 _ (0.50)2

K= [Crp0,2 ]x[Ht]14  (4.0)x (1.5)14

=214 x10*

- 0.0592V
ITAMS E=1.33V - T log 2.14 x 104 =1.365 V

Fin Lijﬁji:"iﬁ"lih: PUjMIC Cr,07* (aq) + 6 Co* (aq) + 14 H* (aq) — 2 Cr** (aq) + 6 Co** (aq) + 7H.0 (1)
IMTATN S AE = E (Cr207% /Cr3*) — E (Co3*/ Co?*)
=1.365V-1.684V =-0.319V

iitu oSmimAnamui sy Inisingagisy cos/ Co?
Co*(ag) + 1&¢ — Co? (aq) E° 1.82V
0.0257 V

MupSMIE=E" - ——InK MU E =182V8in=1,

[Co?*] = 2.0 M, [C0®*] 0.010 M
0.0257V _ [co?™]
N7
1 [Co™ "]
E=1.82V-0.0592In 200 =1.684 V

OUMS E=1.82V -

[Co?*] 20M
NS K = =

T [Co3+] T 0.010M =200

sBmimARAMuUi 8 ywInssingAYiSy Cr.0%/ Cré
Cr207* (ag) + 14 H*(aq)+6e —2Cr¥* (aq) + 7H0 () E’ = 133V

sgssessnes: e Huidd
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- 0.0257V 2 o
MUMEMIE=E’ - Tan Fiifu E'=1.33V S#1 n =6,

[Cr3*] =0.50 M, [Cr2074] = 40 M, [H]=15M

o 0.0257V
IS E=1.33V - Tan

[Cr3+]2 _ (0.50)2

= = 2.14x10*
[Cry0,%7]x[H+]14  (4.0)x (1.5)14

i K=

o 0.0257V
IOAMS E=1.33V - T In 2.14 x 10*=1.366 V

Fin tijﬁji?iﬁ'liﬁ PYjmMIe: Cr:07* (aq) + 6 Co** (aq) + 14 H* (aq) — 2 Cr’** (aq) + 6 Co* (aq) + 7 H2O (1)
SR TS AE = E (Cr207% /Cr3*) — E (Co3* / Co?*)
=1.366 V-1.684V =-0.318 V
1H6m sofmimanamuuindyy
HAARY (MANH)  Co® (aq) — Co* (ag) + 1e E°=1.82V
Ay (M) Cr,0:* (aq) +14H" (ag) +6 e — 2 Cr* (ag) + 7TH,O () E° = 1.33 V
i m s sudmesrgmi: e

Cr,0:# (aq) + 6 Co?* (aq) + 14 H* (ag) — 2 Cr* (aq) + 6 Co* (aq) + 7H20 (I)

AE® = E? (M§#) - E° (MINNH) =133V - 182V =— 049V

[CI‘3+]2 X [C03+]6
[Crz077] x [Co%*]6 x [HH]14

Q =
FERU [Cr072] = 4.0 M, [Cr**] = 0.50 M, [Co*] = 0.010 M, [C0?] = 2.0 M §# [H*] = 1.5 M

(0.50)2 x (0.01)°
(4)x(2)6 x (292)

- 0.0592V 2 -
mﬁﬁjﬁﬁ’liE=E°—TlogQ I EC=-049VSan=6

ISR mMs Q= =3.34x 1018

- 0.0592 V
Bms E=—-049V - ———— log 334 x 107

sgssessnes: e Huidd
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GoIs aginHguSorunlsgAnIS Al — 049V +0.172V =-0318V
Myjuy§ AG°®=—nFEcen = -6 x 96500 J/V.mol x (-0.318V) = 184.122 kJ / mol
iiifc sudmimAnamuin Syt

HAMARY (FMANH) Co® (aq) — Co** (ag) +1e E°=1.82V

(M) Cr207 (ag) + 14 H* (aq) +6e —2Cr¥* (aq) + 7H0 (I) E°=1.33V

o s suBmig M

Cr20+* (aq) + 6 Co?* (aq) + 14 H* (aq) — 2 Cr®* (aqg) + 6 Co3* (aq) + 7 H20 (I)

AE® = E® (ME#) - E° (MNNE) = 1.33V-182V =—-049 V

_ [Cl‘3+]2 X [C03+]6
~ [€ry07%7] x [Co2+]6 x [H+]14

Eiify [Cr2072] = 4.0 M, [Cr¥*] = 0.50 M, [C0%*] = 0.010 M, [C0?*] = 2.0 M £ [H'] = 1.5M

(0.50)2 x (0.01)°
(4)x (2)6x (292)
0.0592V

mypgsmi E=E~———1nQ [HUEC=-049VE&iin=6

o 0.0257V
IUAMS E=-049V — T In 3.34 x 108

I SRms Q= =3.34x 1018

Hors:aginsgusorunisgirurs g - 049V +0.172V=-0318 V
MUJUY§ AG® = — nFEcen = — 6 x 96500 J/V.mol x (-0.318V) = 184.122 kJ / mol

m. A. giinnasusgisfpmyrs:

[

M CxHy t{Hm

L4

s mifprAnysim ; (x+2) 0 — xCO; +

X cm?

60 cm?
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ihwaaisfywanghugeanmymibiams

\' (CxHy _ \' (COZ)
1 - X
20 60

== qniame x=3
1 X

\' (CxHy _ \' (HZO)
Y/Z
40

=y~ Hams y=4
/2

HGISjUBSISAHMUYIS:H CaHa

2.1i69 Annfjusggrielivaidmyis:

mi CxHy thiEmy

v Ly

mi athmaanisisms 81 b thwadpimy

PEMIPARYGITEAGEMY CHy + (x+3) 02 — xCOz + ZH:0

b (x+§)b x b

CHs + 202 — CO2 +

a 2a a

mupgEmingims a+b=1L (1)

2a+(x+ Db =305L (2)

Xb+a = 1.7L  (3)

mu (1) 8 @) miameb="2 f1 a=1-b=1-22=11

X x—1 x—1
x—1.7 - 0.7
a= Si b=—

x—1

X
2(55) +(x+ D) (5) =305

2Xx—3.44+0.7x + %=3.05x—3.05

ngeunn (2) ifhms

sgssessnes: e Huidd
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0.7y
4
07y
4

07y-14x=14  gigj y=2x+2

2.7 X + =3.05x+0.35

—0.35x =0.35

HGISJUUS G IFIIURSHIMUS CaHax+2
HIUH S IUFIIURIAEMUIS:

ITHR IR MU USH He 183 7.5

4

M (CXH2X+X) _

d (CxH2x+2)/He) = M (He) 7.5

M (CxHax+2) = 7.5 x 4 = 30 8] 12x + 2x +2 =30 812 X = 2

OIS BN M SJUE§YINFIUASH{EMYA CoHe

8. 1651 AnnfjusggrFivnifpmys:

M CxHy mi‘g[gmg

mi a hnganjsivms 8 1-a mwafiEmy

wmipAnysinedumy CHy + (x+3)02  —  xCOz + ZH:O
1-a (x+§) (1-a) X(1-a)

CH4 + 20 — CO2 +
a 2a a

MuEmMInGime

2a+(x+ %)(l—a) =305L (1)

X(1-a)+a=17L (2)
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1.7 - x
1-x

my (2) ndams a=

wH a= L% figroga (1) nfams

- X

2(=) +( +)(1-35 ) =305
34-2x
Bt ) e (- ) - 508
3.4 —2x+(x+%)(-0.7) =3.05-3.05
34—-2.7x 4—305 3.05x
~2-0.35x =0.35
0.7y-14x=1481G[y=2x+2
HOISJUHS G IFIIURIHIMUEA CxHax+2
¢ ighaisiaamynifismstips isluntiagruimadinnimims 40 &2
s Adinrums g W RINWH Agh, Cu?, NOy, Hz0, H* 811 OH-

muTmesmundams

E°=1.23V

=096 V

E°=0.80 V

E®°=0.34V

°=-0.82V
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Ihwiuin Agt thiarianiginthafuin cu §oIs: Agr Samningysiuin cu
myn () AT + € — Ag
LIS EUGhIgRinhhtd kbl

m o
MUJUEE Ny = M—:gg 8§18 My, = Npg X My,

tihtis M (Ag) = 108 g/mol

mol

Nyg = Nagry = CyV =0.10——x0.05L = 5x 1073 mol
I MS my, = 5x 1073 mol x 108 g/mol = 0.54 g
JOIS tH TN MARAISI MG 0.54 g
UIUNAUN Agt MSHMINEAYHAT I sHUih cu? Shiny
mge (-) Cu®* +2e — Cu
aansisn st Uit Ag SIRIG AYHS

Ne )X F

Mmujusg§ Q =It=ne- xF §igj t= :

N M-y = Nagry = 5x1073 mol, I =250 mA =0.250 A

ne)xF _ 5x1073 mol x 96500 C/mol

=1930s
0.250 A

niams t =
ihwHiuSImaimnimins 40 ¢ incndamsiunuihuduin cu mingny

=(40x605s)—-1930s=470s

o 1 It 0.250Ax470 -
MENSMIing = 5 Ny = —— = > = 6.08x10* mol
2 2F 2x96500 C/mo

i ms me, = 6.08x10~* mol x 64 g/mol =0.039 g
gors:Hiauinm:edtinnntsinmegaiag 0.039 g

jols:asiaamgaifsia my, + me, = 0.54g + 0.039g =0.579¢
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¢ . IR g AR AN WHAGAIS iAS pH Al s?
ruitruirs S mifuinagismaSywathywin
HCOOH (aq) + H,0 (I) HCOO" (aq) + H;0" (ag) K, =1.8x10"
HOCN (aq) + H,0 (1) OCN (ag) + H;0" (aq)  K,,=33x10"

1if9 mudSmusgspangoETams [HsOf] = [HCOO] + [OCN]

[Nt [HCOOH] = C1 = 0.1 mol/L [H:O']? = KaXC1 + Ka2x Cz

[HOCN] = C2=0.1 mol/L Then, [HsO"] = \/Ka1C1 + K,2C,

a1x[HcooH] Kaix ¢q

_[HCOO™]x [H307] shaj [HCOO']—K
B ~ [H30%]  [H30%]

o [HCOOH]

o - Kazxmoeny Kazx ¢y
S0 10N = T 04T = THy0t)

_[OCN~]x[H30%]
2= [HOCN]

al a - al Kalx C1 KaZ XCZ
MudEMITHGGAANTM I IL [H3O'] = [Hz0%] + Hy07]
d 3 3

[H30*]? = KaaxC1 + Ka2 X Cz
=(1.8x10%x0.1) + (3.3x10%x0.1)

=51x10°M

RS [H3O*] = 7.1 x 103 M

muyusg pH = —log [H3O"] =-log 7.1 x 10° =3 - log7.1 = 3-0.85 = 2.15

gorsaiams pH =2.15
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TGl mb x mAmoiduegumsifuinngls HCOOH
y tnfivniiinug grumsnfuiinayls HOCN

HCOOH (aq) + H,0 () HCOO" (aq) + H;0" (aq) K,,=1.8x10*
0.10 - x X x+y

HOCN (aq) + H,0 (I) OCN' (aq) + H;0" (aq) K,,=3.3x10*
0.10 -y y ytx

fintis [HCOOH] =0.10-x = 0.1 mol/LL

[HOCN]=0.10—y = 0.1 mol/L

- +
Kot = HCOOTIXH307] X (XtY) _ g g 904
[HCOOH] 0.10

- +
[HOCN] 0.10

WARTY K IfJUSNRTY Ka SR MS i’: 1.83 8igjy = 1.83 X

y (x+y) —x (x+y)
0.10

=33x10%-1.8x10%=15x10"*

winAHlY Ke SAS0AIY Ka tihms

sigj y?—x*=15x10?

Wny =1.83x il EMIS M e X =25x10°M,y=1.83x25x01%=4.575x10° M

Gams [HsO ] =x+y=25x10°2M+4575x10° M =7.1x 103 M

mujutg pH = —log [H3O"] =-log 7.1 x 10°=3-1log 7.1 =3 -0.85=2.15
geis:ndams pH =215

No part of this compilation may be reproduced or distributed in any form or by any
means, or stored in a database or retrieval system, with the prior written consent.
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iém mu x Amniinue gumsiduinaygls HCOOH

y chiuntiinue grumsifuiinayls HOCN

HCOOH (aq) + H,0 () === HCOO" (aq) + H;0" (aq) K, =1.8x 10"
0.10 - x X X+y

HOCN (aq) + H,0 () OCN" (aq) + H;0" (aq) K,,=3.3x10*
0.10-y y y+x

fints [HCOOH] =0.10-x = 0.1 mol/LL

[HOCN]=0.10—y = 0.1 mol/L

_[HCOO™]x[H30"] x(x+y)

h =1.8x10%
[HCOOH] 0.10

OCN~] x [H;0% X+
Kaz:[ | x[H3 ]:Y( !>'):3.3X10_4
[HOCN] 0.10

> a > al + - +
WAHTY Ke dASaalY Ka IHms 4 y()) 1:; O*Y) _33x10%-18x10%=1.5x 10*

sigjy?—x*=15x10°

Uifi x =054y fi IS M8 SIS y = 4.60 X 10° M, x = 0.54 x 4.60 x 013 = 2.484 x 10 M
nfams [HO] =x +y =2.484x 103 M +4.60x 103 M =7.1x 103 M

mujutg pH = -log [H3O*] =—1log 7.1 x 10° = 3 -log7.1 = 3-0.85=2.15

jorsaiams pH =215
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G 6 ma x A oidegumsifuinngls HCOOH
y thauntling grumsnfuinnyis HOCN
HCOOH (aq) + H,0 (I) HCOO" (ag) + H;0" (aq) K,;=1.8x10"
0.10 - x X Xty

HOCN (aq) + H,0 (I) OCN (aq) + H;0" (ag) K,,=33x10"
0.10 -y y ytx

Ity [HCOOH] =0.10 —x = 0.1 mol/L

[HOCN] =0.10-y = 0.1 mol/L

- +
Kot = [HCOO™ | x [H30™] _X (x+y) —18x10%
[HCOOH] 0.10

[OCN"]x [H30%] _y (x+y)
KaZ = =
[HOCN] 0.10

=3.3x10*

uIAHTY K IGJUSARTY Ka nShms E: 1.83 1]y = 1.83 X

y (x+y)+ x (x+y)
0.10

=33x10%+18x10%=5.1x 10"

WY Ka Yasanly Ka ams
sigj (X +y) (x+y)=5.1x10"°
Wy =1.83x gasgdmas:ndams (x + 1.83x) (x + 1.83 x) =5.1 x 10°

X=25x10°M,y=183x25x01%=4575x10°M
ms [HsO =X +y=25x 103 M +4.575x 103 M = 7.1 x 10° M

mujutg pH =—log [H3O"] =-log 7.1 x 10°*=3-1log 7.1 =3 -0.85=2.15
gorsadams pH =2.15
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BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
G0 ma x mAvnoigue grumsifujnnyls HCOOH

y thavmiitiruegrumsifuinngis HOCN

HCOOH (aq) + H,0 () === HCOO" (aq) + H;0" (aq) K, =1.8x 10"
0.10 - x X X+y

HOCN (aq) + H,0 () OCN" (aq) + H;0" (aq) K,,=3.3x10*
0.10-y y y+x

lihtis [HCOOH] =0.10—x = 0.1 mol/L

[HOCN]=0.10—y = 0.1 mol/L

_[HCOO™]x [H30%] _ x (x+y)

=1.8x10%
[HCOOH] 0.10

al

_[OCN~]x[H307] _y (x+y)

= = = 3.3 x 10
® [HOCN] 0.10

WAty Ka IR uShnly Kae ntdams § =0.54 sigj x = 0.54 y

y (x+y)+ x (x+y)
0.10

=33x10%+1.8x10%=5.1x10*

winAHlY Ke UASARTY Ka ihms
sigj (x +y) (x +y) =5.1x 10°
Wy =183x ghadmaus:ibams (0.54y +y) (0.54y +y) =5.1x10°

y=4.60x10°M, x =0.54 x 4.60 x 01°=2.484 x 10° M
fams [HsO ] =x+y=2484x10°M+4.60x10°M = 7.1x10°M

mujusg pH = -log [H:O*] =-log 7.1 x 10® =3 - log7.1 =3-0.85=2.15
jorsinms pH=2.15

> GaM: giqpunstns ot amussamaliumsiims
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2. AN AMG{IIA¢ AT Hnaasidumsipm s A A AfANIN LIS
1A ¢ ABHR A WA IS HCOO", OCN-, OH-

Ka1x[Hcoon] _ 1.8x107*x0.1

= = -3
[H30%] 7.1x1073 253x 10" M

[HCOOT] =

Kazx[HocN] 3.3x107%x0.1
[H30%] ~  7.1x1073

[OCN] = = 4.64x10° M

OH] X [H:O"] = Ke §ia] [OH]=—S—  LOX10TH o 0 x10%m
[OHTx [HOT=Ke 818] [OH]= 0 =7 1x 103 - 140X

How to calculate the pH of solution mixture of weak acids
[H3O*]? = KaaxC1 + Ka2 X Cz
taking negative logarithm both sides, we get
2(-log [H3O*] = —log C1(Ka1 + Kaz) (Ci=C2)
2 pH =-log C1 - log(Ka1 + Ka2) (pH = -log[H30O"])

b b
2 pH =-log C1 - log Ka1(1+%) Iog(a+b)=Ioga(1+;)=loga+log(1+;)
al

2 pH =-log C1 + pKa1 - log (1+ %) (pKa = -log Ka)
al

By C1=C2=0.1 mol.L?, pKa1 =—log 1.8 x 10 = 3.74, Ka2 = 3.3 x 10*

33x10°%

=— 1+3.74 - +—
2pH=-log 0.1 +3.74 —log (1 1.8)(10_4)

Therefore pH = 2.145

No part of this compilation may be reproduced or distributed in any form or
by any means, or stored in a database or retrieval system, with the prior
written consent.
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b ifimg Y sisiwnumanamulinisanisiwnumanamuiiameg x?
AN N A M URTRITATME X

a m t
muaEmiin— = kt= —1In?2
mg ty,2

» a In2
[N t=618 mo=400g, m=25¢ sht%z%

400 6
IN:ln— = —1In2=1n16=41In2
25 ti1,2

6ln2 6 3
T4 2

goissiams ty, (X) = i

AN AURAMURTAIURImE Y

o m t
mupEmiin— = kt= —1In?2
mg t1,2

2 o n2
FENMS t=6 82 mo =400 g, me=200 g shtl/z:"T

400 6
1 In— = In2=1In2
200 t1,2
6In2 _ 6

HOISITAmS tw (Y) = —=1=06

WA INUAAMUREITROmE X iguShiwinuaamuiiaiuaime v ndhms

t1(X
%( ) 3/2

uY) 6 12
2
gigjtw (Y) =4t (X)
HGISIm Y SiwnuAAMuiE 4 dagisthaiwmaamuuiinms X

2. AANIH WM UGS

m t
mujryg In— = ——1In?2
mg t1/2

t1/2 m
A2 w1n 2o
In 2 my

nams t =
sgssessnes: e Huidd
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1 mol 4 206 g Pb {RINSUIIAIGA 1 mol §f 2389 U

238gU

G e grums 0.257 mg P imzidms m U) Sun = 0.257 mg 5 B

=0.297 mg Pb
bt tye = 4.5 x 10° years £2 me (U) = 1 mg

81gj mo (U) = me (U) + m (V) Gfun =1 mg + 0.297 mg = 1.297 mg

- t 45x10° 1.297 o
famest= =2 xln 2= 2227 yn="=1.7x10° 57
In my 0.693 1 a

. 80 Sadinmeaudmi
. Fe(CN)s* + MnOs — Fe** + Mn?* + NOs + CO2 + H.O
gueudmiggmimsiimanmuping
Fe(CN)s* + 30H,0 — Fe¥* +6NOs +6CO; + 60H" +6le
MnOs + 8H" + 5 — Mn?** + 4H;0
HGIS U TMIA N MIMuIEMmAR M UUHAY
5 Fe(CN)s* + 61 MnO4 + 188 H* — 5 Fe®* + 61 Mn?* + 30 NOs +30 COz + 94 H,0
SurutmiggmimsiGulipu{BuGSSHANRRY
1G9 fhadmigmimuiGulpuipuGgsHANARY
+2+2 -3 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, ——> Fe** + Mn*' + NO; + CO, + H,0

ITNSAANNGWAGSSHAIARY Fe=+2, C=+2 81t N=-3 I :G§SHAIARY]

o

61 fji1 1 mol Fe(CN)s* 8BS SHAMNARYGW G AIjUTAT 5 §R 1 mol MnOx

JoIssauiminnjmimuelfulpuiprudssynaiany

< 1 1 3

5 Fe(CN)s* + 61 MnOy + 188 H* — 5 Fe®* + 61 Mn2* + 30 NOs +30 CO; + 94 H,0
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tigv juaudmimngmimstivipupudysyndnny

+2 +1 -2 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, —— Fe** + Mn?' + NO; + CO, + H,0

61 §jid 1 mol Fe(CN)s* SN G SSHAMIAAYGUIG: pI{UIAT 51 1 mol MnOy

JuIssuimigmimulGul{puEuGgsHAannY

5 Fe(CN)s* + 61 MnOg + 188 H* — 5 Fe* + 61 Mn?* + 30 NOs +30CO, + 94 H,0
ém gurudmigryymimusifivipuprutgsynmnny

+2 40 -1 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, ——> Fe** + Mn?" + NO; + CO, + H,0

ISISRANNAWRGSSHALIAMY Fe=+2,C =08 N=-1 IR :G5sHArIAAYIAS U] 61

fiil 1 mol Fe(CN)s* 8N G§SHAMARYBWESAI{UIAT 5 F{i 1 mol MnO«

HGIS suEMIgMImsTEulpuEUGgsHARAY
5 Fe(CN)s* + 61 MnOs + 188 H* — 5 Fe®* + 61 Mn?* + 30 NOs +30 CO, + 94 H,0
& ¢ fhasdmigryjmimuiGui{pupusgsHn

+2 -10 +7 +3 +2 +5
Fe(CN)¢* + MnO, —— Fe** + Mn?" + NO; + CO, + H,0

ITNSAAANGWRGSSHAIAMY Fe=+2, C=-1 81 N=0I1:G§SHAMAAYIASAIUIRA] 61

o 1

fil 1 mol Fe(CN)s* 8N G§SHAMARYS WG AJIUIR] 5 {3 1 mol MnO«

1 <
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juisuimimimetiulpugdgsynanny
5 Fe(CN)e* + 61 MnOys + 188 H* — 5 Fe®* + 61 Mn?** + 30 NOs +30CO, + 94 Hz0
iiige frsmigrymimslfvipugutgsynngany
+2 -2 +1 +7 +3 +2 +5 +4

Fe(CN)¢* + MnO, ——> Fe** + Mn?" + NO; + CO, + H,0

ISR ANNAWAGSSHAIAAY Fe=+2, C=—2 8t N=+1 IR :G§SHALAAY]

61 fi1 1 mol Fe(CN)s* S G SHAMNARYGWG  ASjUIAd 5 §R 1 mol MO«

HGI8sudMIg N MImsiEulpuE UG gsHARAY
5 Fe(CN)s* + 61 MnOq4 + 188 H* — 5 Fe** + 61 Mn*" + 30 NOs +30 CO; + 94 H,0
& fusdmigjmimuituipuipusgsHAaAnY

+2 342 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, ——> Fe** + Mn?" + NO; + CO, + H,0

ISIORANNAWAGSSHAIARY Fe=+2, C=-3 82 N=+2 I G SSHAIAAY]

61 fji1 1 mol Fe(CN)s* SN GSSHAMNARYGWGAS{UIA] 5 §R 1 mol MnOx

HGIS s uEMIA N MImsI Ul uEUGgsHARAY
5 Fe(CN)s* + 61 MnOys + 188 H* — 5 Fe®* + 61 Mn?" + 30 NOs +30 CO, + 94 H,0
ién Saurotmigrymimuitvijpuprusssynninany

+2 -4 43 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, ——> Fe** + Mn?" + NO; + CO, + H,0
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ISR ANNAWRAGSSHAIARY Fe=+2, C=—4 8t N=+3 IS G §SHATRAYINSUTUIA]

61 fii1 1 mol Fe(CN)s* 8 G§SHAMARYGUWIG: fIfUTa] 5 G0 1 mol MnOx

Jessuimigymimsiiulipuprudgsyamanny

5 Fe(CN)s* + 61 MnOys + 188 H* — 5 Fe¥* + 61 Mn?* + 30 NOs +30CO, + 94 H,0
&6 fhadmigjmimulfuipupusgsHnanny
+2 -5+4 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, —— Fe** + Mn?" + NO; + CO, + H,0

ISR ANNARGSSHALIAMY Fe=+2, C=-5 81 N=+4 IS :GESHATAAYIASUIUIN]

1 1 <% L7 1 1 3 1

61 41 1 mol Fe(CN)s~ 8B §SHAATARYB I ASTUIAT 5 A1 1 mol MnO«

JEIssumig g mimuifulipup G gsHARAY
5 Fe(CN)e* + 61 MnOs + 188 H* — 5Fe® +61 Mn?* + 30 NOs +30COz + 94 Hz0
168 fhadmigmimultul{puBuGgsHANARY

+2 -6 +5 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, —— Fe** + Mn?" + NO; + CO, + H,0

ISR ANNARAGSSHALIANY Fe=+2, C=—6 811 N=+5 IS G §SHATAAYIASUTUIN]

1 1 =1 o 1 1 % 1

61 {1 1 mol Fe(CN)s* SNGSSHAMAAYGUIG S AITUIAT 5 Fi1 1 mol MnOs

L 1 )
JuISsumigmimsifulpupuGgsHAaRRY

5 Fe(CN)¢* + 61 MnO4 + 188 H* — 5 Fe®* +61 Mn?" + 30 NOs +30 CO2 + 94 H.0

+2 +4 -5 +7 +3 +2 +5 +4
Fe(CN)¢* + MnO, —— Fe** + Mn?' + NO; + CO, + H,0
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ITnGRANNARGSSHAIARY Fe=+2, C=+4 81t N=-5 I G SSHATRAYINSUTUIN]

61 fii1 1 mol Fe(CN)s* 8 G§SHAMNARYGWGAI{UIA] 5 §R 1 mol MnOx

FoIs s uminmimusiiulpuipudgsHAnnY

5 Fe(CN)s* + 61 MnOg4 + 188 H* — 5 Fe®* + 61 Mn?* + 30 NOz +30CO; + 94 H,O

sonnfa SR uEmigmimsiiuipupudgsgamaagmugmatiumcifms

8. Ks3[Fe(SCN)e] + Na2Cr207 + H2SO4 — Fe(NO3)s + Cr2(SOas)s + CO2 + H20 + Na2SO4 + KNOs3

¢ 9 fhadmigymimuitulpuipuGgsHARnY

< 1 1 )

First way balancing by using the method of change in oxidation number

+1+30+2-3 +146-2  +1+6-2
K;[Fe(SCN)s] + Na,Cr,0; + H,S0, ——>

+3+5-2 +3 46 -2 +146-2 +1+5-2 +4-2 +1-2

Fe(NO3)3 + Crz(SO4)3 +N32SO4+ KNO3 + COZ +H20

I NBRANNGWRAGSSHAIANY Fe=+3,5=0,C=+2 8 N=-3 jGIS:Gg8HANANRYIAS

o 1 1 -

FUTUHN 1 mol Ks[Fe(SCN)e] Ia] 96 SN G§SHAMAAYG WG AIIURN 1 mol NaeCr207 I8 6
HGIS U T MR IfMImuIE AR MupAnY

K3[Fe(SCN)s] + 16 NazCr.O7 + 58 HS0s — Fe(NO3)s + 16 Cra(SO4)s + 6 CO»
+ 58 H20 + 16 NaxSO4 + 3 KNOs3

Check

K:3=3, Fe:1=1,C:6=6,N:6=3+3,S:6+58=(16x3)+16=64

O:(16x7)+(B8x4)=B8x3)+(16x12)+(12) + (58) + (16 x4)+9 =344
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16 u aeodmigrgjmimuifuliipuiprudssynnny
Second way balancing by using the method of change in oxidation number

+1+3-1+2-2 +1 +6 -2 +1 +6 -2
K3[Fe(SCN)6] + Nazcr207 + H2SO4 ——

+3+5-2 +3+6 -2 +14+46-2 +1+5-2 +4-2 +1-2
Fe(N03)3 + Crz(S04)3 + Nast4 + KNO3 + C02 + HZO

HGIS U EMIRIfMImuIEmMARMUEAnRY

Ks[Fe(SCN)e] + 16 Na2Cr.07 + 58 H.SOs4 — Fe(NO3)s + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3

ém fheuBmisrymimuifuipupudgsynninny
Third way balancing by using the method of change in oxidation number

+1+3-2+2-1 +1 +6 -2 +1 +6 -2
K3[F0(SCN)6] + NaZCr207 + HzSO4 _—

+3+5-2 +3 +6 -2 +14+46-2 +1+5-2 +4-2 +1-2
Fe(NO3); + Cry(SOy); +NaSO4+ KNO; + CO, +H,0

al

PUTUAR 1 mol Ks[Fe(SCN)e] 18 96 SG§SHAAIAAYGUIGS ASTUHN 1 mol NazCr207 18] 6

] 1 8
HOIS UM fMImuiEmARMuuing

K3[Fe(SCN)e] + 16 NaxCr207 + 58 H.SOs4 — Fe(NO3)3 + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs
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e fhaudmigymimuiivijpuiprudgsynndnny
Forth way balancing by using the method of change in oxidation number

+1+3-3+20 +1 +6 -2 +1 +6 -2
K3[F0(SCN)6] + NaZCr207 + HzSO4 —_—

+3 +5-2 +3 +6 -2 +14+6-2 *+1+5-2 +4-2  +1-2
Fe(N03)3 + Crz(SO4)3 + Nast4 + KNO3 + C02 + HzO
indnAnnawntgsynainng Fe=+3,S=-3,C=+2 8 N=0jGIS:Gg8HAInnAYIAS

FUTURH 1 mol Ks[Fe(SCN)e] 1#] 96 BN G§SHAMAAYG WG AIJURR 1 mol Na:CroO7 I8 6

& 1 1 =
HGIS U MR IfMImuiimaARmuuing

Ka[Fe(SCN)e] + 16 NazCrz207 + 58 H2S0s — Fe(NO3)s + 16 Cra(SOa)s + 6 CO;
+ 58 H,0 + 16 Na;SO4 + 3 KNO3

G fhadmigymimultviipuipudgsyaanny

(Y 1

Fifth way balancing by using the method of change in oxidation number

+1+3-4+2 +1 +1+6 -2 +1 +6 -2
K;[Fe(SCN)s] +Na,Cr,0, + H,80, ——>

+3 +5-2 +3 +6 -2 +1+6-2 *T1+5-2  +4-2  +1-2
Fe(NO3); + Cry(SO4); +Na,8SO,+ KNO; + CO, +H,0

BUTURAN 1 mol Ks[Fe(SCN)e] ta] 96 SN G§SHAMAAYG WG AIIURN 1 mol NaxCr207 I8y 6
HGIS U mIn MM uIEMAR M up iy

K3[Fe(SCN)e] + 16 NaxCr207 + 58 H.SOs4 — Fe(NO3)s + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs
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1§ fhaudmigryymimulfivijpuipudgsynmnny
Sixth way balancing by using the method of change in oxidation number

+1+3-5+2+2 +1 +6 -2 +1 46 -2

K;3[Fe(SCN)g] +Na,Cr,0; + H,8SOy ——>
+3+5-2 +3+6 -2 +14+46-2 +1+5-2 +4-2 +1-2

Fe(N03)3 + Crz(S04)3 + Nast4 + KNO3 + C02 + HZO

InShAnNAwAGgSHA Fe=+3,5=-5,C=+2 81 N=+2 [jGIS:GSSHAMNAAYIAS

] 1

FUTURH 1 mol Ks[Fe(SCN)e] 18] 96 BN G §SHAMAAYG WG AIJURR 1 mol Na:Cr,07 F2l 6

HGIS U EMIR IfMImuiEmMARAMUEAnRY

Ks[Fe(SCN)e] + 16 Na2Cr207 + 58 H.SOs4 — Fe(NO3)s + 16 Crz(SOs)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3

& n Sheubmigruimimuifivipupudgsynainny
Seventh way balancing by using the method of change in oxidation number

+1+3 -6 +2 +3 +1+6 -2 +1+6 -2
K3 [Fe(SCN)6] + NaZCr207 + HzSO4 E—

+3+5-2 +3 +6 -2 +14+6-2 +1+5-2 +4-2 +1-2
Fe(NO3); + Cry(SO4); +Na,SO,+ KNO; + CO, +H,0

=—6,C=+2 80 N=+3 jGIS:GgSHAIAAYIAS

96 81 GSSHAFIAAYB LGS AIIUEHN 1 mol Na:Crz07 18] 6

HGIS s uEminfmimuiimannmuuing

K3[Fe(SCN)e] + 16 NaxCr207 + 58 H.SO4 — Fe(NO3)s + 16 Crz(SO4)3 + 6 CO2
+ 58 H2O + 16 NaxSO4 + 3 KNOs3
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iifa fhaudmigymimuifvijpuiprudgsyninny
Eighth way balancing by using the method of change in oxidation number

+1+3-7+2 +4 +1+6 -2 +1+6 -2
K3 [Fe(SCN)6] + NaZCr207 + H2S04 ——

+3+5-2 +3+6 -2 +14+46-2 +1+5-2 +4-2 +1-2
Fe(N03)3 + Crz(S04)3 + Nast4 + KNO3 + C02 + HZO

InSnAnnfwndgsHn

Fe=+3,S=-7,C=+2 801 N=+4 jGIS:Gg§SHAsInnAYIAS

] 1 1 =3

FUTURH 1 mol Ks[Fe(SCN)e] 1#] 96 SN G§SHAMAAYG WG AJJURR 1 mol Na:CroO7 F8l 6

HGIS U EMIR IfMImuiEmMARAMUEAnRY

Ks[Fe(SCN)e] + 16 Na2Cr207 + 58 H.SOs4 — Fe(NO3)s + 16 Crz(SOs)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3
g8 furutmimrymimuifivijpuipudgsynainny
Ninth way balancing by using the method of change in oxidation number

+1+3 -8 +2 +5 +1 +6 -2 +1 +6 -2
K3 [Fe(SCN)6] + NaZCr207 + HzSO4 —_—

+3+5-2 +3 +6 -2 +14+6-2 +1+5-2 +4-2 +1-2
Fe(NO3); + Cry(SO4); +Na,SO,+ KNO; + CO, +H,0

,C=+2 801 N=+5 jGIS:G§SHAIANYIAS
AAYGWGAS{URN 1 mol NazxCr207 IR 6
HGIS s uEminfmimuiimannmuuing
Ks[Fe(SCN)e] + 16 Na2Cr,07 + 58 HoSO4 — Fe(NOs)s + 16 Crz(SO4)3 + 6 CO2

+58 Hy0 + 16 NazSO4 + 3 KNO3
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890 farmBmignymimeliuipogudssynajnny

Tenth way balancing by using the method of change in oxidation number

+1+3-100 +1 +6 -2 +1 +6 -2
K3[F0(SCN)6] + NaZCr207 + HzSO4 E——

+3 +5 -2 +3 +6 -2 +14+6-2 +1+5-2 +4-2 +1-2
Fe(NO3); + Cry(SO,); +Na,SO,+ KNO; + CO, +H,0

indnfinnfiwnGgsyniang Fe=+3,S=-1,C=081 N=0§GI8:G§8unAIAnYIAS MU
[ 1 mol Ka[Fe(SCN)s] b¢f 96 BG§SHAIARYBWG: fU{UAN 1 mol NaxCr:07 18] 6
HGIS U T MR IfMImuIEmARMUUAAY

K3[Fe(SCN)e] + 16 Na2Cr207 + 58 H.SOs — Fe(INO3)3 + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNO3

1699 fawdmmagmimulfvipupudssyndjany
Eleventh way balancing by using the method of change in oxidation number

+1+3 0 0-1 +1 +6 -2 +1 +6 -2
K3[Fe(SCN)6] + Nazcr207 + stO4 E——

+3+5-2 +3 +6 -2 1462 T1+5-2  +4-2 +1-2
Fe(NO3)3 + Crz(SO4)3 + N32SO4 + KNO3 + C02 + H20

idhfantwndgsHnanny Fe=+3, S=0, C=0 81 N=—1 ui8:G§synajnnygifisaiu
fi# 1 mol Ka[Fe(SCN)e] 14 €@

yn: ﬁgsﬁﬁﬁjﬁﬁgmsjﬁfﬁﬁﬁsﬁp@m +M—-(+M)=0
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oﬂ al

Gysunagang U S{iTtR e 1mol At SCN™ 183 (+6-(0) =+6 inpui@fun SCN'

e OHINY S 1n:6

fgsunajnnyg M S1Rsagu 1mol Htin SCN™ 18 (+4-(0) =+4 Inguuifiuih SCN”
s MY C im:dgsynidnnygifisauuMy S +VG
Ggsunainngi QJifisauiu 1mol ftdh SCN™ 18] (+5—(-1) =+6 Ingutmftih SCN

s OMEY N i:dgsqnannyicui i fig +mo

Hois: g sHRgnnyIASAIIURY 1 mol Ka[Fe(SCN)s] 1 +0+MI+ I c+MO=+EQ

GSSHRNRYSWH: AU 1mol K NaxCrz07 18] (+3—(+6) = -3 inghgiusgu
Na.Cr.0; 118 U1§j#f Cr 11:8§8nannyswey:ujuiag —o
Ggsunainnyifisauig +£ 9 Sudgsundnnyswa:ruig +9 gouisiudhpinandi
99 mywihgndnnyswy: +9 (99x0=E9)

Ks[Fe(SCN)s] + 16 Na2Cr.0O7 + 58 H2SO4 — Fe(NO3)3 + 16 Cr2(SOas)3 + 6 CO»
+ 58 H20O + 16 NaxSO4 + 3 KNOs

sgssessnes: e Huidd
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16691 fuadmignymimelivipupudysyndnny

Twelfth way balancing by using the method of change in oxidation number

+1+3 0-10 +1+6-2 +1+6-2
K3[F€(SCN)6] + N32CI'207 + stO4 E—

+3+5-2 +3 +6 -2 +1+6-2 TI+S-2 442 41
Fe(NO3)3 + Crz(SO4)3 + Nast4 + KNO3 + COZ + Hzo

iiBhAnnGwndgsynadnny Fe=+3, S=0, C=—1 81 N=0 §uis:55synajnnyifisau

fi#t 1 mol Ks[Fe(SCN)e] 14 € @

e t'iﬁsaﬁff;ﬁﬁgmijﬁ’i’ﬁﬁﬁsﬁﬁwm +M—(+M)=0

.,H

GysHnRnnyid éﬁitﬁsmqﬁ 1mol H{tii} SCN™ 14 (+6—(0) =+6 ingujAiHuTH SCN°
s MY S im:ﬁﬁﬁﬁﬁﬁﬁﬁﬁiﬁsmqﬁﬁrﬂéﬁmﬁ +M9

ol U |

sy Stfsauiy 1mol Huh SCN™ 18] (+4—(-1) =+5 InghijiFuih SCN”

Y C imedgsynngnnyifisauiuMySig +mo

GgsunajanygH A Titfiseuiu 1mol fuih SCN 18] (+5-(0) =+5 Inghifuin SCN”

e OMEGY N 1:dgsyndnnygisui fJfig +mo

6188 SHRARNYIRSAIIUHY 1 mol Ka[Fe(SCN)s] 1] +0+M+MO+MO0=+E9

GSSHNAUNNYSWY: AU 1mol GIUHNS NaxCrz07 18] (+3—(+6) = -3 tnghgiunm

Na.Cr.0; 118 UM§jH Cr 11:G§8ymainnyswy:uuing —o

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢ 909
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bgsynannyifisriuig +E9 Bndgsynajanyswysaiuig +9 goiscudnpigandy
99 mywihEndnnyswy: +H (99x0=E9)

K3[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SO4 — Fe(NO3)z + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 Na2SO4 + 3 KNOs

HE9OM FuadmigrmimulGuipopudgsHndnang

Thirteenth way balancing by using the method of change in oxidation
number

+1+3 -2+10 +1+6-2 +1+6-2
K3[F€(SCN)6] + NaZCr207 + stO4 Em—

3452 434622 +1+6-2 T1+5-2 42 41,
Fe(NO3)3 + Crz(SO4)3 + Nast4 + KNO3 + C02 + HzO
HIARMNAWRGS SHAAARY Fe=+3, 5=—2, C=+1 81 N=0 §GIS:5§SHANARYIRS UIU

fitt 1 mol Ka[Fe(SCN)e] 1 €9

-

in: ﬁgssqﬁﬁ;ﬁﬁﬁmtjﬁfﬁﬁﬁsﬁpnjm +M—-(+M)=0

al ol U |

Fgsunagnny U éﬁitﬁsmqﬁ 1mol f{tii SCN™ 1&g (+6—(-2) =+8 InghfiiHuh SCN

1 o

Y S imidgsynanngifisaau i STilg +cG

Ggsunainny MU SR8y 1mol ftih SCN™ 18] (+4—(+1) =+3 inghilfuin SCN°

e O C in:dgsynannyfisuMySig +96

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiG ool
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Ggsunainnyi QJtitfisaiu 1mol ftdh SCN™ 18] (+5—(0) =+5 InfhiMHlH SCN

e OHEY N in:dgsynajnnyifisui ffitg +mo

= 1

GSSHNANNRYS WG AI{U 1mol IHT NaCr207 18 (+3—(+6) = -3 Tnfhgiusu
Na.Cr.O; 118 U1§jf Cr 11:5§8ynannyswey:ujuiag —o
Ggsunannyifisuig +£ 9 Sudgsundnnyswn: g +9 gouisiubh{pinandi
99 mywhgndnnysws: +9 (99x0=E9)

K3[Fe(SCN)e] + 16 Na2Cr207 + 58 H.SOs — Fe(INO3)3 + 16 Crz(SO4)s + 6 CO2
+ 58 H,0 + 16 Na,SO4 + 3 KNO3

1§ 9 ¢ guwdmnamimulvipupudgsynanng

Fourteenth way balancing by using the method of change in oxidation
number

+1+3 -2 0+1 +1+6-2 +1+6-2
K3[F€(SCN)6] + N32CI‘207 + HzSO4 —

3452 434622 +14+6-2 T1+5-2 442 41,
Fe(NO3)3 + Crz(SO4)3 + Nast4 + KNO3 + C02 + HzO
ihidhAnnfwndgSHRAnNY Fe=+3, S=—-2, C=0 81 N=+1 §ui8:G§sHnajnnygifisaiu
fi# 1 mol Ka[Fe(SCN)e] 14 €@
sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiGoom
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ﬁﬁgmtjﬁ%ﬁﬁﬁsfmgm +M—-(+mM)=0

4

Ggsunagang U S1iTiR U 1mol Fuih SCN™ 16 (+6-(—2) =+8 inpnddiuin SCN

| o

ne OHEY S im:dgeyndnngifisauiN Siilg +cC

Ggsunainny M S1Rsafu 1mol Huih SCN™ 18g (+4-(0) =+4 g SCN”

-“

1 v

s 9HEY C in:dgsynanngisouMySig +Ve

Ggsunainngi QJiifisaiu 1mol ftdh SCN 18] (+5—(+1) =+4 Ingh{iifin SCN°

s O N i:dgsqnannyiisajuil) i +Vc

Ho18: G SHRGRNYIRSAITURY 1 mol Ka[Fe(SCN)s] 1 +0+Cc G+ c+a=+E9

GSSHRIRMYSWE: AU 1mol GIUHNS NazxCr20;7 18] (+3—(+6) = -3 inghgiugn

Na.Cr.0; 118 UH1§j# Cr 11:8§8umnnnyswy:uuing —o

bgsynjanygifisaquin] + €9 fndgsynannyswasauig +9 goisudugiiganda
99 mywihEnAnAYswG: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SO4 — Fe(NO3)s + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiG90¢E




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

W69 & udmmagmimulivipupudgsandnny

Fifteenth way balancing by using the method of change in oxidation
number

+1+3 +1-20 +1+6-2 +1+6-2
K3[FC(SCN)6] + N32CI'207 + H2S04 —_—

3452 434622 +1+6-2 152 14 41
Fe(NO3)3 + Crz(SO4)3 + Nast4 + KNO3 + C02 + Hzo

il finnswnRG§SHRnnYg Fe=+3, S=+1, C=—2 8 N=0 §ui8:GgsHnanngifis iy

i1 1 mol Ka[Fe(SCN)e] it € @
in: t’igsaﬁﬁgﬁﬁﬁmtjﬁfﬁﬁﬁsﬁﬁnjm +M-(+M)=0

b=1

RS fIIU 1mol it SCN™ 18] (+6—(+1) =+5 inghiiFuih SCN

g S1fseuqu 1mol ftfh SCN™ 167 (+4—(-2) =+6 InghilfuHn SCN”

< v
1

Y C im:dgsynngnngifisaiuMUSig +mo

fgsynajnnyi AJtiRsuiu 1mol ftfh SCN 18] (+5—(0) =+5 taghijaFtih SCN

e OHEH N in:dgsynainnyifisaui fffigd +mo

o18:gsHnnnyIisAunY 1 mol Ka[Fe(SCN)s] 1 +0O+MO+MO+MO0=+E9

sgssessnes: e Huidd
Facebook: Kimsrea Houn ¢iiG oot
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GSSHNRANNYS WG AU 1mol UK NaxCrz07 18 (+3—(+6) = -3 i
Na.Cr.O; 118 U1§ji Cr 11:8§8ynannyswy:ujuiag —o

Ggsundnnyifisuigd + €9 Sudgsundnnyswn: g +9 guisiufapinandi
99 mywihEndnnyswy: +9 (99x0=E9)

K3[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SO4 — Fe(NO3)z + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNO3

H6909 ghadmimnmimsiiuipopusgsyndnng

Sixteenth way balancing by using the method of change in oxidation
number

+1+3 +10-2 +1+6-2 +1+6 -2
K3[Fe(SCN)6] +N32Cl°207 + HzSO4 E—

3452 43462 +1+6-2 152 140 41
Fe(NO3)3 + Cl’z(SO4)3 + Nast4 + KNO3 + C02 + H20

bR nNGwRG§SHARINKY Fe=+3, S=+1, C=0 81 N=-2 §uiS:E§synajnnyifisau
fitt 1 mol Ka[Fe(SCN)e] 1 € @

ﬁﬁﬁmtjﬁfﬁﬁﬁsﬁpnjm +M—(+M)=0

-

1) éﬁitﬁsmw 1mol Ui SCN™ 18 (+6—(+1) =+5 Tnnnlbfuih SCN

vSs iSI:figSﬁﬁﬁ‘jﬁﬁgiﬁSﬁjqUﬁrﬂgﬁﬁﬁj +Mo

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢ 900
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Ggsunainny M S1Rsafu 1mol Huih SCN™ 18g (+4-(0) =+4 Inguufuih SCN”

s 9HEY C in:dgsynannyfisuMySi +Vc

Fgsunajnngi QJtifiseuiu tmol ftdh SCN 18] (+5—(-2) =+7 inifuljmftih SCN

e OMEY N in:dgsynajnnyiisujui fiffig +GV

jois:dgsunIRRYIRS AU 1 mol Ka[Fe(SCN)e] 16 +0-+M 0+¥ce+cl9=+€D

GSSHANRYSWH: AU 1mol iU NazxCre07 1y (+3—(+6) = -3 tngudiusu

- 1 1

Na.Cr.0; 918 UH§j# Cr i:8§SHnnnnygswey:mjuiag —o

bgsynanyifisauid] +£9 Andgsnannyswe:mjuig +0 goisudugpigandy
99 mywihEnAnAYswE: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)s + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs

15§90 §umigamimulivipupusssynhny

Seventeenth way balancing by using the method of change in oxidation
number

+1+3 0-2+1 +1+6-2 +1+6-2
K3[Fe(SCN)6] + Nazcr207 + stO4 EE——

3452 43462 +1+6-2 T1¥5-2 44 412
Fe(NO3)3 + Crz(SO4)3 +Nast4+ KNO3 + C02 +H20

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢figoon
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il fnnswnGgSHRagnny Fe=+3, S=0, C=-2 81 N=+1 §t18:GgsHnainnygiis iy
it 1 mol Ka[Fe(SCN)e] i €@

n: ﬁgSﬁﬁﬂﬁﬁgfij%ﬁﬁﬁSfLﬁﬁjm +[MN—(+M)=0

18 augU 1mol f{tTh SCN 18 (+6—(0) =+6 Teghljbfuih SCN

fgsunanny M S1Rsaiqu 1mol fui SCN™ 16 (+4-(-2) =+6 inghgfin SCN°

s MY C m:dgsyndnnygifisuuMySig +md

Ggsunainngi ARSIy 1mol ftih SCN 18 (+5—(+1) =+4 ingh{ifin SCN°

e OMEY N i:dgsynannyiisajui fffitg +Vo

Hois: g sHR RIS ATUnY 1 mol Ka[Fe(SCN)s] 1 +0+MI+MI+Bc=+ED

GSSHAMIRRYSWG: AU 1mol GIUHN NaxCr207 18] (+3—(+6) = -3 inpugiugu

- 1

Na.Cr.0; 918 U1§j# Cr 11:5§8ynannyswey:juiag —o

Ggsunannyifisrqung + €9 Sudgsundnnyswa:ruid +9 goisiudhpinandy
99 MywihERgnRYSwE: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)3 + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢figo0d
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H696 fumdmimmagmimulivipupudgsyndnny

Eighteenth way balancing by using the method of change in oxidation
number

+1+3 0+1-2 +1+6-2 +1+6-2
K3[FC(SCN)6] + NaZCr207 + HzSO4 —_—

+3 +5 -2 +3 +6 _2 +1 +6 _2 +1 +5 -2 +4 _2 +1 _2
Fe(NO3)3 + Cl’z(SO4)3 + Nast4 + KNO3 + C02 + H20
il finnswnG§SHRgnnYg Fe=+3, S=0, C=+1 8% N=-2 §ti8:GgsHnanngifs iy

it 1 mol Ka[Fe(SCN)e] it €@
in: t’igsaﬁﬁgﬁﬁgmtjﬁfﬁﬁﬁsﬁpwm +M-(+M)=0

RS fIfU 1mol i SCN™ 18g (+6—(0) =+6 InghafHuih SCN

SRS fIIU 1mol HUTh SCN™ 18] (+4—(+1) =+3 Ingh{fh SCN°

a
1

H C in:dgsynannyifiscouMUSiag +96

i v

Ggsunainnyi AJtitfisriu 1mol fufh SCN™ 1] (+5—(-2) =+7 inguiMfih SCN’

<g
1

e OMEY N i:dgsynajnnyiieajui i +GV

ois:GgsHRRRYIRSAIURY 1 mol Ka[Fe(SCN)s] 1 +0+MI+9G+aV=+ED

sgssessnes: e Huidd
Facebook: Kimsrea Houn G008
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GSSHAANNYSWH: AU 1mol I NazxCr207 16 (+3—(+6) = -3 ingudiunu
Na.Cr.0; 118 U1§ji Cr 11:8§8ynannyswy:ujuiag —o

Ggsundnnyifisuigd + €9 Sudgsundnnyswn: g +9 guisiufapinandi
99 mywihEndnnyswy: +9 (99x0=E9)

K3[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SO4 — Fe(NO3)z + 16 Crz(SO04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNO3

1569 € gaadmignmimsiuipupusgsyninng

Nineteenth way balancing by using the method of change in oxidation
number

+1+3 -1-1+1 +1+6-2 +1+6-2
K3[FC(SCN)6] +NaZCr207 + HzSO4 e

3452 434622 +H1+6-2 T1T5-2 442 41
Fe(NO3)3 + Cl’z(SO4)3 + Nast4 + KNO3 + COZ + HzO

il fnnswns§SHRgNNY Fe=+3, S=—1, C=—1 8% N=+1 {j518:6§ SHnRAInnyiRs U

fift 1 mol Ka[Fe(SCN)e] 16 €9

in: ﬁgssqﬁﬁ;ﬁﬁgmtjﬁfﬁﬁﬁsﬁpnjm +M—-(+M)=0

o 4 al

Ggsunajang U SRy 1mol ftdjh SCN™ 18] (+6-(—1) =+7 inghijdfui SCN

4

s OHEH S im:ﬁgsrqﬁﬁ?ﬁﬁgtﬁsmwﬁrﬂéﬁﬁﬁ? +al

=1

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢ 990
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GgsynainnyM U SRsafu 1mol Huin SCN™ 1 (+4—(-1) =+5 inghgbfuin SCN°

s 9HEY C in:dgsyndnngficaouMySiaj +mo

fgsunajnnyf QJtifisauiu 1mol ftih SCN 18] (+5—(+1) =+4 Ingh{fiin SCN°

e OMEY N in:dgsynannyiisuui fifig +Va

jois:BgsunRAYIASAIUG 1 mol Ka[Fe(SCN)e] 18] +0+CBU+M O+ a=+ED

- 1 1

GSSHANRYSWH: AU 1mol iU NazxCre07 1y (+3—(+6) = -3 tngudiunu

Na.Cr.0; 918 UH§j# Cr i:8§SHnnnnygswey:mjuiag —o

Ggsxndnnyifisruid + €9 Sudssundnnyswn:rjuid +9 goisaubbppinand

99 mywihEnAnAYswE: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)s + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs

WSV 0 ghadmigrmimuiiuipuusssyianng

Twentieth way balancing by using the method of change in oxidation
number

+1+3 -1+1-1 +1+6-2 +1+6-2
K3[F€(SCN)6] + NaZCr207 + HzSO4 —_—

+3+5-2 +3 +6 -2 +1+6-2 T1+5-2 440 g2
Fe(NO3)3 + Crz(SO4)3 +Nast4+ KNO3 + C02 +H20

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢ 999
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il fnnswnd§SHRagNNY Fe=+3, S=—1, C=+1 811 N=—-1 ij518:6$ SHnATnnyiRs U
it 1 mol Ka[Fe(SCN)e] i €@

n: ﬁgSﬁﬁﬂﬁﬁgmth%ﬁﬁﬁSfLﬁﬁjm +[MN—(+M)=0

RS AIIU 1mol f{tli SCN™ 1] (+6—(—1) =+7 tanh{bfiuih SCN”

fgsunanny M S1Rsaiqu 1mol fui SCN™ 16 (+4—(+1) =+3 ingulmftih SCN

s MY C m:dgsyndnngifisuuMySig +90

Ggsunainngi Q] ifisauiu 1mol ftdh SCN™14] (+5—(—1) =+6 ingutjmftih SCN

s OHEY N i:dgsynannyisaui) fffitg +mo

o186 g sHRARNYIRSAITURY 1 mol Ka[Fe(SCN)s] 1 +0+cV+9G+MO=+ED

GSSHAMIRRYSWG: AU 1mol GIUHN NaxCr207 18] (+3—(+6) = -3 inpugiugu

- 1

Na.Cr.0; 918 U1§j# Cr 11:5§8ynannyswey:juiag —o

Ggsunanngifisauid + €9 Sudgsundnnyswa:ruig +9 gouisiudhpinandi
99 MywihERgnRYSwE: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)3 + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiGool
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RV 9 §uwdmimumimulivipopuGsSHRANKY

Twenty first way balancing by using the method of change in oxidation
number

+1+3 +1-1-1 +1+6-2 +1+6-2
K3[Fe(SCN)6] +Na2Cr207 + stO4 —_—

3452 43462 +1+6-2 T1+5-2 44 412
Fe(NO3)3 + Crz(SO4)3 +Nast4+ KNO3 + C02 +H20

iiBhAnnfwnGgSHREINHY Fe=+3, S=+1, C=—1 84 N=-1 §ois:6§SHnannyiAsuju
fi#t 1 mol Ks[Fe(SCN)e] 1 € @

Gysynagnnyid) éﬁitﬁsmw 1mol ftfi SCN™ 167 (+6—(+1) =+5 Taghjfuih SCN

s O S iS]:ﬁgSﬁﬁﬁﬁﬁgiﬁSﬁi@Uﬁrﬂgﬁﬁiﬁ +MO
fgsynainny M ) SRS AU 1mol Huin SCN™ 1y (+4—(-1) =+5 inghgbfin SCN°

s 9MEY C i:dgsynannyificauMySiaj +mo

Fgsunajanyi QJtitfisauiu 1mol fufh SCN 18] (+5—(—1) =+6 Inguijafih SCN

e OHEH N in:dgsynainnyiisauui fffig +m9
o188 sHR RNy S AIUNRY 1 mol Ka[Fe(SCN)s] 1 +0+MO+MO+MI=+ED

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGoom




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
GSSHRANNYSWH: AU 1mol UK NaxCrz07 18 (+3—(+6) = -3 i
Na.Cr.0; 118 U1§ji Cr 11:G§8ynannyswy:ujuiag —o

Ggsundnnyifisuigd + €9 Sudgsundnnyswn: g +9 guisiufapinandi
99 mywihEndnnyswy: +9 (99x0=E9)

K3[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SO4 — Fe(NO3)z + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNO3

WV Fhawdmiumimsiivipopudssynanany

Twenty Second way balancing by using the method of change in oxidation
number

+1+43 -3+141  +1+6-2 +1+6-2
K3[F€(SCN)6] + N32CI'207 + H2S04 —_—

3452 434622 +1+6-2 152 14 41
FE(NO3)3 + Crz(S04)3 + Nast4 + KNO3 + COZ + H20

il inNBwRG§SHRNNRY Fe=+3, S=-3, C=+1 81 N=+1 §ui8:Gg8xnannygifis iy

fitt 1 mol Ka[Fe(SCN)e] 1 €9

e ﬁ%SﬁﬁﬂﬁﬁgmﬁH%ﬁﬁﬁstﬁLgm +M—(+M)=0

o 04 al

Ggsunagany U SR eau 1mol ftdj SCN™ 18] (+6-(—3) =+9 inghijdFtim SCN

4

e OHEH S im:ﬁgsrqﬁﬁ?ﬁﬁgtﬁsmwﬁrﬂéﬁﬁﬁ? +ta

=1

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢MiG99E
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GgsunainnygM USR8 1mol Huin SCN™ 18 (+4—(+1) =+3 Ingh{iifuin SCN°

s 9HEY C in:dgsynanngfisuMySig +9C

fgsunajnnyi QJtifsauiu 1mol ftdh SCN 18] (+5—(+1) =+4 Ingh{fin SCN°

e OMEY N in:dgsynannyiisuui fifig +Va

RS AITUHH 1 mol Ko[Fe(SCN)s] 16 +0+&c+96+¥ae=+EY

GG SHNRANNYSWH: AU 1mol §IAH NaxCre07 18d (+3—(+6) = -3 inghgiusnu

Na.Cr.0; 918 UH§j# Cr i:8§SHnnnnygswey:mjuiag —o
bgsynjangifisauid] +£9 Andgsynannyswe:ajuig +0 goisudugigandy
99 mywihEnAnAYswE: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)s + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs

WEVM uwdmiymimulivipopusssynghnyg

23" way balancing by using the method of change in oxidation number

+1 +3 +1-3+1 +1+6-2 +1+6-2
K3[FC(SCN)6] + N32CI'207 + HzSO4 e

+3 +5 -2 +3 +6 _2 +1 +6 _2 +1 +5 -2 +4 _2 +1 _2

Fe(NO3)3 + Cl’z(SO4)3 +Nast4+ KNO3 + COZ +H20
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ihiihAnnfwndgSHnadnny Fe=+3, S=+1, C=-3 811 N=+1 §518: G SHnannyiR S gy
it 1 mol Ka[Fe(SCN)e] i €@

n: ﬁgSﬁﬁﬂﬁﬁgfij%ﬁﬁﬁSfLﬁﬁjm +[MN—(+M)=0

RS AIIU 1mol ftli SCN™ 1] (+6—(+1) =+5 IngugiiFuih SCN°

J SR8 rufu 1mol {un SCN™ 1 (+4—(-3) =+7 Ingh{ifuin SCN°

U C in:dgsynannyifiscauMUSiag +cl

Ggsunainngi ARSIy 1mol ftih SCN 18 (+5—(+1) =+4 ingh{ifin SCN°

s OMEY N i:dgsynannyiisui ffig +Vc

Hois:GgsHnnnyisaunh 1 mol Ka[Fe(SCN)slild +0+MO+cV+9c=+E€9

GSSHAMIRRYSWG: AU 1mol GIUHN NaxCr207 18] (+3—(+6) = -3 inpugiugu

- 1

Na.Cr.0; 118 Ui1§j# Cr 11:8§8ynannyswey:juiag —o

Ggsunannyifisqung + €9 Sudgsundnnyswe:ruid +9 gouisiudhpinandi
99 MywihERgnRYSwE: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)3 + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3
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1661 ¢ fuaudmigngmimelivigupudysyndnny

24" way balancing by using the method of change in oxidation number

+1 +3 +1+1-3 +1+6-2 +1+6-2
K3[Fe(SCN)6] + NaZCr207 + stO4 —_—

3452 43462 +1+6-2 T1¥5-2 44 412
Fe(NO3)3 + Crz(SO4)3 +Nast4+ KNO3 + C02 +H20

iiBhANNGwRG§SHRINHY Fe=+3, S=+1, C=+1 81 N=-3 {§618:G§SHnaInnyIRS U
fi#t 1 mol Ks[Fe(SCN)e] 14 € @

e t%%saﬁff;ﬁﬁgmijﬁ’i’ﬁﬁﬁsﬁ,ﬁ[gm +M—(+M)=0

.,H

GysHnRnnyid éﬁitﬁsmqﬁ 1mol HUi SCN™ 16 (+6—(+1) =+5 ingutjibfuia SCN’

| o

s MY S im:Ggsyniinnygisjuin STiliaf +mO

M -%

ol ol

sy S1fsaiu imol fufh SCN™ 18] (+4—(+1) =+3 ingh{iifuih SCN°

Y C indgsuninngiRsauMySiy +96

i v

GgsunaianygH) i tRsuiu 1mol ftin SCN™ 1] (+5—(-3) =+8 inguifiih SCN°

a
1

we OHEGYH N 1:dgsyninnygiis i fJiig +cC

ois: g SHRnRYIRSAIURY 1 mol Ka[Fe(SCN)s] 1 +0+MO0+9G+cG=+EQ

GSSHARINRYSWE: AU 1mol GIUL NaxCr207 18] (+3—(+6) = -3 inphgiugmu
Na.Cr.O; 118 UM§jH Cr 1:8§8umainnyswy:uuing —o
sgssessnes: e Huidd
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bgsynannyifisriuig +E9 Bndgsynajanyswysaiuig +9 goiscudnpigandy
99 mywihEndnnyswy: +H (99x0=E9)

K3[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)z + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 Na2SO4 + 3 KNOs

eV & SuaudmimumimulivipoputsSHRdnnY

25" way balancing by using the method of change in oxidation number

+1 +3 -3 0+2 +1+6-2 +1+6-2
K3[Fe(SCN)6] + Nazcr207 + stO4 EE——

3452 434622 +1+6-2 152 44 412
Fe(NO3)3 + Crz(SO4)3 +Nast4+ KNO3 + C02 +H20

iBhAnnGwnG§SHRAGNKY Fe=+3, S=-3, C=0 81 N=+2 §uiS:Egsynajnnyifisaiu
fitt 1 mol Ks[Fe(SCN)e] i € @

1m: ﬁﬁSﬁﬁﬁjﬁﬁgmﬁH%ﬁﬁﬁstﬁL‘gm +M—(+M)=0

.,ﬂ al

Gysunagnny i) éﬁitﬁsmw 1mol fitfit SCN™ 183 (+6—(—3) =+9 innhffh SCN’

8 QMY S im:ﬁgsrqﬁﬁ;ﬁﬁgtﬁsmwﬁrjjéﬁiiii +&G
gsunanny M [ S1Rsau 1mol ftih SCN™ 1 (+4—(0) =+4 inghfifjuin SCN°
8 MY C im:dgsynidnngifisauuMy S +Va

1 v
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Ggsunainnyi QJTitfisaiu 1mol ftdh SCN™ 18] (+5—(+2) =+3 Inggifuin SCN°

s OHEY N in:dgsynajnnygifisui g +9C

= 1

GSSHNANNRYS WG AI{U 1mol IHT NaCr207 18 (+3—(+6) = -3 Tnfhgiusgu

Na.Cr.0; 118 U1§j#f Cr 1:5§8ynannyswy:ujuiag —o

Ggsunannyifisuuig + €9 Sudgsundnnyswy:ruig +9 guisiubh{pinandi

99 mywhgndnnyswe: +9 (99x0=E9)

K3[Fe(SCN)e] + 16 Na2Cr207 + 58 H.SO4 — Fe(INO3)3 + 16 Crz(SO4)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3

RE199 fumudmimnmimslivipuEusgsyndnng

26" way balancing by using the method of change in oxidation number

+1+3 +2-30 +1+6-2 +1+6-2
K3[Fe(SCN)6] + NaZCr207 + stO4 —_—

3452 43462 +1+6-2 T1¥5-2 44 412
Fe(NO3)3 + Crz(SO4)3 +Nast4+ KNO3 + C02 +H20
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il fnnswnGgSHRgnnY Fe=+3, S=+2, C=-3 81 N=0 §u18:GgsHnajnnygiisai
it 1 mol Ka[Fe(SCN)e] 14 €@

n: ﬁﬁSﬁﬁﬁﬁﬁtjfij%ﬁﬁﬁSfLﬁﬁjm +[MN—(+M)=0

Ggsunfinng M S1Rs U 1mol i SCN™ 1y (+4—(-3) =+7 inghfftin SCN°

s 9HEY C in:dgsynanngiswuMySid +cV

Ggsunainngi A ifisauiu 1mol fuih SCN 1] (+5—(0) =+5 InghijmHLHh SCN

s OMEY N i:dgsqnajnnyisajui ffitgg +mo

Hois:GgsHnAnnyIfisAIunh 1 mol Ka[Fe(SCN)s] 1 +0+9c+c+MO0=+E9

GSSHAMIRRYSWE:AIIU 1mol GIUHN NaxCr207 18] (+3—(+6) = -3 inpugiugu

= 1

Na.Cr.0; 118 Ui1§j# Cr 11:8§8ynannyswey:ujuiag —o
Ggsunannyifisqung + €9 Sudgsundnnyswe:ruid +9 gouisiudhpinandi
99 MywihERgnRYSwE: +9 (99x0=E9)

Ks[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)3 + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNOs3
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BV fuadmiagmimelivipupudysyndnny
27" way balancing by using the method of change in oxidation number

+1+3 +20-3 +1+6-2 +1+6-2
K3[Fe(SCN)6] + Nazcr207 + stO4 EE——

3452 43462 +1+6-2 152 44 412
Fe(NO3)3 + Crz(SO4)3 +Nast4+ KNO3 + C02 +H20

iiBhAnNGwnG§SHRRINKY Fe=+3, S=+2, C=0 81 N=-3 §ui8:5§sHnajnnygiis i
fi#t 1 mol Ks[Fe(SCN)e] i € @

iyn: GSSHRMARNK mnyuliifiss iLULUm+m (+m)=0

- v

.,H

GysHnRnnyid éﬁitﬁsmqﬁ 1mol Hti} SCN™ 1&g (+6—(+2) =+4 ingutjibfiuin SCN’

| o

s MY S im:GgsyniinnygiisuiN STl +Vc

fgsunainny M S1Rsaju 1mol Huin SCN™ 18g (+4-(0) =+4 Ingu§uifuih SCN”

e 9MEY C in:dgsyndnngisumMySig +Va

GgsunaganygH) A Htfsuiu 1mol ftin SCN™ 1] (+5—(-3) =+8 inguifiih SCN°

< 1
1

ne OHEYH N in:dgsynainnyisuui g +cC

uis:GgsHnAnnyisAunh 1 mol Ka[Fe(SCN)s] 1 +0+c+¥c+cG=+E9
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GSSHAANNYSWH AU 1mol iU NazxCr.07 16 (+3—(+6) = -3 ingudiugu
Na.Cr.O; 118 U1§ji Cr 11:8§8ynannyswy:ujuiag —o

Ggsundnnyifisuigd + €9 Sudgsundnnyswn: g +9 guisiufapinandi
99 mywihEndnnyswy: +9 (99x0=E9)

K3[Fe(SCN)e] + 16 NaxCr.07 + 58 H.SOs4 — Fe(NO3)z + 16 Crz(S04)3 + 6 CO2
+ 58 H20 + 16 NaxSO4 + 3 KNO3

RV G6 Fumdmigngmimulivipupusssyndnng

28" way balancing by using the method of change in oxidation number

+1+3 0-3+2 +1+6-2 +1+6-2
K3[FC(SCN)6] + NaZCr207 + stO4 —_—

3452 434622 +H1+6-2 T1T5-2 442 41
Fe(NO3)3 + Cl’z(SO4)3 + Nast4 + KNO3 + C02 + H20

iiBhAnnfwndgSHRRGNHY Fe=+3, S=0, C=-3 81 N=+2 §uiS:G§synajnnyifisau
fitt 1 mol Ks[Fe(SCN)e] i €@

n: ﬁgssqﬁﬁgﬁﬁﬁmtjﬁfﬁﬁﬁsﬁpnjm +M—-(+M)=0

-

GysHRgnRYRI) éﬁitﬁsmw 1mol f{tfit SCN™ 143 (+6—(0) =+6 Innuiifuih SCN’

ns OMEY S im:ﬁ§3ﬁﬁﬁﬁﬁ§iﬁsmqﬁ@gﬁiim +M9

-3

o al

fgsynajnny M S1Rsafu 1mol U SCN™ 1y (+4-(-3) =+7 inghgftin SCN°
e O C in:dgsynannyfisaumMySia +cV

sgssessnes: e Huidd
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Ggsunajnng) fJfifsaiu 1mol fui SCN™ 1 (+5-(+2) =+3 Ingu Ui SCN’

s OHEY N in:dgsynajnnygifisui g +9C

618G SHN G RNYIRSAITUNHY 1 mol Ke[Fe(SCN)s] 1] +0+MO+cV+9G=+E

GSSHRAUNRYBWH2AI{U 1mol HIUH NaCr.07 18 (+3—(+6) = -3 Tnphgiusu
Na.Cr.O; 118 U1§jf Cr 11:5§8ynannyswey:ujuiag —o
Ggsunannyifisuig +£ 9 Sudgsundnnyswn: g +9 gouisiubh{pinandi
99 mywhgndnnysws: +9 (99x9=E9)

K3[Fe(SCN)e] + 16 Na2Cr207 + 58 H.SOs — Fe(INO3)3 + 16 Crz(SO4)s + 6 CO2
+ 58 H,0 + 16 NaSO4 + 3 KNO3

pIANA SR U TMIgMIMBITUIB UGS SHANARYME NI gM NG UMGIGmS
82380 + In - 138cCs+ ¥Rb+2(n

eie Sosemeisies: 1R S8 All Rights reserved

HOUN KIMSREA
Tel: 098 472 472

i nSInHEN Wi NHRMG S GUMSHIANH NS AJBIUY G

s ifummiffugpiogs

Fall seven times, Stand up eight.
Prepared by Houn Kimsrea
August 23, 2018
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SieHTaERINSHS) NSRS (BIgN+9) SRIRE............

Sgpen sPesge i8S 9 fe sigen @ ood

HER Mo Sgan: DHiansRo HES]R 565085 M 640

ISNNSENIESES]R Tel: 098 472 472
9. gigh fh Ginmaudmiaimuis:giNS{HuE GiIqnuNEZamuil no 8h)

fi. [Fe(SCN)e]* + Cr207* — Fe¥ +Cr¥ +S0s + NOs + COz (YHfif Siﬂﬁ?ﬁ)

8. CN" + Cu(NHs)s** — Cu(CN)s> + NHs + CNO™ (BHJij1ST )

f. [UOJ%* + Cr07% — [UOZ]?* + Cré* (BRjiSMiin)

W.HslOs + I” — lo  (BHJfISHaA)
V. f. Wit UFANRBRIAN WM ARISTARANMA 25 °CY GIRANIVIFU{BIRNEAN
1euTagiin
2. 181081 (Ke) (OTINUTURAY N20s (g) == NO: (g) b8 0.113 181AFHANMA 298K Teuysi
SuniguipupuIunmTuTaim 5.4 kI/mol 9 fhitanaSgWwumEaidy P (NO2) = 0.122 atm
8% P (N204) = 0.453 atm*] GIHANDGTY AG artitantfis: Sunprinh§aispingti

18HB]: Ksp (ACI) = 1.6 X 109, In 1.6 =0.47, In 10 =2.30, In 3.29 = 1.19

9

m. ingtivhidgphsigihpitsisighmhaugals Ahpingmns o id mmsﬁgtﬁnmﬂs
wingh 6.7 x 104 s 11 AHANMAN 500 °C1

fi. gironaimisingiinnigguh sieimpits

4

3. aansfumtdnphsisunsion vpoipdnypiingsano:mn o 91F il

(4

st e1d8a 035 M
A, iipimamngs @) ilgjiion ipihseHas 74%?
w. sanuwInuRAMuuingis:anm 1§)
15EB]: In 0.35 = —1.050, 14118 = 0.24, In 2= 0,693, In 5 = 1.609, In 2.6 = 0.956
sgssessnes: e Huidd
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c. guttiuggunstwmnijywmsipin s wipined wihwnn whwims
Sh 1EWwRITE

ii. gt Sywininn wivh waTgigumamnn:isshinntss 0.8 g 1glghmanlBono
il :gmmﬁ‘s\ﬁﬁmum‘jhi';m BRI IV RN SN W 250 mL* iﬁﬁjiiji,t}ﬁﬁgmgmquifg
WA 25 mL 15 sty R GUREHMG 0.1 mol/dm? HuGgS

122 LY gIRANSIMAEIIMBIuRsiithidunsign SISl givm waig

2. MGIghuMWYWmSHRAFH 85 mm & MSH{NAT 7 mm* IHRMW{MAMNATANN:IS[MS
925 % 84 gtk 7.5 % At s Aisoa s ipwumsrnngntiuisinm
N:ABUGURTT BaN OB B WMATS:

15HB]: d (Ag) = 10.49 g/cm?, d (Cu) = 8.96 g/cm?)

f. wihtwnad ainn:iann:na shidh 8t (i 186] 5 g IS W N SUiing
YW WM GRS s 01U/ i wiKAtE 158 gUm SHHTANU: 0.067 g4 IHE]RJIW
RN G %m'msmhm'? W Suinghyw Manpideniita mndmnmsnnnfinigiuéss
6.144 g 1 fiAN simawnH isMmuRiIsighisn W

o

(#B]: Ag=108, Cu=64, Au=197, CI=35.5)

10

20

A (%)

&. muuY amuuinmivipopue

30

NOMNHU

40

myadfaNma IshiniR iR Im aomeg

50

CuSO4 5H0 MHEI:{MU)I8: GIinng

70

JUBSINW AN IMHISIHAGANG A, B,

80

Sh C (PESINEJINN K

20
o0

W& fenn g woam) AHNMA ()
IO SEHHGNPIWEANE BNGIGUMNSHIANHT MSAJSIUYG

iniis:ifummifispiogs
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s eI fieHSains EsS)enSuans SIgN+9) CMmes............

sgusge ISR ob fe nph & Lood

Sean: DaiansRo HES]R ses:0Rs M NS

nnBRafnfdip|upun NE Tel: 098 472 472

SerMmEnsSgRanESS]pMmb
9. umdminnmimusiimanamuping
fi. [Fe(SCN)s]* + 54 H20 — Fe®* + 6 CO2 + 6 NOs™ + 6 SO4> + 108 H" + 97 &
Cr.0% + 14 H*+ 6e - 2 Cr** + 7 H20
§o18: aBmigymimeiimanamuping

6 [Fe(SCN)s]* + 97 Cr207% + 710 H* — 6 Fe** + 194 Cr3* + 36 SO4% + 36 NOs™ + 355 H20 + 36 CO2
shmuThvipupusgsHndnany

169 gumwdmimumimuiivipupudssyndnng

First way balancing by using the method of change in oxidation number

+2 00-1 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)]* + Cry0,* Fe’* + Cr** + 80,7+ NO3 + CO, + H,0
il AN swnG§SKnannYg Fe=+2, S=0, C=0 8% N=-1 ijsi8:Ggsynainnyifisciu

=1

C 2 al C i 1
iLm: Gs]sﬁﬁﬁ;ﬁﬁgmrjﬁiﬁﬁiﬁs ﬁjqﬁiﬁ‘i +m_(+lg):+9 hexathlocyanatOferrate(l I) 1on

sgssessnes: e Huidd
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Ggsunagang U éﬁiiﬁ'smqﬁ' 1mol f{tfit SCN™ 1&g (+6—(0) =+6 Ingufiifuih SCN’

g M S1fsauiu 1mol ftin SCN™ 18] (+4-(0) =+4 sl SCN”

s OMEY C in:dgsxnannyficauMySig +Va

Ggsunainngi AJTifisaiu 1mol fudh SCN 1] (+5—(—1) =+6 InfuiMfHH SCN’

s OMEY N i:dgsynannyicajui i +mo
Hu18:GgSHRARRYIASAIIUHY 1 mol [Fe(SCN)]* 18] +9+MO+Vc+MD=+E [l

GSSHAMRRYSWY: AU 1mol Ftih Cr07% 18] (+3—(+6) = -3 Ingh{iifuih Cr.0

08 VY Cr in:G§SHrfnnys Wy aojuieg —o
iifjeruipupudysyngangifisin vipugudssynajanys weagmudugigan
6(+ &) & 97(-9)

+2 00-1 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* +97Cr,0,> +710H" —> 6Fe’" +192Cr*" +36S0,> +
+5 -2 +4 -2

36NO; + 36CO, + 355H,0

uupigugsmgunaiasenajnisuysini goisudugtmiM & C§iugudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisndapimifuiafpiossss @HiHsMaH) W MEExV=M90

sgssessnes: e Huidd
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1i6w Juvimigngmimelivipogudssynajnng
Second way balancing by using the method of change in oxidation number
+2 0-10 +6 -2 +3 43 +6-2 +5-2 +4-2
[Fe(SCN)g|* + Cr,0,* Fe3*+ Cr¥* +80,2 + NO; + CO, + H,0
il Annswnd§SKnagnnY Fe=+2, S=0, C=—1 81 N=0 fsiS:G§synannyifisciu

1 1 mol [Fe(SCN)s]* 18 € F
in: Sgsundnngmgyl iR aguig] +M—(+19)=+9

.,H

GysHnRnnyid éﬁitﬁsmqﬁ 1mol ftii} SCN™ 1&d (+6—(0) =+6 ingujAiFHuTH SCN°

s 9HEY S im:ﬁg%ﬁﬁﬁjﬁﬁﬁiﬁﬁﬁiwﬁrﬂgﬁﬁiﬁ +M9

" al

fgsunainny M SR8 afU 1mol Huin SCN 1 (+4—(-1) =+5 inghgbfuin SCN°

e 9HEY C in:dgsyndnngiisauMySig +mo

GgsunaganygH A Hithisauiu 1mol fuih SCN 18] (+5-(0) =+5 Inghgifuin SCN”

e OMGY N 1n:dgsyninnygiisui ffitg +mo
Hu18:GSSHARRRYIASAIUHY 1 mol [Fe(SCN)el* 18] +9+MO+MO+MO=+E 1

GSSHRIURMYSWE: AU 1mol ftlh Cr07% 18] (+3—(+6) = -3 Inghiifuih Cr.0%

<g
1

08 UHGY Cr 1n:6g8HRaAInnYs Wy juieg —o

ifidigjuipupudgsndinnyifis 8y vipupudgsundnnyswastdmuduginon

1 v
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6(+ER) &1 97(-9)

+2 0-10 +6 -2 +3 +3 +6 -2
6[Fe(SCN)¢]* +97Cr,0,% +710H" ——> 6Fe’" +192Cr*" +36S0,> +
+5 -2 +4 -2
36NO;” + 36CO, + 355H,0

ubupigudssmgugnaiosenajmisnysiai guis:udugatmiM & C§unndn
O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisndapimiftiafpiostss WHINSMAH) wf MEExV=M90

wem guadmmumimulivipuipudssandnang

Third way balancing by using the method of change in oxidation number

+2 -100 +6 -2 +3 +3 +6-2 t5-2 +4-2
[Fe(SCN)6]4- + Cr2072- —_— Fe3+ + Cr3+ + SO42_ + NO3- + COZ + HzO

il fnnswnd§synannYg Fe=+2, S=—1, C=0 81 N=0 ij518:Ggsynannyifisciu

i 1 mol [Fe(SCN)e]*" 16 € 1

ol 2 al ol
iy Ggennanngmguliififsaomug +M—(+19)=+9

o & al ol

Ggsunajang U SR sau 1mol ftdh SCN™ 18] (+6-(—1) =+7 inghijdFui SCN

4

e OHEH S im:ﬁgsrqﬁﬁjﬁﬁgtﬁsmwﬁrﬂéﬁﬁﬁj +al

sgssessnes: e Huidd
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Ggsunajnng M ShRsniy imol fuft SCN™ 1§ (+4-(0) =+4 Ingu§lfuin SCN’

s 9HEY C in:dgsynannyfisuMySi +Vc

fgsunajnnyi QJtifiseuiu 1mol ftfh SCN™ 184 (+5—(0) =+5 hfhijaFh SCN

ns OMEY N in:dgsynannyiicjui fffigd +mo

eI G3SHARRAYIRSAIUHY 1 mol [Fe(SCN)s* 18] +9+c 1+ Gc+MO=+E (I

GSSHRMRRYSWY: AU 1mol Ftih Cr.07% 18] (+3—(+6) = -3 Ingh§iifuih Cr.0

1 =

N8 UHINHY Cr i91:6$SHRANNYS W ajuia) —o

iifjeruipupndysyndangiisin vigupudssynajanyswyiaimudarigan
6(+ER) &4 97(-9)

+2 -100 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* +97Cr,0,% +710H" —— 6Fe’" +192Cr*" +36S0,> +
+5-2 +4 -2

36NO; + 36CO, + 355H,0

®

nfuniguégsmyunndicvsapdimisuisini foiscudupimiM & Egiunudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

] o

guisndnpimiftinfpiossys UHINSMAR) Wi MEExV=M90

sgssessnes: e Huidd
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i6c suadmmnmimulivipuipudssundnng

Fourth way balancing by using the method of change in oxidation number

+2 2410 +6 -2 43 43 +6-2 +5-2 +4-2
[Fe(SCN)4]* + Cry0 ——> Fe¥* + Cr** +S0,2 + NO; + CO, + H,0

iiBhANNGwRG§SHRRINNY Fe=+2, S=—2, C=+1 81 N=0 §uiS:8gsinannygiisau
5% 1 mol [Fe(SCN)e]* 16 &€ 1

igm: Ggsunanngmguliififsaomuig +M—(+19)=+9
ﬁ%SﬁﬁﬁﬁﬁE@éﬁiiﬁSﬁﬁﬁ 1mol fjtit SCN™ 1aj (+6—(—2) =+8 iﬁfjﬂ JEUHUH SCN°

s 9HEY S im:ﬁgsﬁﬁﬁﬁﬁgtﬁsmw@&mﬁﬁ +acG

Ggsunainny M S1Rsafu 1mol Huih SCN™ 18 (+4—(+1) =+3 Inghgiifuin SCN°

s OHI{Y C im:dgsynignnyifisajuMySig +90

GgsunaganygH O fitfiseuiu 1mol fuih SCN 18] (+5-(0) =+5 Inghgifuin SCN”

C 3 1
1

e OHEY N 1:dgsynannyiis i fJfig +mo

GYSHRAURNYBWE: AU 1mol {uft Cro07 1] (+3—(+6) = -3 ing{jlfulh Cr.0>

w8 VIEGY Cr inGgsHnannyswy:auig -9

ifidigjuipupudgsndinnyifis 8y vipupudssundnnyswastdmuduginon
6(+ER) &1 97(-9)

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGomoe




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

43 2410 +6 -2 +3 +3 +6 -2
6[Fe(SCN)¢]* + 97Cr,0,> +710H* —— 6Fe’" +192Cr’" + 3650, +
+5-2 +4 -2
36NO; + 36CO, +355H,0

nduinighdgsmgunndivsepamisanaini guisudagpimiM & Eiuaudn

, & 1

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

al o o

guisndapimiftiafpiossss WHINSMAH) W MEEXV=90

'Yy

e e gandmigngmimstivipugudysyndnng
Fifth way balancing by using the method of change in oxidation number

+2 -20+1 +6 -2 +3  +3 +6-2 +5-2 +4-2
[Fe(SCN)gl* + Cry0 —> Fe3*+ Cr¥* +S0,% + NO; + CO, + H,0

il fnnswnG§syngnyg Fe=+2, S=—-2, C=0 81 N=+1 §u18:GgsHnanngiisaiu

i 1 mol [Fe(SCN)e]* 16 &€ F1

o 04 U |

Ggsunajany STiTReaU 1mol ftdh SCN™ 18] (+6-(—2) =+8 inghidiFui SCN

(g A ST +a 6

Ggsunainny M S1Rsagu 1mol Huin SCN™ 18] (+4-(0) =+4 Ingu§lfuih SCN”

e OMEY C in:dgsynannyificauMySia] +Vc

1 v

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiGomb




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
Ggsunajnng) fJfifsaiu 1mol fuft SCN™ 1 (+5-(+1) =+4 Ingu Ui SCN’

s OHEY N in:dgsynajnnygifisui g +Vc

Ho1s:GgsunAinRyRSAUHY 1 mol [Fe(sCN) Y 18] +9+G G+ +Va=+EN

GSSHRIIRNMYSWY: AU 1mol FUih Cr07% 18] (+3—(+6) = -3 Inguiftih Cr.0*

08 UHGY Cr in:Gg8HnRannYs Wy aujuieg —o
iifjeruipupudysyngangifisin vigugudssynjanys waagpudugigan
6(+EF) 81 97(-9)

+2 -20+1 +6 -2 +3 +3 +6 -2
6[Fe(SCN)¢]* + 97Cr,0,> +710H* — 6Fe’" +192Cr’" +36S0,% +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

ubupigusgsmgunaiosenajmisapsini goisudugtmiM & C§iugudn
O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697
guisndapimiftiafpiossgs HINSMAH) Wi MEExV=M90
169 Fuwdmmaymimelivipupudssyndjany
Sixth way balancing by using the method of change in oxidation number

+2 +1-20 +6 -2 +3 43 +6-2 +5-2 +4-2
[Fe(SCN)6]4- + Cr2072- —— Fe3+ + Cr3+ + S042- + NO3- + COZ + HzO

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiGomm




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
il fnnswnG§SHRagnnY Fe=+2, S=+1, C=—2 81 N=0 §u18:GgsHnainnygiisai

1 1 mol [Fe(SCN)s]* 18 € F1

ign: Sgenndnnymegyt i iR +M-(+19)=+9

4

Ggsunagang U S TR 1mol FUl SCN™ 16 (+6-(+1) =+5 ingaddfth SCN°

| o

e OHEY S im:dgendnngifismuiN Siifg +mo

b=1

GgsunainnyM U SR8 afu 1mol Huin SCN™ 1y (+4—(-2) =+6 Inggbfuin SCN°

s OHEY C in:dgsyndnngfismuMySig +mo

Gy nnyH) {J NiRSAIU 1mol fjh SCN™ 1] (+5-(0) =+5 iﬁﬁh [Oftih SCN-

s OMEY N i:dgsynannyiisajui ffitgg +mo

:GgSHRAIRAYIRS MUY 1 mol [Fe(SCN)e™ 160 +9+MO+MBD+MO=+E 1

GSSHRAINRYSWH2 AU 1mol HUTH Cr07% 18] (+3—(+6) = -3 Ingu§iHuih Cr.0*

08 VY Cr in:G§SHAfinnYs Wy aojuieg —o
iifjeruipupudysyndgangifisin vipugudssynajanys weigmudaggan
6(+ER) &1 97(-9)

+2 +1-20 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* +97Cr,0,7 +710H" — 6Fe’" +192Cr*" +36S0,> +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGome




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
ubapigadgsmyunndiosenajmissy el goscudngtmiM & Edunuén
O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisidnpimifuinfpiossss HINSMAH) W MEEXV=90

166 faBmimagmimelivipogudssyngany
Seventh way balancing by using the method of change in oxidation number

+2 +10-2 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)4]* + Cry0, — > Fe¥* + Cr** + 80,2 + NO; + CO, + H,0

il innfwnG§SHRannYg Fe=+2, S=+1, C=0 8% N=-2 Jui8:GgsHnanngiisaiu

1 1 mol [Fe(SCN)s]* 18 € F1

seennInngmyuli HRsud +M—(+19)=+9

b=1

fun éﬁitﬁsmw 1mol ftfi SCN™ 167 (+6—(+1) =+5 Taghljfuih SCN

vS im:t‘igsr@ﬁﬁ;ﬁﬁgtﬁsmw@éﬁiiﬁ +Mo

fgsunainny M S1Rsafu 1mol Hufn SCN™ 18§ (+4-(0) =+4 Ingu§uifuih SCN”

s OHEY C in:dgsyndnngfisumMySig +Va

GgsunaianygH A HtRsuiu 1mol ftin SCN 14 (+5—(-2) =+7 ingu§fiuih SCN°

a
1

e 9 N in:dgsynajnnygiisjui i +GV

Hu18:GgsHnAnRYIRSAIUHY 1 mol [Fe(sCN)el* 18] +9+MO+Vc+C=+E 1

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGome




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

GSSHNAUNNYSWY AU 1mol Ftl Cr.07% 1a] (+3—(+6) = -3 Ingh§iifuih Cr.0%

018 UHIHY Cr in:6g8ynannys Wy ajuieg —o

ifujejuipupudssyndnngfisdh vipvpudssyndnnys wassdmidpigan

(4

6(+ER) &1 97(-9)

+2 +10+2 +6 -2 +3 +3 +6 -2
6[Fe(SCN)g|* + 97Cr,0, +710H — 6Fe’" +192Cr** +36S0,* +
+5-2 +4 -2
36NO; + 36CO, + 355H,0

idapigad gsmyunnginsenajmissygind goiscudugitmi M & Egiugudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

al S o

guisdagptmifuindicstgs OEIMSMAH) W MEEXV=90

1%

1686 Fawmigagmimelvipupusssyndnny
Eighth way balancing by using the method of change in oxidation number

+2 0-2+1 +6 -2 +3  +3 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cr,0,* Fe¥*+ Cr'* +S0,> +NO; + CO, + H,0

iiBhANNGWRGSSHRRINNY Fe=+2, S=0, C=—2 81 N=+1 oS :Egsynajnnygifisau

1 1 mol [Fe(SCN)s]* 18 € F1

ol 2 al ol
im: Ggexnadnngmguiiififsaomug +M—(+19)=+9

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGomd




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

Ggsunagang U éﬁiiﬁ'smqﬁ' 1mol f{tfit SCN™ 1&g (+6—(0) =+6 Ingufiifuih SCN’

g M S1fsaiu imol ftih SCN™ 18] (+4—(-2) =+6 tugh U SCN”

s OHEY C in:dgsynannyificaumMySia] +mo

Ggsunajnng) fJfifsaiu 1mol fuft SCN™ 1 (+5-(+1) =+4 Ingu§UFuH SCN’
s OMEY N i:dgsynajnnyiisjui g +V9
jors:Ggsqnajangifeaiugh 1 mo [Fe(sCN)e]* 163 +9+MBD+MD+V c=+E 1

G SHMUNRYSWE AU 1mol HUiH Cr.07% 16 (+3—(+6) = -3 %ﬁgﬂi’;nﬁﬁdjﬂ Cr,07%
08 VY Cr in:G§SHnfinnys Wy aojuieg —o
iifjeruipupudysyngangifisin vipugudssynajanys weagmudugigan
6(+EFU) &4 97(-9)

+2 0-2+1 +6 -2 +3 +3 +6 -2
6[Fe(SCN)¢]* +97Cr,0,> +710H" —> 6Fe’" +192Cr*" +36S0,> +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

uupigugsmgunaiasenajnisuysini goisudugtmiM & C§iugudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisidapimiftiafpiossss @HHsMaH) W MEExV=M90

! 4

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiGomel
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i€ fuwdmmaymimelivipupudssyndjany
Ninth way balancing by using the method of change in oxidation number

+2 0 +1-2 +6 -2 +3 43 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cry0,% ——> Fe¥* + Cr¥* + 80,2 + NO; + CO, + H,0

il fnnswnG§SHRagnnY Fe=+2, S=0, C=+1 8% N=-2 §u18:GgsHnannygiisaiy

5% 1 mol [Fe(SCN)e]* 16 &€ 1

ol 2 al ol
iym: Ggsynanngmyutiifiifsaouig +M-(+19)=+9

b=1

GysHnRnnyid éﬁitﬁsmqﬁ 1mol ftii} SCN™ 1&g (+6—(0) =+6 ingujAiHuTH SCN°

4

s 9HEY S im:ﬁgsﬁﬁﬁﬁﬁgtﬁsmw@émiﬁ +M9

b=1

Ggsunainny M S1Rsaqu 1mol Huih SCN™ 18g (+4—(+1) =+3 Inghgiifuih SCN°

8 MY C m:dgsyndnnyfisuuMySig +90

i v

GgsunajnanygH) A NRsiu 1mol ftin SCN 14 (+5—(-2) =+7 ingu§fiuih SCN°

s 9 N i:dgsynannyiisjui i +cV

Ho18:G§SHRARRYIRSAIIUHY 1 mol [Fe(SCN)el 18] +9+MO+9 G+al9=+EFl

5SSHRUNAYS WE MU 1mol HUTh Cr.07% 14 (+3—(+6) = -3 ingh{iHuih Cr.07

08 WY Cr 19:68ynainnyswy iy —o

ifidigjuipupudgsndinnyifis 8y vipupudssundnnyswastdmuduinon

6(+ER) &1 97(-9)
sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGomd




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

+2 0 +1-2 +6 -2 +3 +3 +6 -2
6[Fe(SCN)¢]* + 97Cr,0,> +710H* —— 6Fe’" +192Cr’" + 3650, +
+5-2 +4 -2
36NO; + 36CO, +355H,0

nduinighdgsmgunndivsepamisanini guisudagpimiM & EGiuaudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisidapimiftinfpiossss HINSMAH) wf MEEXV=90

'Yy

15890 fuadmmagmimulfvipupudssynaany
Tenth way balancing by using the method of change in oxidation number

+2 -1-1+1 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)gl* + Cr,0,* — > Fe3* + Cr¥* +S0, + NO; + CO, + H,0

iiBhAnnfwndgSHRdNHY Fe=+2, S=—1, C=—1 811 N=+1 fsi8:6gSHnannyifisuju

4 1 mol [Fe(SCN)s]* 18 € F

ol 2 al ol
im: Ggeunanngmguliififsaomug +M—(+19)=+9

GysHRanny i) éﬁitﬁsmw 1mol f{tfit SCN™ 183 (+6—(—1) =+7 innhgfuTh SCN’

< v
1

4

s OHEY S im:ﬁ§8ﬁﬁﬁﬁﬁ§iﬁsmqﬁ@éﬁiiﬁ +acl

sy M StRsauiy 1mol Huid SCN™ 18] (+4—(-1) =+5 InghijiFuih SCN”

HjU C nbgsynninngiisauMySiaj +mo

1 v

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGomé




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
Ggsunajnny) fJHifsaiu mol fuit SCN™ 1 (+5-(+1) =+4 Ingu Ui SCN’

s OHEY N in:dgsynajnnygifisui g +Vc

Ho1s:GgsunAinnyRSAITUEY 1 mol [Fe(scN)el 18] +9+G+M O+ c=+E 1

GgsHNNAYSWE:AIY 1mol {uft Cr.0/ 1] (+3—(+6) = -3 Ingu s Cr.0->

08 VHEGY Cr i :GgSHRgnNYSwy: /oy —9

iifjeruipupudysyngangifisin vigugudssynjanys waagpudugigan

6(+EF) 81 97(-9)

+2 -1-1+1 +6 -2 +3 +3 +6 -2
6[Fe(SCN)¢]* + 97Cr,0,> +710H* — 6Fe’" +192Cr’*" +36S0,* +
+5-2 +4 -2
36NO; + 36CO, +355H,0

ubupigusgsmguinaiasenajmisnysini goisudugtmiM & C§iugudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisidagptmifuindicstgs OEMsMag) W MEExV=90

1%

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiG9c0
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16699 fuamigagmimulivipugudgsynajany
Eleventh way balancing by using the method of change in oxidation number

+2 -1 +1-1 +6 -2 +3 43 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cry0,% ——> Fe¥* + Cr¥* + 80,2 + NO; + CO, + H,0

il fnnswnG§SHRgNNY Fe=+2, S=—1, C=+1 81 N=—-1 ij5i8:6$ SHnRAInnyIR S U
5% 1 mol [Fe(SCN)e]* 16 &€ 1

ol 2 al ol
iym: Ggsynanngmyutiifiifsaouig +M-(+19)=+9

b=1

1 O

dgsunanny iU S sy 1mol ftih SCN™ 18] (+6—(—1) =+7 taghmHuih SCN”

1 - M

4

s 9HEY S im:ﬁgsﬁﬁﬁﬁﬁgtﬁsmw@émiﬁ +cl

b=1

Ggsunainny M S1Rsaqu 1mol Huih SCN™ 18g (+4—(+1) =+3 Inghgiifuih SCN°

8 MY C m:dgsyndnnyfisuuMySig +90

i v

GgsunajnanygH) A HtRsiu 1mol ftin SCN 1] (+5—(-1) =+6 ingu§mfuih SCN°

s O N i:dgsynannyisui fJfig +mo

Ho18:G§SHAARRYIASAIIUHY 1 mol [Fe(SCN)el 18] +9+G+9G+MD=+E(l

GSSHAAINRYS WG AU 1mol HUTH Cr.07% 18] (+3—(+6) = -3 Ingu{iHuh Cr.0*

08 WY Cr 1n:68ynainnyswy ajuieg —o

ifidigjuipupudgsandinnyifis 8y vipupudssundnnyswastdmuduginon

6(+ER) &1 97(-9)
sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiGoco
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+2 -1+1-1 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* + 97Cr,0,% +710H" — 6Fe*" +192Cr*" +36S0,> +
+5-2 +4 -2

36NO; + 36CO, + 355H,0

nduinighdgsmgunndivsepamisanini guisudagpimiM & EGiuaudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisndapimiftinfpiossys WHINSMAH) wf MEEXV=90

'Yy

1591 gurmdmignymimelfivipugudgsynanny
Twelfth way balancing by using the method of change in oxidation number

+2 +1-1-1 +6 -2 +3  +3 +6-2 t5-2 +4-2
[Fe(SCN)gl* + Cr,0,* — > Fe3* + Cr¥* +S0, + NO; + CO, + H,0
ilBhAnnfwndgSHRdNHY Fe=+2, S=—1, C=+1 81 N=-1 §sis:6gSHnannyifisuu
41 1 mol [Fe(SCN)s]* 18] € F
ol 2 al ol
im: Ggeunanngmguliififsaomug +M—(+19)=+9

GysHRanny i) éﬁitﬁsmw 1mol f{tfit SCN™ 167 (+6—(+1) =+5 Taghjbfuih SCN

s OHEY S iS’]:ﬁgSﬁﬁﬁ‘j‘ﬁﬁgiﬁSﬁjwﬁrﬂgﬁﬁﬁj +Mo

sy M StRsauiy 1mol Huid SCN™ 18] (+4—(-1) =+5 InghijiFuih SCN”

HjU C nbgsynninngiisauMySiaj +mo

1 v

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGoch




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
Ggsunajnng) fJifsau 1mol fuin SCN™ 14 (+5-(-1) =+6 Ingn§Ofuin SCN’

e OHEY N in:dgsynajnnyifisui i +m9

Ho18:GgsunAlnnyRSAITUHY 1 mol [Fe(SCN)e 18] +9+MO+MO+MO=+E (1

GSSHRIIRNMYSWY: AU 1mol FUih Cr07% 18] (+3—(+6) = -3 Inguiftih Cr.0*

018 VY Cr in:6g8ynannys W ajuieg —o
iifjeruipupudysyngangifisin vigugudssynjanys waagpudugigan
6(+EF) 81 97(-9)

+2 +1 -1-1 +6 -2 +3 +3 +6 -2
6[Fe(SCN)]* + 97Cr,0.> +710H — 6Fe’" +192Cr’*" +36S0,* +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

ubupigudgsmgunaiosenajmisaysini goisudugtmiM & C§iugudn
O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisndapimiftiafpiossgs HINSMAH) Wi MEExV=M90

W[E9M Guwdmmnmimulfvipopusgsndnny

Thirteenth way balancing by using the method of change in oxidation
number

+2 -3 +1+1 +6 -2 +3 43 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cry0,% ——> Fe¥* + Cr¥* + 80,2 + NO; + CO, + H,0

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGocm
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il innfwnG§SHRNNY Fe=+2, S=-3, C=+1 81 N=+1 §t18:GgSHnaInnyIRs iU

1 1 mol [Fe(SCN)s]* 18 € F1

ign: Sgenndnnymegyt i iR +M-(+19)=+9

& al

Ggsunagang U S1iTiR U 1mol Fui SCN™ 16 (+6-(—3) =+9 inpndDfuin SO\

| o

s OHEY S in:bgeyndnngifisauiN Siilg +¢c

-

b=1

GgsunainnygM U S1Rsafu 1mol fuih SCN™ 18 (+4—(+1) =+3 Inghgiifuin SCN°

s 9HEY C in:dgsynannyfisouMySig +9C

Gysunnnyi) {JNIASAIU 1mol ftjh SCN™ 1] (+5—(+1) =+4 iﬁﬁﬂ [Oftih SCN-

e OMEY N i:dgsynannyiisjui ffig +Vc

:GgSHRARRYIASAITUHY 1 mol [Fe(SCN)e* 160 +9+8H G +9 G+ c=+E [

GSSHRAINRYSWH2 AU 1mol HUTH Cr07% 18] (+3—(+6) = -3 Ingu§iHuih Cr.0*

08 VY Cr in:G§SHAfinnYs Wy aojuieg —o
iifjeruipupudysyndgangifisin vipugudssynajanys weigmudaggan
6(+ER) &1 97(-9)

6[Fe(SCN)4]* +97Cr,0,% + 710Ht — 6Fe*" +192Cr** +36S0,* +
+5-2 +4 -2
36NO; + 36CO, + 355H,0

sgssessnes: e Huidd
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ubapigadgsmgenndiosenajmissyeind goscudngtmiM & Ediunuén
O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisidnpimifuinfpiossss HINSMAH) W MEEXV=90

1569 ¢ fuwdmigagmimulivipopusgsHRnng

Fourteenth way balancing by using the method of change in oxidation
number

+2 +1-3+1 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)4]* + Cry0,% ——> Fe3* + Cr** + S0, + NO; + CO, + H,0

B hANNGWRGSSHRINAY Fe=+2, S=+1, C=—3 84 N=+1 §j618:G§SHRaGnnyIRS U

1 1 mol [Fe(SCN)s]* 18] € F

ol 2 al ol
iym: Ggsynanngmyutiifiifsaouig +M-(+19)=+9

b=1

ﬁ%SﬁﬁﬁjﬁﬁgﬁrﬂéﬁitﬁSﬁﬂU 1mol ftfit SCN™ 167 (+6—(+1) =+5 Taghjfuih SCN

s MY S im:Ggsyniinnyifismiu ﬁﬂsmiﬁi +MO
GgsHnanny MU S1RsIY 1mol fuf SCN 1] (+4-(-3) =+7 Ingh{mufh SCN
e OMEH C in:dgsyndnngisumMySig +cV
GgsunaganygH A fithseuiy 1mol i SCN™ 18] (+5—(+1) =+4 tﬁga' [Oftih SCN-
e OHEH N in:dgsynannyisui g +Va

1S :Gg R IRRYIRSAIUHY 1 mol [Fe(SCN)* 18] +9+M O+ W+ c=+E 1

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGocH




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

GSSHNAUNNYSWY AU 1mol Ftil Cr07% 1a] (+3—(+6) = -3 Ingh§iifuih Cr.0

018 UHIHY Cr in:6g8ynannys Wy ajuieg —o

ifujejuipupudssandnngfisdh vipvpudssyndnnygs wasidmidpigan

(4

6(+ER) &1 97(-9)

12 +1341 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* +97Cr,0.> +710H" — 6Fe’" +192Cr’" +36S0,* +
+5-2 +4 -2
36NO; + 36CO, + 355H,0

idapigadgsmyunnginsenajmissind goiscudugitmi M & Egiugudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

al S o

guisdagpimifuindicstss OEIMSMAH) W MEEXV=90

1%

No part of this compilation may be reproduced or distributed in any form or by any
means, or stored in a database or retrieval system, without the prior written consent.

69 & guwdmamimulivipupudgsynanng

Fifteenth way balancing by using the method of change in oxidation
number

+2 +1+1-3 +6 -2 +3  +3  +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cr,0,7 —  Fe3*+ Cr¥* + 80,2 + NO; + CO, + H,0

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢MiGocd




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
il nnswHE§SHRNNY Fe=+2, S=+1, C=+1 81 N=-3 §jt18:GgSHnaInnygiRs iy

1 1 mol [Fe(SCN)s]* 18 € F1

ign: Sgenndnnymegyt i iR +M-(+19)=+9

4

Ggsunagang U S TR 1mol FUl SCN™ 16 (+6-(+1) =+5 ingaddfth SCN°

| o

e OHEY S im:dgendnngifismuiN Siifg +mo

b=1

Ggsunainny My S1Rsafu 1mol fuih SCN™ 18 (+4—(+1) =+3 Inghgifuih SCN°

s 9HEY C in:dgsynannyisoumMySig +96

Ggsunainngi A Hifisauiu 1mol ftdh SCN™14] (+5—(-3) =+8 inguljmftih SCN

e OMEY N i:dgsynajnnyiisjui ffig +GC

:GgSHRAIRRYIRS MUY 1 mol [Fe(SCN)e* 160 +9+MO0+9 G+a G=+EF

GSSHRAINRYSWH2 AU 1mol HUTH Cr07% 18] (+3—(+6) = -3 Ingu§iHuih Cr.0*

08 VY Cr in:G§SHAfinnYs Wy aojuieg —o
iifjeruipupndysyngangiisin vigugudssynajanys weagmudagigan
6(+ER) &1 97(-9)

6[Fe(SCN)¢]* + 97Cr,0.% +710Ht — 6Fe’" +192Cr*" +3680,% +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

sgssessnes: e Huidd

Facebook: Kimsrea Houn Jipioldy |




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
ubapigadgsmyunndiosenajmissydind gomscudugtmiM & Ediunuén
O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisdnpimifuiafipiostss HINSMAH) W MEEXV=90

7§99 fumdmimmagmimulivipupudgsyndnny

Sixteenth way balancing by using the method of change in oxidation
number

+2 -3+20 +6 -2 +3 43 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cry0,7 —>  Fe*+ Cr¥* + 50,7 + NO; + CO, + H,0

iiBhAANGwRG§SHRRINAY Fe=+2, S=-3, C=+2 81 N=0 §ui8:5§sHnajnnyifisaiu
1 1 mol [Fe(SCN)s]* 18] € F

ol 2 al ol
iym: Ggsynanngmyutiifiifsaouig +M-(+19)=+9

b=1

Gysynagnny g éﬁitﬁsmw 1mol ftfit SCN™ 187 (+6—(—3) =+9 innhffh SCN’

< v
1

s OHIY S im:ﬁgsrqﬁﬁgﬁﬁgtﬁsmwﬁrjjéﬁiiii +&G

fgsunainnygM U S1RsaIfU 1mol Huih SCN™ 18] (+4-(+2) =+2 Inghiifuin SCN°

e OMEH C in:dgsyndnngisumMySig +9V

Ggsunainnyi AJTitfisaiu 1mol ftdh SCN™ 1] (+5—(0) =+5 iafhMHuiH SCN

e OHEH N in:dgsynainnyiisui fffigd +mo
Huts:GgeHRIRRYIRSAIUHY 1 mol [Fe(SCN)]* 18] +9+H G+ 919+MO=+E (I

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiocd




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

GSSHNAUNNYSWY AU 1mol Ftil Cr07% 1a] (+3—(+6) = -3 Ingh§iifuih Cr.0

018 UHIHY Cr in:6g8ynannys Wy ajuieg —o

ifujejuipupudssandnngfisdh vipvpudssyndnnys wassdmidpigan

(4

6(+ER) &1 97(-9)

+2 3420 +6 -2 +3 +3 +6 -2
6[Fe(SCN)g|* + 97Cr,0,% +710Ht — 6Fe’™ +192Cr**" +36S0,> +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

idapigadgsmyunnginsenamissyindi goiscudugitmi M & Egiugudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

al S o

guisdagptmifuindicstgs OEIMSMAH) W MEEXV=90

1%

15690 Shadmigmimuiiuipuipudgsyndnnyg

o

Seventeenth way balancing by using the method of change in oxidation
number

+2 -3 0+2 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cr,0,% ——> Fe3* + Cr¥* + S0, + NO; + CO, + H,0

b anGwndgSHn Nty Fe=+2, S=-3, C=0 81 N=+2 §uiS:E§synajnnygifisau

b1

f# 1 mol [Fe(SCN)s]* 18] € FU

ol 2 al ol
im: Ggexnadnngmguiiififsaomug +M—(+19)=+9

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGocs




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

Gysunagang U éﬁiiﬁ'smw 1mol f{tfit SCN™ 18 (+6—(—3) =+9 Tnghffuih SCN’

e 9HEY S in:dgeynidnnygifisn ﬁﬁﬂéﬁiif{j’ +la

fgsunajnnygM ) S1Rsagu 1mol Htin SCN™ 18§ (+4-(0) =+4 s SCN”

s 9HEY C in:dgsxnannyficauMySig +Va

Ggsunajnng) fJTifsaiu 1mol fuft SCN™ 1 (+5-(+2) =+3 Ingu U SCN’

e OMEY N i:dgsynannyiisjui g +9C
jors:GgsqnajanyiRsaiugh 1 mo [Fe(SCN)e]* 16 +9+EG+VG+9G=+EMN

G SHMUNRYSWE AU 1mol HUiH Cr.07% 16 (+3—(+6) = -3 %ﬁgﬂi’;nﬁﬁdjﬂ Cr,07%
08 VY Cr in:G§SHrfnnys Wy aojuieg —o
iifjeruipupudysyngangifisin vipugudssynajanys weagmudugigan
6(+EFU) &4 97(-9)

2 3042 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* +97Cr,0,> +710H" —— 6Fe’" +192Cr’*" +36S0,* +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

uupigugsmgunaiasenajnisuysini goisudugtmiM & C§iugudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisndapimifuiafpiossss @HiHsMaH) W MEExV=M90

! 4

sgssessnes: e Huidd
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BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
1690 fawimmagmimulivipupudssynaany

Eighteenth way balancing by using the method of change in oxidation
number

+2 +2-30 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cry0,7 —>  Fe*+ Cr¥* + 50,7 + NO; + CO, + H,0

il A nNK WG §SHn NNy Fe=+2, S=+2, C=-3 81 N=0 §ui8:GgsHnannygiisaiu
1 1 mol [Fe(SCN)s]* 18 € F

al 2 al ol
igm: Ggsunanngmguliififsaomuig +M—(+9)=+9

.,H

GysHnRnnyid éﬁitﬁsmqﬁ 1mol f{Ui SCN™ 1&d (+6—(+2) =+4 ingutjibfuiia SCN’

| o

s OHEY S im:dgeynanngifisauiN Siilig +Va

b=1

fgsunainnyM U S1Rsafu 1mol Huin SCN 1 (+4—(-3) =+7 inghgbfuin SCN°
s MY C m:dgsynidnnygfisauuMy S +cU

o U |

fgsunainnyi AJTifsaiu 1mol fufh SCN™ 18] (+5—(0) =+5 taghijifuih SCN

we OMEGY N 1:dgsyndnnygis i fJfitg +mo

9 "

GSSHRRGRRYSWG: AU 1mol Ftlh Cr.07% 18] (+3—(+6) = -3 InghAifuih Cr.0%

08 UHGY Cr 19:6§8HraInnYs Wy ajuieg —o

- 1

ifidigjuipupudgsndinnyifis 8y vipupudssundnnyswastdmuduinon

1 v

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGoue




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

6(+ER) &1 97(-9)

+6 -2 +3 +3 +6 -2
+2 +2-3 0
6[Fe(SCN)¢]* + 97Cr,0,> +710HT — 6Fe*" +192Cr’" +36S0,> +
+5-2 +4 -2
36NO; + 36CO, +355H,0
ndupnitudgsmyunndivsapdmisaisini goiscuduptmiM & EGinuautn
O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisndapimiftiafpiossss HINSMAH) wf MEEx=M90

1569 € ghadmimmnmimsiiuipopusgsyndnng

Nineteenth way balancing by using the method of change in oxidation
number

+2 +2 0-3 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)6]4- + Cr2072- —_— Fe3+ + Cl‘3+ + SO42- + NO3- + COZ + Hzo

bR nnGwnd§SHRAINHY Fe=+2, S=+2, C=0 81 N=-3 §uiS:Egsynajnnyifisau

i1 1 mol [Fe(SCN)e]*" 16 € 1

ol 2 al ol
igm: Ggennanngmguiiifiifsaoug +M—(+19)=+9

o & al ol

Ggsunajang U SR sy 1mol ftdih SCN™ 16 (+6—(+2) =+4 inguidftih SCN

e OHEH S IS]:ﬁ%SﬁﬁﬁjﬁﬁgtﬁSﬁJ{Uﬁrﬂéﬁitﬁj +Ba

sgssessnes: e Huidd

Facebook: Kimsrea Houn




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
Ggsunajnng M Shsniy imol fufn SCN™ 1§ (+4-(0) =+4 Ingu§lfuihn SCN’

s 9HEY C in:dgsynannyfisuMySi +Vc

fgsunajnngi QJtifiseuiu 1mol ftdh SCN™ 14] (+5—(-3) =+8 irfuljmftih SCN

e OMEY N in:dgsynannyiisuui ifig +GC

oIS G3SHAAIRAYRSAIIUHN 1 mol [FescN)s* 18] +9+ e+l +GG=+E (I

GSSHRMRRYSWY: AU 1mol Ftih Cr.07% 18] (+3—(+6) = -3 Ingh§iifuih Cr.0

1 =

N8 UHINHY Cr i91:6$SHRAINNYS W ajuia) —o

iifjeruipupndysyndangiisin vigupudssynajanyswyiaimudarigan
6(+ER) &4 97(-9)

+2 +20-3 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* +97Cr,0,> +710H" —— 6Fe’" +192Cr’*" +36S0,* +
+5 -2 +4 -2
36NO; + 36CO, + 355H,0

®

nfuniguégsmauundicsapdimisaieini foiscudupimiM & Edinunudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

] o

guisndnpimiftinfpiossys UHINSMAR) Wi MEExV=M90

sgssessnes: e Huidd
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16V 0 Fuaudmigngmimelivipupudysyndnny

Twentieth way balancing by using the method of change in oxidation
number

+2 0-3+2 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)g]* + Cry0,7 —>  Fe*+ Cr¥* + 50,7 + NO; + CO, + H,0

il Annswnd§SHngnnYg Fe=+2, S=0, C=-3 811 N=+2 §ui8:GgsHnannygiisaiu
1 1 mol [Fe(SCN)s]* 18 € F

al 2 al ol
igm: Ggsunanngmguliififsaomuig +M—(+9)=+9

.,H

GysHnRnnyid éﬁitﬁsmqﬁ 1mol ftii SCN™ 1&g (+6—(0) =+6 ingujATHuTH SCN°

b=1

fgsynainnyM U S1Rsafu 1mol Huijn SCN 1 (+4—(-3) =+7 inghgbfuin SCN°
s MY C m:dgsynidnnygfisauuMy S +cU

o U |

fgsynainnyi QJTiRsaiu 1mol ftfh SCN™ 18] (+5—(+2) =+3 ingh{bfin SCN°

s OMGY N 1n:dgsyninnygiis i g +96

] ¥

GSSHRRGRRYSWG: AU 1mol Ftlh Cr.07% 18] (+3—(+6) = -3 InghAifuih Cr.0%

08 UHGY Cr 1n:6§8yrainnyswy iy —o

- 1

ifidigjuipupudgsandinnyifis 8y vipupudssundnnyswatdmuduginon

1 v

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢riGote




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

6(+ER) &1 97(-9)

+2 0 -3+2 +6 -2 +3 +3 +6 -2
6[Fe(SCN)¢|* + 97Cr,0,> + 710H* —— 6Fe¥ +192Cr’" +36S0,* +
+5 -2 +4 -2
36NO5; + 36CO, + 355H,0

ubupigudssmgugnaiosenajmisnysiai guis:udugatmiM & C§unndn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisidnpimiftiafpiostss WHINSMAH) wf MEExV=M90
1809 gamEmigagmimelivipugudgsynanny

Twenty first way balancing by using the method of change in oxidation
number

+2 0 +2-3 +6 -2 +3 +3 +6-2 +5-2 +4-2
[Fe(SCN)6]4- + Cr2072- —_— Fe3+ + Cl‘3+ + SO42- + NO3- + COZ + Hzo

bR AnGwnRS§SHRAINKY Fe=+2, S=0, C=+2 811 N=-3 §uiS:E§synajnnygifisau

i1 1 mol [Fe(SCN)e]*" 16 € 1

ol 2 al ol
igm: Ggennanngmguiiifiifsaoug +M—(+19)=+9

o & al

Ggsunajang U SR sy 1mol fitdi SCN™ 16 (+6-(0) =+6 inghtDfn SCN°

4

e OHEH S im:ﬁgsrqﬁﬁjﬁﬁﬁtﬁsmwﬁrﬂéﬁﬁﬁj +MY

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGoud




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)

GgsunainnygM U S1Rsafu 1mol fuin SCN™ 18] (+4-(+2) =+2 Ingh{iifuin SCN°

s 9HEY C in:dgsynanngfisauMySid +9V

Ggsunajnnyi QJtifiseuiu 1mol ftdh SCN™ 18] (+5—(-3) =+8 irnfuljmftih SCN

e OMEY N in:dgsynannyiisuui ifig +GC

=1

GSSHRMRRYSWY: AU 1mol Ftih Cr.07% 18] (+3—(+6) = -3 Ingh{iifih Cr.0

018 VY Cr in:G§SHRannRys Wy ajuig —o
ifdjgjuipupudgsanAinnyifis Sy vipupudssundnngswasidmnuduminon

6(+ER) &4 97(-9)

+2 0+2-3 +6 -2 +3 +3 +6 -2

6[Fe(SCN)¢]* + 97Cr,0.> +710HT —— 6Fe’" +192Cr’" +36S0,* +
+5-2 +4 -2

36NO; + 36CO, + 355H,0

nfuniguégsmyunndicvsapdimisaieini goiecudupimiM & Edinunudn

O: (97x7) = (36x4)+(36x3)+(36x2)+355 = 697

guisndnpimiftinfpiossys UHINSMAR) Wi MEExV=M90

'Y

8.3CN” + Cu(NH3)2* + le — Cu(CN)s> + 4 NHs

CN +H,0 — CNO +2H*+2¢
§o1ssodminnmimuiimanumuping
sgssessnes: e Huidd
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BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
7 CN™ +2 Cu(NH3)a?* + HoO — 2 Cu(CN)s> + 8 NHz + CNO™+ 2 H™  (wiijinsmjs)
vnOingpinghuiimsna ibnipluigebgsiuih on syahan aajtgs v

7 CN- + 2 Cu(NH3)s2* + 2 OH" — 2 Cu(CN)s> + 8 NHz + CNO™ + H20  (BHJiiStéy)

shmuTiuipupudgsundnng

69 §umdmimnmimelivipupudssundnny

First way balancing by using the method of change in oxidation number

-1 +2 +1 +1 CNO"
CN™ + Cu(NH3),2*_—__» Cu(CN);> + NH; + CNO"

Cyanate anion

iniBhAnndwndgSHRnHY CN'= -1, 81 Cu=+2 fuis:Ggsynannyifisau
fitt 1 mol CN'18f +1—(+1) =+2

il fnnswndgsynannyg Cu=+2 J618:6§SHRUNRYSWHE: U 1 mol Cu(NHs)4*
1] +1-(+2) =1

ifdigjuipupudgsandinnyifis sy vipupudssundnnyswastdmuduginon
1(+2) 84 2(—1) sfiinS CN- + 2Cu(NHs)2* — 2 Cu(CN)s> + NHs+ CNO-
191:688 NH: 1RIGHINS © ShGgSHUN CN- aijunee ® + 9 = 1l

7CN- + 2Cu(NHs)®* — 2Cu(CN)s + 8NHs + CNO"
BUUSH: M(-9) + B(+1) = V(-B) + (-9)
ihughgghauia] -m idugimissiuh o Ggswig)nisinngh 1n:9 oH

viinmneugn -9 ufams

sgssessnes: e Huidd
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BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
7 CN" + 2 Cu(NHz)s* + 2 OH — 2 Cu(CN)s% + 8 NHz + CNO™ + H,0
1i6w guwdmigngmimelivipugudgsynajnng
Second way balancing by using the method of change in oxidation number
0-1 +2 +1 +2-1

CN™ + Cu(NHy),** 5 Cu(CN);* + NH; + CNO"

il AnnKwndgsynannyg C= 0 §o18:SSSHHURNYIRSAIU §1 1 mol CNIRY
+2—(0) =+2

iiBhANNGwRGgSHRANHY Cu=+2 {518 :SSSHRRRYSWHAIUHY 1 mol Cu(NHs)*
1 +1-(+2) =1

iifjeruipupudysyngangifisin vigugudssynajanys weagmudugigon
1(+2) 81 2(-1) uffhn8 CN- + 2Cu(NHs)#2* — 2 Cu(CN)s* + NHs+ CNO-
19:658 NH: 10iGhNe ¢ ShEgSHUN CN- aijutains ® + 9 = fl

7CN° + 2Cu(NH3)##* — 2Cu(CN)z>*+ 8NHz+ CNO"

FRUgH: M(-9) + V() = V-B) + (-9)

tnwugnMgl AUl -m idnpimiceduin on Gyswig)aisigimgh 1M:9 o

uiiimsugh -9 idums
7 CN + 2 Cu(NH3)a?* + 2 OH — 2 Cu(CN)s? + 8 NHz + CNO" + Hz0
idm gamdmigngmimelivigupudgsyndnny
Third way balancing by using the method of change in oxidation number
-10 +2 +1 -1+2
CN- + Cu(NH3),2*—» Cu(CN);> + NH; + CNO"
sgssessnes: e Huidd
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BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
itindanfwntgsynajng C= -1, N=0 jui:S§SHnAnRYIRS AU 1 1 mol CN1A
+2—(0) =+2
itinAanfwntgsynaiing Cu=+2 juis:S§SHRARRYSWY: U 1 mol Cu(NHs)s*
g +1-(+2) =1
iiifferuipupndysndangifisin vipugudssynajanyswyianudartgan
1(+2) 84 2(-1) stfhnS CN- + 2Cu(NHs)2* — 2 Cu(CN)s> + NHs+ CNO-
191:658 NH: 10iGhie ¢ ShGgSHUiN CN- (g neis ® + 9 = fl
7CN- + 2Cu(NHs)}* — 2Cu(CN)s* + 8NHs + CNO"

ghugh: N(-9) + B(+1) = V(-B) + (-9)

Ihwughgighauia -m idugimissiuh o Ggswig)nisinngh 29 oH

viinmneugn -9 ufhms

7 CN" + 2 Cu(NH3)a?* + 2 OH" — 2 Cu(CN)3% + 8 NHz + CNO" + H20

16 c guaudmmnygmimuiivipopudssundnng
Fourth way balancing by using the method of change in oxidation number
241 +2 +1 -2+3

CN" + Cu(NH;3),2*—_» Cu(CN);* + NH; + CNO"

idnfinnawngsyiafnng C= -2, N=+1 §ois:G§SHRRAYIASAIY 1 1 mol CNTA
+3—(+1) =+2

idvfinnawndgsHRAnnY Cu=+2 JuIS:§8HRRRYSWY:ajufh 1 mol Cu(NHs)e
1 +1-(+2) =1

sgssessnes: e Huidd
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BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
iifferuipupndysndangifisin vigugudssynajanys wyaanudartgan
1(+2) 84 2(-1) a8 CN- + 2Cu(NHs)2* — 2 Cu(CN)s> + NHs+ CNO-
19:658 NH: 10iGhNe ¢ SuGgSAUIN CN- aijunaNs ® + 9 = 1l
7CN- + 2Cu(NHs)}* — 2Cu(CN)s* + 8NHs+CNO"

ghugh: AE9) + B(EB) = BB) + (-9)

imwugRnhighauIa -m idnpimisufu on GgsLig)aIsinigh n:9 oH"

uthin SU§H -9 IHAMS 7 CN- + 2 Cu(NHs)2* + 2 OH — 2 Cu(CN)s> + 8 NH3 + CNO" + H,0
e famdmigngmimelivigogudssynajany
Fifth way balancing by using the method of change in oxidation number
+1-2 +2 +1 +10

CN" + Cu(NH3),2*—_» Cu(CN);* + NH; + CNO"

i fnnswndgsynagnnyg C=+1, N= -2 §o18:G§SHRIunyiRsaIIu 4} 1 mol CN16Y
0—(-2) =+2
B hANNGWRGSSHRTINHY Cu=+2 §51S:SSSHARRYSWHIUHY 1 mol Cu(NHs)2*
18] +1-(+2) =1
iidigjuipupudgsandinnyifis 8y vipupudssundnnyswastdmuduinon
1(+2) 84 2(-1) i8S CN- + 2Cu(NHg)2* — 2 Cu(CN)s> + NHs+ CNO-

19:688 NH: 0iGHINS C ShGgSHUN CN- aijunai e ® + 9 = 1l

7CN- + 2Cu(NHs)®* — 2Cu(CN)s® + 8NHs + CNO'

BRUSH: M(-9) + B(+1) = V(-B) + (-9)

sgssessnes: e Huidd
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INWUS NG U -m iduiptmisuiin on GgSWig)nisinngh N:9 oH

tihin SU§H -9 AN S 7 CN- + 2 Cu(NH3)a2* + 2 OH- — 2 Cu(CN)s® + 8 NHs + CNO" + H20
168 famEmignygmimeliuipogudssynajnny

Sixth way balancing by using the method of change in oxidation number

+2-3 2 +1 +2 -1
CN™ + Cu(NH;3), 2, Cu(CN);> + NH; + CNO"

iiBhAnNGwntgSHRdnHY C=+2, N= -3 §oiS:6SSHARANRYIRSIIU 3 1 mol CN1E]
~1-(-3) =+2
iiBhANNGWRG§SHRNAY Cu=+2 §EIS:GSSHAINRYSWH:IUHH 1 mol Cu(NHs)2*
g +1-(+2) =1
ifdjgjuipupusgsHRAnnyIis Sy vipuprudssyndnnyswasidnudugiigan
1(+2) 81 2(-1) i8S CN- + 2Cu(NHs)#2* — 2 Cu(CN)s* + NHs+ CNO-
19:658 NH: 10iGhNe ¢ ShGgsHlih CN- aijuteitns ® + 9 = 1l
7CN° + 2Cu(NH3)##* — 2Cu(CN)z>*+ 8NHz+ CNO"

SRUgH: M(-9) + V(1) = B-B) + (-9)

inwugnnighaiuiy -m idnpimiceduin on Gyswig)aisigimgh 1M:9 o

UIRHMSUSH —9 1M S 7 CN- + 2 Cu(NHs)a2* + 2 OH- — 2 Cu(CN)s? + 8 NHs + CNO" + Hz0
60 Sudmmnmimeiiuipupusssandnng
Seventh way balancing by using the method of change in oxidation number

-3+2 +2 +1 -3+4
CN- + Cu(NH3),2*—» Cu(CN);* + NH; + CNO"

sgssessnes: e Huidd
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il fnnswndgSHRagnnY C= -3, N= +2 §518:GSSHAUNNRYIRS AU 1 1 mol CN1RY
+4—(+2) =+2
il fnnswnG§SHRaNNY Cu=+2 §o18:G§SHRUNNYSWE Ul 1 mol Cu(NHs)4*
1 +1-(+2) =1
ifdjgjuipupudgsandnnyfs§y vipupudssundanyswastdnuduinon
1(+2) 84 2(-1) stfhms CN- + 2Cu(NHg)* — 2 Cu(CN)s> + NHs+ CNO-

191:658 NH: 10iGhie ¢ ShGgsHiN CN (it ne ® + 9 = 1l

7CN- + 2Cu(NHs)?* — 2 Cu(CN)s® + 8NHs+ CNO

ghugh: N(-9) + B(EB) = VL) + (-9)

Ihwugheighaua] -m idugimissiuh o Ggswig)nisinigh 1n:9 oH

UIRHMSUSH -9 1M S 7 CN-+ 2 Cu(NHa)2* + 2 OH- — 2 Cu(CN)z + 8 NHs + CNO™ + Hz0
60 gudmimumimulivipupudssyndnng
8" way balancing by using the method of change in oxidation number

-4+3 +2 +1 -4+5
CN™ + Cu(NH;3), 2, Cu(CN);> + NH; + CNO"

itdAanfwnGgsHinng C= -3, N= +2 fu18:6§8HAARAYRSAIU §it 1 mol CN'IRY
+5—(+3) =+2

itdAanawntgsHnainng Cu=+2 uie:SgsyRiRnYSWY:wugh 1 mol Cu(NHs)s*
1y +1-(+2) =1

ifidigjuipupudgsndinnyifis 8y vipupudssundnnyswatdmuduginon

sgssessnes: e Huidd
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1(+2) 84 2(-1) a8 CN- + 2Cu(NHs)2* — 2 Cu(CN)s* + NHs+ CNO-

19:658 NH: 1hiGhNe ¢ SuGgSHUIN CN- aijunaNs D + 9 = 1l

7CN + 2Cu(NH3)* — 2 Cu(CN)s® + 8NHz+ CNO’

ghugh: AE9) + B(B) = BEB) + (-9)

imwugRnhighauIa -m idnpimisufiu on Ggswig)nisinnigh YNz oH"

tihin SU§H -9 AN S 7 CN- + 2 Cu(NH3)a2* + 2 OH- — 2 Cu(CN)s2 + 8 NHs + CNO" + H20
e fumdmmuymimelivipogudssynajany
9" way balancing by using the method of change in oxidation number
+3-4 +2 +1 +3-2

CN™ + Cu(NH3)2* —» Cu(CN);* + NH; + CNO"

il fnnswndgsynannyg C= +3, N= 4 §618:6§SHRANNYIRSAIU §j1 1 mol CN'1RY
2 (—4) =42
il fnnswrG§SHRannYg Cu=+2 §618:G§SHRUNRYSWHE U 1 mol Cu(NHs)4*
1) +1-(+2) =1
ifdjgjuipupudgsandinnyifis 8y vipupudssundnnyswastdmuduminon
1(+2) 84 2(-1) i8S CN- + 2Cu(NHs)2* — 2 Cu(CN)s> + NHs+ CNO-
19:658 NH: 1IGHNS © SWGgSHUN CN- aijune e ® + 9 = 1l
7CN- + 2Cu(NHs)®* — 2Cu(CN)s® + 8NHs+ CNO'

BRUSH: M(-9) + B(+1) = V(-B) + (-9)

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢fiGodm
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ihtugRggh oA -m idugimissiuh o GgSWig)nisinngh N:9 oH

UIRHNSUSH -9 IHUMS 7 CN- + 2 Cu(NH3)2* + 2 OH" — 2 Cu(CN)zZ + 8 NHg + CNO" + H20

No part of this compilation may be reproduced or distributed in any form or by any
means, or stored in a database or retrieval system, without the prior written consent.

890 ghadmimamimulfuipuipnds sundnny
10™ way balancing by using the method of change in oxidation number
4+3 +2 +1 -2+3

CN™ + Cu(NH;3), 2, Cu(CN);> + NH3 + CNO"

iiBhAMNGwRG§SHRRNKY C= 4, N= +3 §uiS:GSSHRAnNRYIRS U {1 1 mol CN1eY
D (—4) =42

iiBhANNGWRG§SHRGNHY Cu=+2 §EIS:HSSHANRYSWHIUHH 1 mol Cu(NHs)2*
g +1-(+2) =1

ifidjgjuipupusgsHnAnnyfs Sy vipupudssyndnnyswasidmudugiigan
1(+2) 81 2(—-1) ufhtnS CN- + 2Cu(NHs)##* — 2 Cu(CN)s> + NHs + CNO-
191:658 NH: 20iGhNe ¢ ShGgsHih CN- aijuteins ® + 9 = 1l

7CN° + 2Cu(NH3)#* — 2Cu(CN)z*+ 8NHz+ CNO"

gRUgH: M(-9) + V(1) = V-B) + (-9)

tnwugr gl Ut —m idnpimiseiuin on SgswiIg)aIsingh M9 oH"

UIRHMSUSH -9 1M S 7 CN + 2 Cu(NH3)2* + 2 OH" — 2 Cu(CN)s? + 8 NHs + CNO' + Hz0

sgssessnes: e Huidd
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16899 fumBmignymimelivipgogudgsynajnny
11™" way balancing by using the method of change in oxidation number
+4-5 42 +1 +4-3

CN" + Cu(NH3),2*—_» Cu(CN);* + NH; + CNO"

il innswrd§eKnagnnyg C= +4, N= -5 §618:5§SHRUNNYIRSAIIU §j1 1 mol CN'IRY
_3-(=5) =+2

iiBhANNGwRG§SHRENHY Cu=+2 §618:GSSHANRYSWH:IUHH 1 mol Cu(NHs)
g +1-(+2) =1

iifjeruipupudysyniangifisin vigugudssynajanys weagmudugigan
1(+2) 81 2(-1) a8 CN- + 2Cu(NHs)#2* — 2 Cu(CN)s> + NHs+ CNO-
19:658 NH: 210iGhine ¢ ShGgsHlin CN- it iNs ® + 9 = 1l

7CN + 2Cu(NH3)4#** — 2Cu(CN)z*+ 8NHz+ CNO"

FRUgH: M(-9) + V(1) = V-B) + (-9)

Ihwughgghasuia] -m idugimiissiuh on Ggswig)nisinngh n:9 oH

it SUgMH -9 IHRMS 7 CN- + 2 Cu(NHs)a2* + 2 OH — 2 Cu(CN)z? + 8 NH3z + CNO" + H20
tidou fuudmmngmimuelfivipupudssyndnny
12" way balancing by using the method of change in oxidation number
544 +2 +1 -3+4

CN" + Cu(NH3),**—_,» Cu(CN);* + NH; + CNO"

inilhAnndwndgsHnanny C= -5 N= +4 JoiS:GgSHnAnngIRSaiju 4 1 mol CNieY
—3—(-5) =+2
sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGodl




BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
itdindanfwntgsynaiing Cu=+2 juis:S§sHnAfnnySwy: iU 1 mol Cu(NHs)s*
g +1-(+2) =1
iifferuipupndysndangifisin vigugudssynajanys wyaanudartgan
1(+2) 84 2(-1) a8 CN- + 2Cu(NHs)2* — 2 Cu(CN)s* + NHs+ CNO-
19:658 NH: 210iGhNe ¢ SuGgSHUIN CN- iy Nne D + 9 = 1l
7CN + 2Cu(NHs)}* — 2Cu(CN)s* + 8NHs+ CNO"

Bhugh: N(-9) + V(1) = V-B) + (-9)

Ihwughgighauia] -m idugimissiuh o Ggswig)nisinngh 29 oH

it SU§M -9 IHUMS 7 CN- + 2 Cu(NHs)a2* + 2 OH- — 2 Cu(CN)z? + 8 NH3z + CNO" + H20
adom GuarBmignymimelfivipogudgsynajany
13" way balancing by using the method of change in oxidation number
6+5 42 +1 -6+7

CN" + Cu(NH3),**—,» Cu(CN);> + NH; + CNO"

itdAanfwRGgsHininng C= -6, N=+5 u18:6§8HAARAYRSAIY §it 1 mol CN'IHY
+7—(+5) =+2

itiAanfwtgsHinnng Cu=+2 §u18:6§8HRRRYSWY:UGH 1 mol Cu(NHs)s*
16 +1-(+2) =1

ifidjgjuipupudgsandinnyifis 8y vipupudssundnnyswastdmuduginon

1(+2) 84 2(-1) N8 CN- + 2Cu(NHs)2* — 2 Cu(CN)s> + NHs+ CNO-

19:688 NH: 0GhNe © ShGgSHUIN CN- aijunaine ® + 9 = 1l

sgssessnes: e Huidd
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7CN- + 2Cu(NHa)®* — 2 Cu(CN)s® + 8NHs+ CNO"

ghugh: AE9) + B(EB) = BV) + (-9)

imwugRnhighauIa -m idnpimisufiu on Ggswig)nisiniigh 1n:9 oH"

UIRHNSUSH -9 IHUMS 7 CN- + 2 Cu(NH3)2* + 2 OH" — 2 Cu(CN)zZ + 8 NHz + CNO" + H20

th§9c fundmigagmimeliivigupudssindnny
14" way balancing by using the method of change in oxidation number
-6+5 2 +1 -6+7

CN" + Cu(NH3),**—_ . Cu(CN);> + NH; + CNO"

iidhAanfwndgSHRAnAY C= -6, N= +5 §oiS:GSSHRANRYIRSMIU 1 1 mol CN1tY
+7—(+5) =+2
Wi AnNGwRGYSHARGRY Cu=+2 ijBIS:GYSHARNRYSWE:IfUHH 1 mol Cu(NHs).?
g +1-(+2) =1
ifdigjuipupudgsandinnyifis 8y vipupudssundnnyswastdmuduminon
1(+2) 84 2(—1) N8 CN- + 2Cu(NHs)2* — 2 Cu(CN)s> + NHs+ CNO-
191:658 NH: 1IGHENS ¢ SWGgSHUN CN- aijunee ® + 9 = 1l
7CN- + 2Cu(NHs)2* — 2Cu(CN)s® + 8NHs+ CNO'

phUgH: M(-9) + V(1) = V(-B) + (-9)

ihughgighauia] -m idugimissiuh o Ggswig)nisinngh 1n:9 oH

Uiﬁﬁm SUSH -9 IS 7 CN- +2 Cu(NH3)4?* + 2 OH" — 2 Cu(CN)3* + 8 NH3 + CNO" + H20

sgssessnes: e Huidd
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hdod famdmmaymimeliuipugudssynajnny
15™ way balancing by using the method of change in oxidation number
+6-7 +2 +1 +6 -5

CN" + Cu(NH3),2*—_» Cu(CN);> + NH; + CNO"

il innswrd§eKnagnnyg C= +6, N= -7 §618:6§SHRAUNNYIRSAIIU §j1 1 mol CN'IRY
5(=7) =42

iiBhANNGwRG§SHRENHY Cu=+2 §618:GSSHANRYSWH:IUHH 1 mol Cu(NHs)
g +1-(+2) =1

iifjeruipupudysyniangifisin vigugudssynajanys weigmudugigan
1(+2) 81 2(-1) a8 CN- + 2Cu(NHs)#2* — 2 Cu(CN)s> + NHs+ CNO-
19:658 NH: 210iGhine ¢ ShGgsHlin CN- it iNs ® + 9 = 1l

7CN + 2Cu(NH3)4#** — 2Cu(CN)z*+ 8NHz+ CNO"

FRUgH: M(-9) + V(1) = V-B) + (-9)

Ihwughgghasuia] -m idugimiissiuh on Ggswig)nisinngh n:9 oH

UIRHMSUSH -9 IHUMS 7 CN + 2 Cu(NH3)2* + 2 OH" — 2 Cu(CN)s? + 8 NHs + CNO + Hz0

. [UO]* + H:0 — [UO]* + 2 H + 2 ¢
Uranyl nitrate UO2(NOs)2

Cr,07% +14 H* + 66" — 2 Cr¥* + 7 Hz0 ium trioxi
207 —atr 2 UO; uranium trioxide

goissfmigamimuliminamuping UO, uranium dioxide

3 [UOJ? + Cr,07 + 8 H' — 3 [UOZ* +2Cr¥* + 4H,0  (WLijiNSMAls)

sgssessnes: e Huidd

Facebook: Kimsrea Houn ¢hiGoad



https://en.wikipedia.org/wiki/Uranium
https://en.wikipedia.org/wiki/Oxygen
https://en.wikipedia.org/wiki/Nitrogen
https://en.wikipedia.org/wiki/Uranium_trioxide
https://en.wikipedia.org/wiki/Uranium_trioxide

BHSRIIEs: B FBi SpnenigseigssgenSnags ©ign9)
1680 famEmignymimeliuipopudssynajnny
First way balancing by using the method of change in oxidation number

+4 +6 +6 +3
[UO]*" + Cr,02 ——~  [UO,*" + Cr*

1 mol [UOJ?* §& +6—(+4) =+2

il AnnswnRdgsHnannYg Cr=+6 JuiS:G§SHRUNRYSWHEMIULHH 1 molCr.0-

i) +3—(+6) =3 i whhiuih Cr.07Z MSM{y Cr G§8V I HARRARYS WG IUEH
1 molCr.07* 18 2(-3) =6

3(+2) 84 1(-6) ifhms 3[UOJ* + Cr.0# — 3[UO2J** + Cr3*
ihwdgsmyugndniusnlighns9o Shahadms » fuissudhpiisucdiunmuén

anaf M hamgmyungiuspfisudiugudng inuisvegiugudnniag

al 9 al

G gsmpufiiis ananul guis udnpfisviuinfpicvsdgscanmgh bims

3[UOJ* + Cr:0* +8H* — 3[UO,]** + Cr¥ +4 H;0
W.2 HslOg + 14 H* + 14 & — I + 12 H,0

21— 1>+ 2e
§o18 s admIgmimuiimanamuping
2HslOs+14 1"+ 14 H* > 8L+ 12H,0 1

HslOs+ 7 I'+7H* -4+ 6 H,O  (HHjfNSMajH)
sgssessnes: e Huidd
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1669 fundmimngmimelfivipopusssyndnny
First way balancing by using the method of change in oxidation number

+7 -1 0 Hs1Os orthoperiodic acid
HIO0, + I — > 1, H2106 or HIO4+2H-0

1,05 diiodine pentoxide

107 diiodine heptoxide

iiBhAnndwndgsynannyg 1=+7, 1=—1, 1=0 §oi8:65SHRAnNRYIASUIUHY

1 mol Fujnfujg 17164 0-(-1) =+1

B A ANBwRGSSHRMGHRY 1=+7 JHIS:GSSHRMUNRYSWGEIUHH 1 mol HslOs
10 0—(+7) =7

iiffejuipupudysyngangifisin vigugudssynajanys weagmudugigan
7(+1) 84 1(-7) uiums HslOs+ 71 +— I

nwigsmysitEanmghuuns G i udupiisuisgan canysiuls (1)

IMwnhafgmgEHE U TUSY medugics DYIUHUIGH

al 9

imwanngagmgui [l S e insidagptics nAuWARIS

1Yy

iHAMe HslOs+7 1"+ 7HY = 41, + 6 H.0

v. f. anuipvEusunuTagdn

oM SUnPnInWaInG  AgCl () Ag* (aq) + CI (aq)

Ksp = [Ag+] [C|] =1.6x1010

sgssessnes: e Huidd
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MBJUYS AG® = -RT In K = — (8.314 J/K.mol) (298K) In 1.6 x 1010

= (8.314 J/K.mol) (298K) (=10 In 10 + In 1.6)
=56 kJd/mol

618 UIPUEURNYAMLTATAIIM AG° = 56 kI / mol

2. HiANSINIY AG wpoicnn§is: fanprinh§anslisifing
OEMITINUIIRARY  N,0. (9) 2 NO; (g)

MUJuyg AG = AG°+ RT In Qp

TiNW AG° =5.40 kd/mol, T =298 K, R = 8.314 J/K.mol

PNO,)2 (0.122)2
Qp = FNO2) S Q27 4 gy 102
P N,0, 0.453

iwhms  AG =5.4 kd/mol + (8.314 J/K.mol) (298K) In 3.29 x 102

= 5.4 kJ/mol + (8.314 J/K.mol) (298K) (-2 In 10 + In 3.29)
= 5.4 kJ/mol - 8.45 kJ/mol = - 3.05 kJ/mol

618: UHPUEUNBAMIAT AG = - 3.05kJ / mol

tinwaly AG <o fanalisinyisifinufiguisiapiddfamssarddng

U ihwniy Qe < ke ois:Fanalispinysifinuiigiislapddiamssnrddng

m. fi. auncoriEmisipinytinhidgpihsigithpits

(4

A — CH;= CH-CHs

sgssessnes: e Huidd
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2. nnNSfitmuAi{Hh sitislioon uofpinypimelnaon:inm o 9§

mujusg In [Al = -kt +In [A]y Summary of the Kinetics of Zero-Order, First-Order

. . and Second-Order Reactions
W t=9nF =540 ¢

k=6.7x10%st 831 [Alo=0.35M Concentration-Time
Order  Rate Law Equation Half-Life

ms In[Al, = 6.7x10*s?x540s+In035 .., A=k bk

=-0.3618 -1.050 = -1.4118 1 rate=k[A]  MAl=M[Al-kt  Ee= 'nTQ

11 1
T )

36T [AL = e~ 14118 — 0 o4 M
S’]@J[ l=e 0 2 rate = k[A]?

goisidhmsfiuntagpihsismuigiaon (Al=024 M

f. iipimawanuins @6 ingiiiuhAnpihsenag 74 %2

[A]o [Alo
=K ==xIln—7
- < Seg 1= X Al

s um wma R sily 1000 wnwmgisnstinmnng 740 in:Appheisin

. [Alo _ 100 _ 10
100 % — 74 % = 26 % 186 A UMBIWIAS UG uRtnd AL 26 " 26
t .

MUJUYS In—°

1 < In 10
6.7x104s-1 2.6

1ms t=

1 _ _
“67x10-4s-1 (IN2+1n5-1n2.6) =2009 i1& = 33.5 NG

w. sanSuwInmARAmupingis:inth @6

In 2 0.693 - o
=————————=-1034 116 =172 D&

MUJUBE tr = == ————

¢. annmmaiwm v shizhituansignsisighunwaig
anaradmimapingASmuihommnwispfisngnind
Cu + 4 HNO3 — Cu(NO3)2 + 2 NOz + H20

sgssessnes: e Huidd
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2 Cu(NOs)2 + 4 KI — 2 Cul + I + 4 KNO3
I2 + 2 $203% — S406* + 2 I°

MEATMI n (12) =3 n (5205%) WM Cy = 0.1 molidm? §#1 Vs =122 mL =122 x 102 L

100 SN AITIT AT 25 mL 1S n (12) =5 x 0.1 mol/dm?® x 12.2 x 103 L = 6.1 x 10 * mol

250 mL

TN N WAIYWAIHNS 250 mLIS1HNS n (1) = (S

)6.1x 10 “* mol =6.1 x 10 * mol
MUAITMI n (Cu)=2n(12) =2 x 6.1 x 10 3 mol = 12.2 x 10 * mol

1812 m (Cu) = 12.2 x 10 -* mol x 64 g/mol = 0.7808 g

Hois:ithums % cu= 0'?80: £ X 100% = 97.6 %

2. AN TH D W{MATS:

gty lﬁ'Lmﬁ =m (Cu) + m (Ag)

; ; d?
V(H‘Iﬁjiﬁm[ﬁ[,mﬁ)zﬂz h 30 d=8mm=85cm,h=7mm=0.7 cm

(8.5 cm)?
=3.14 x A 7 X 0.7cm =39.7 cm?

sigjth mmmn:tsﬁ%ﬁhqmﬁm WM =d (Cu) x V = 8.96 g/cm? x 39.7 cm?

ﬁ‘ummmn:Lmﬁiﬁhqum WA = d (Ag) x V = 10.49 g/lcm? x 39.7 cm?

IWRIMADN AN IS 92.5 % 84 ehiidh 7.5 % At

i SMAITHRNWME = (0.075 x 8.96 g/cm? + 0.925 x 10.49 g/em?) X 39.7 cm? = 411.90 g
> Gam: giqpuneinpan winmig)smnuosamaiiumsiins

. ﬁnnmmmmm&ﬁﬁsmﬁﬁgtmt_?mﬁm WE ASIS:

ronedtoEmimapiingho

sgssessnes: e Huidd
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Cu +4 HNO3 — Cu(NO3)2 + 2 NO2 + H20
Ag+ 2 HNO3 — AgNOs + NO2+ H20

Au + HNO3 — g s{usfifiyg
AgNOs + HCl — AgCl + HNO3
ARIANT: 0.067 g T AIS §RIM ST WIUIIANTN: B 0Y

0.067 g

IHAMS % Au = x 100 % = 1.34 %

fifi1 6.114 g iU gUmSIMWpHingth AgCl

6.114g

MEEMINANTITNDS n (Ag) = n (AgCh = ——">— 2 il

=0.043 mol

.’éﬁﬁj m (Ag) = 0.043 mol x 108 g/mol = 4.644 g

o 4.644
iBums % Ag == £ % 100 % = 92.88 %

IHUMS % Cu =100 % — (% Au + % Ag) = 100 % — 94.22 % = 5.78 %
d. GIHANGIUBSIN W UMHISIHAGANG A B, 81 C (nANEININ:ER
1169 1916ANGH A MMBURHAT 15 % 181/A3GANMA 100 °C

W EIGIUHT CuSOs 5 H20: M (CuSO4.5 H20) = 250 g/mol

15x 250

11880 CuSOs 5 H20 MEUVRHAT = s

= 37.5 g /mol

& CuSOs 5 H20 1STRIAT = 250 — 37.5 = 212.5 g/mol

IBRMS 160 + 18 X = 212.5 1G] X = 3 GIUHU

oIS JuBSNWamumiiSIsIFASANG A & cuso. 3 H0 shitudumniFahn
18V 1816ANG{HH A UNHUAHAT 15 % 1-1EG{HANMA 100 °C

WNAIGIIHAS CuSO4 5 H20: M (CuSO4.5 H20) = 250 g/mol

I MBIWATNAINE CuSOs 5 H20 1]TAIA = 100 % — 15 % = 85 %
sgssessnes: e Huidd
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I AICUSOL 5 H.0 MATRHAT = 85;‘02050 =212.5 g /mol

i S 160 + 18 X = 212.5 818 X = 3 GIUHU

Ho1SJuuginwamumyiS asiphdnnsg A & cusos 3 H.0 shighdiumadiphin

T8 m 1sidansiph A Haumioda 15 % 181dganma 100°C

HNIGIHAS CuSO4 5H20: M (CuSO4.5 H20) = 250 g/mol

IEMBIW SN AIME CuSO. 5 H20 18165 = 100 % — 15 % = 85 %

IR MS 8596 = 2%, 10006
250
1M 160 + 18 X = 212.5 §16] X = 3 GIUHU
OIS JuESNWmumiiSISIFASANG A & cusos 3 H.0 ghidhafumnidfhis

i8¢ 1s1GAnoh A Mienivdia 15 % 1S1EGHANMA 100 °C

W EIGIUHT CuSO4 5 H20: M (CuSO4.5 H20) = 250 g/mol

18X (] "
1812 15 % = ———x 100 816] X = 2 §IUHA

(=] o U (] !

in:ilhnesgsgiuguGnitumnvhig 2 giugn

juis:tgsdiugudniduisiungh o omegs: s g -
HGISJuSINW AIMmiiSsigIpAGANG A & cusos 3 H.0 il
169 1515ANG1HH B MuNHUAHAT 28.5 % 18TAHANMA 190 °C
WAIYIHS CuSOs 5 H20: M (CuSO4.5 H20) = 250 g/mol

" U 1 L} 28!5X250
111 fICuSO, 5 H,O MAHVAH = ~Too - 71.25 g /mol

M aICuSO. 5 H20 18180 A5 = 250 g/mol — 71.25 g /mol = 178.75 g/mol

NS 160 + 18 X = 178.75 818] X = 1 GIUFH U
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oIS jusginwamumyisisipdans B & cuso. H.0 shldidfumnganipnin

16w 1gidansipd B Hiumauinms 28.5 % 1S1QAHAHNMA 190 °C

M AIYIHT CuSO4 5H20: M (CuSO4.5 H20) = 250 g/mol

I MBI AT M CuSO4 5 H20 181AIAT = 100 % — 28.5 % = 71.5 %

. 71.5x250

1B RICUSOs 5 H.0 NEUVRHAT = g = L7875 g/mol

IHHMS 160 + 18 X = 178.75 818 X = 1 HIUHU
IoISJuuginwammmiiSisipidnns B & cuso. H.0 ghidhdiumagandhin
TREm 1815ANG1HH B Munivhnm 28.5 % 181Q0GHANMA 190 °C

TG CuSO4 5 H20: M (CuS04.5 H20) = 250 g/mol

IS MBI AIME CuSOs 5 H20 18160 AT = 100 % — 28.5 % = 715 %

o 160 + 18 X
1MW UNMNMS 71.5 % SR TT— 100 %

1M S 160 + 18 X = 178.75 818] X = 1 GIUHU

HG1SJUHSINWIM MRS ASIHAGANG B & cusos H-0 gdtiudumngand

18 ¢ 1s1Gnapd B Sirumiivia 28.5 % 191RIGHANMA 190 °C

W AIGIIHT CuSO4 5 H20: M (CuSO4.5 H20) = 250 g/mol

18X (] "
1812 285 % =— = x 100 §18] X = 4 §IUHA

i:iBumsdgsiiuguinitumauiig 4 Giugu

guissbgsdiugudninsic
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1G9 1sidansiph c Hrombudnm 36 % 1STaRANMA > 200 °C

HIGIHAS CuSO4 5 H20: M (CuSO4.5 H20) = 250 g/mol

W U ' ' 36x250
1S1: 81U CuSO: 5 H20 METUNH U =~Too - 90 g /mol

N RICUSO4 5H-0 1818IAT = 250 g/mol — 90 g /mol = 160 g/mol

1B ms 160 + 18 X = 160 1G] X = 0 GIAUH
IoISJuBSNWammmiiSasipidnnsG c & cusos shighajums
8V igiGansip c hambuhia 36 % 181AGHANMA > 200 °C
HIYIUHY CuSO4 5H20: M (CuS04.5H20) = 250 g/mol

IS MATW AN AIME CuSOs 5 H20 18160 AT = 100 % — 36 % = 64 %

64 x 250
100

I8/ CuSO, 5 H.0 MHUNHAT = = 160 g /mol

1t S 160 + 18 X = 160 S18] X = 0 HIUEHN

HO1S U SINWIM MRS ASIFEAGANG C & cusos ghidh i
THGm 1816nNG 1 c HMAURHAT 36 % 19TEGHANMA > 200 °C

W AIGIIHT CuSO4 5 H20: M (CuSO4.5 H20) = 250 g/mol

IEMAIWRIB IME CuSOs 5 H,0 18T80AT = 100 % — 36 % = 64 %

o 160 + 18X
WA mMS 64%=TX 100 %

itiams 160 + 18 X = 160 81G] X = 0 HIUHIU

§o1SjusginwamumyiSisipdans c & cusos shighajums
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18 c 1sidansih c B umivhaas 36 % 181RGGANMA > 200 °C

M AIYIUHT CuSO4 5 H20: M (CuSO4.5 H20) = 250 g/mol

18 X . .
1812 36 9% = - x 100 §18] X = 5 FIUHN

inudhnstgsgiunudnitumiudieg s Giugu
goissGgsdiunuinis ISl AT g fOE MR 5 IR - 5 IR = 0 §IUR
IGISJUESNWmmiISIsiFRdanG A & cusos siitndumhi

oy Fusappninw: u)s Fu(An

E-mail: hounkimsrea@gmail.com

imwngwhifsgumaaniuhinm mssposh gddmsinwnnweiys
NWHSHHIBINGHIEUEHIGINGTRHIN:F RSN GNSWEUR WHE?

si)sthiimn 9oghifufoipuindy

ogiiRn{MA 9N N[N SFRIGH

sgssessnes: e Huidd
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1RSSR R IBHIS) SN IBHIFS (BINN+9) SKIRE............
sfuse igd b ie em g Lo9d

85 DHIKRSRO HESRP §65:6005 M 50

9. g’iﬁjﬂﬁﬁjﬁﬁﬁis AEIAIma R Imy:

0

. Asenmasianan) Syna
A. pgijjy gioamegpaniudan)

4

1. 36-8pj-2- 18 G rURUMS-4-H U U JuiHigmeasme(1)
b. gituT IS o umgnnmy:

[CoBr(NH3)s]SO4 [Fe(NH3)s][Cr(CN)s] [Co(SO4)(NHs3)s]* [Cr(NH3)3(H20)3]Cls
[Pt(NH3)sCl] Brs K4[Fe(CN)s] Naz[NiCl4] Pt(NH3)2Cl4 Fe(CO)s
(NH4)2[Ni(C204)2(H20)2] [Ag(NHs3)2][Ag(CN)2]

m. AANKEI8Y Cu 841 Br, liuggumsiugeuSimarglinnty CuBr, Ihwi{iH§jo{Ra

SorugRIwNN 1 IASAGISEAME 45 A7 IR HGYIT]U Cu: 64, Br:80 53769, 13449

G. AT S NS CuSO..5H20 84 MgSO..7H.0 (pimsIagaA i au)afauns [paisidiso2g
tsunusis g asddnum&n (Anhydrous salt) 118818y 2.988 g1 HANIM AL ThE1 dived
CuSO45H20 i UBSHAMNNLS T IHG]H ﬁjmgmﬁjﬁ Mg:24,Cu:64,S:32,0:16, 70.72%

&. A AejGIgIsigaMaihafuSimaywmsgadtu Mgclh it n 18 18101 1A
FGRUMESaAISHT 48x 10° g7 GimnnSGigHieulliugamaT 20x10°A

2. B gitiii 0.300 g (AT SARIGM I YA AJJA CuSO, IENUIGIS 3.00 A FiMIH 8y IS AR
TUSEN R 304 s GIA AN RIGIGIUNALE T I8G[E UM GHIR)U Cu: 635 96520 C/mol
9. IRGIWARY  2NO(g) + 0, (g) 2NO; ()

181855 NN 430 °C YN ATSINFTATRAHES 0.020 mol Oz, 0.040 mol NO §# 0.96 mol NO, 1
GiannN S alY Ke 87 K, isutnmasiuiag 020 atm  Kp = 146880, Kc = 8.48 x 10°
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1RSSR R IBHS) SN IBHIFS (BINN+9) SKIRE............

sfuse igd b ie em g Lo9d

mLmééﬁj“ﬁ“ﬁrLﬁ]HLﬁmn NIE Tel: 098 472 472

SirmsjaneEsSanansssanmc
9. l;iﬁﬁ[ﬁﬁjﬁﬁﬁisﬁjmﬁjmﬁmhleH: All RIghtS reserved

fi. [Fe(NHs)s] (NOs)s HOUN Kimsrea
MIN§JAT: AIAR (NHs) (ATIUTIIRUN S th #0188 (ammine) BsfusiuTlinup:th Mg mfire

N W I H UM AN G IS SR AUURUSA(GS SHAMN ARY) jUIRTFYS] ITRHBrITIEIITS::

n.o(Fe) + (0) x 6 + (1) 3=0 1G] n.o(Fe) = +3 I{fNs NH: B AGAAANA (neutral ligand) :1SUSAIA]
Py 8] §htj§:ﬁ§Lmﬁ (NO%) 18 111 I
Wi :ARsugatnsys AoUgAETgMsmW I NH G RTINS :

[Fe(NHa)e]** tnSirun:Fuinfcanmssian(in)

ugnis SR AFEmaA] +3 iAo guifuiniima wgnmmg -1) g8 3

rugjuin 11 famagjGgsuaniany +3 ivsstnu:tnat ISR [Fe(NHz)s] (NO3)s
HGI8: [Fe(NHs)s] (NOs3)s n8iunsth #ganndsian(n) Syna

8. (NH4)2[CuCl4]

mingja: i AFGUSATGMISYS ARGUSARIGMSIMW 19 RN GASTTIMS:
[CuCla]> snStruf s th FUiRE{FIRUIMAQI)

winA§snoe -2 ign:fifosjupifuinmgaistgs 2

o -’

:GgsHnainny Cu i IEISHN [CuCly* 18] n.o(Cu)+(-1)4=-2 816 no(Cu)=+2
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U ejuin 11 SAMANGGgSHAMANRY +2 IvaSIANU: Cu i SHN [CuCl]? Iyms
ARd[jeSughag -1

§GIS: (NHa)2[CuCls SIRUN:th MG EIE{MgIauma)

7. Nas[FeCI(CN)s]

MIN§IA: IUTHAN AR GUSAIGBSYS ARGUSAHIGMISIMW I IThMGAIIIIIMS:

L]

[FeCI(CN)s]> sn8sru:th Fuingitiamagpaniyhsn)

4 J

Rindgj (chloro) Lnfm'rlmm ySIAAMINAN (cyano) IgMSIUTIMBHPIAY

RHWRARGANTA] -3 ipn:Afsis:fjupAfunagjusgs 3
:GgsynAInnY Fe 180N [FeCI(CN)sI I n.o(Fe) + (-1) + (1) 5=-3 §1GJ n.o(Fe) = +3
iugjuin 11 Anmag E§sHARIANY +3 IUASIANTN: Fe fHINS R [FeCI(CN)]*
n: inhagnan 8a pimsugniag -1

§GI8: Nas[FeCI(CN)s] s18tnin st ajijje gitamagpanimiaan)

CHO
O\/O u @

Cyclohexanecarbaldehyde

us. 6-fi-4-18 & ueigAG-3-IHS MM AR

ﬁjgﬁﬁmsmmn}mﬁﬁ

S

Cyclohexene carbaldehyde f:j‘ﬁ
1y
4
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@\/O :

Cyclohex-3-ene carbaldehyde cyclohex-3-ene-1-carbaldehyde Cyclohex-3-ene carboxylic acid  cyclohex-3-ene-1-carboxylic acid

G—3—‘Eﬁ s Mo ﬂlj'[ﬁﬁﬁ 2 3-Cyclohexene carboxylic acid

FIfAG-3-IHSMUAMIMNG U

9 U al m ﬁ
=2 _1_ 3 Fst L] a Py a a
B-3-JHB-1-MOUILER HIEG6 3-gAGIISMUAAIRIG

-apAGius- MO ASIETR

2. 36-8fj-2 e FruAUMS-4-HU

Cl

OH Cl

B. Ks[CoFe] §meayju fo ANGUIHIT M IR

mingas: wilinip:ARsusatgmsys Ajsuganigmsmw I ST G ARSI S
[CoFs]* tNSIAIN N f—’mhnglmﬁjijm RImE(IN)

ugRis SR AFE ] -3 iyn:Afoisjuffuagmagutgs 3

GS§SHAAIANAY Co t18[H [CoFe]* 18] n.o(Co) + (-1)6=-3 §IGj n.o(Co)=+3

ruejuii 1 AnmacjGSsHAIARY +3 IUAIIAN: Co fHFUMS A [CoFel*

M e AOARGWH SUSATA] -1

HGIS: Ka[CoFe] UM ajjt G AN WHigmme(II)
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b. giruT i IS U uma I imy:

[CoBr(NH3)s]SO4 ﬁammi‘sngg'fgmn}(lll) fSruth i

MIN[RI: MEARENETS (ammine) L’rjfmﬂmip:qs ARFIGUEM (aqua) N SIUTTMBHFI{Y
TN M AN AR R U AT A(G§SHARIARY) AU{UIATAI]] IR BRTIRSITS:

n.0(Co) + (0) x 5 + (-2) =0 81G] n.o(Co) = +3 I{fN: NH: chrUAAANE (neutral ligand) 18USH
gy 8] ShugaAgiag -1

il ARsugAlgnsys AsugARIGnSImU IS IR G AT SIS :

[CoBr(NHs)s]?* msrn@:ﬁuﬁhﬁ&mmﬁsméﬁm il

vgnivasHRARSnaa] +2 i ffoisupAfuinduma ugnimg -2) Ggs 1

ruejuii 1 AnmagjGssHAARY +3 Ivpstn M :gmasti ISR [CoBr(NHs)s]SOs

G182 [CoBr(NHs)s]SOs H18IAIN i‘ihmm%ngg'fﬁmn'j(|u) St

[Fe(NH3)s][Cr(CN)e] fiGannsian(n) &sansip npﬁj&ﬁﬁ(ul)

mingas: wilinp:ARsusAtgnsys Ajouganignsmw I ST G ARSI S

[Fe(NHa)e]** ti8tnupn:fiuinfcenmdsiam(n) [Cr(CN)e]* :'-’gu'j;hﬁﬁﬁﬂmpngn[fjﬁﬁﬁ(ul)
sannyliaAgn [Fe(NH)e** 183  n.o(Fe) + (0x6) =+3  81G] n.o(Fe) = +3

21 [Cr(CN)s]* 180 n.o(Cr) +(-1)6=-3 81G] n.o(Cr)=+3

GSSHAMNRAYNBHG +3 811 +6
PR 10 RS FRUN TN :{RIU R T IEN LS #1817
GIS: [Fe(NH3)s][Cr(CN)s] t18tninsth ficanmstiun() fcenapanipehian)
sgssessnes: e Huidd
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[Co(SO4)(NH3)s]* #8inunsth FuinGamndsGruthgmmas(i)

MIN{IR: MEAREETS (ammine) anm: ;g 8RNI It (sulfato) IM S IUTIMUHFI{Y

ENWARGMGRINRUYRUSH (FS8HARIANY) Um‘jﬁgﬁmﬁ}n ORI GASTTUTTNS:

fu
n.o(Co) + (-2) +(0x5) = +1 Sﬁ[‘s‘j n.o(Co) = +3 I{fNs NH3 o AANNE (neutral ligand) 818 U S Iﬁjﬁ;SJ

ShugRRtgIag 21
RUBjEin 11l inMAGjGgSHAMARY +3 :Uﬁ'jmﬂm:[jjﬁfﬁ ISR [Co(SOa)(NHz)s]*
HGIS: [Co(SO4)(NHa)s]* tnstnunsth HuintamenBsiGruthgmmas(i)
[Cr(NHs)3(H20)3]Cls H18 bR s th L§m§SL§mﬁLﬁ;H(III) nj
Mingyrs: inARNEs (ammine) (AHUTIAYSBARMNFUINM (aqua) FMUTIMBHPITY
Wil AREU§AIGNSYs AjsUgARIGMSImL IS IR GAITTRUIIS:
[Cr(NH3)3(H20)3]* 1St s th ﬁu&h@mﬁs@mmga(ul)
ugRisFWRARGHO +3 iy ffosjunifuinpyéss 3

21 [Cr(NHz3)3(H20)3]3* 18 n.o(Cr) + (0x3) +(0x3) = +3 81G] n.o(Cr) = +3
UjEin 111 S AMiGjGgSHAMANY +3 mﬁ'jmmn:[;jﬁfﬁ NS [Cr(NHz)3(H20)3]3*
I{fN 2 NHs 84 H,0 thedAd AN (neutral ligand) MSugn R RS]
§GI8: [Cr(NHs)3(H20)3]Cls tnSIRiN s th L§m§sL§mijUjﬁ(m) g
[Pt(NH3)sCI]Brs tn8inun:th tamadsgimésav) wy

MiNgJas: ARNES (ammine) (AfuT a8 AIRAR (chloro) Iy M MuHGIE
Wil ARsU§AIGNsYs AJsugaRigmsmLs I IR GASTTRITONS
[Pt(NHa)sCII** tnstunsth Huntammdsgimésav)

ugnisasHRARsRaA] +3 ipn:AfoIsijup ifupyGes 3

Pooisies: me Sui
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IS G§SHARAY{UAN [PUNH3)sCIT* 180 n.o(Pt) + (0x5) +(-1) = +3 81Gj n.o(Pt) = +4

uejuiil IV snmiejigsHnainnt +4 ussinu: (& sii s An [PH(NH:)sCIF*
AN NHs AR ANT (neutral ligand) B8 U§ AtATATS] BRWGUSAI -1

Ka[Fe(CN)s] NSt st g ajju feanagpaniungan)

mingias: iwlinip:Aougalfasys AFCUSARIGRSITMW INIThM G AT S:
[Fe(CN)e]* 18 pu s th FindAsansgpaniuyisn)

UgRITRHWNAR SR 4 yn A srs ijul

NAuMGmegjuGgs 4

P}

I GSSHARIAAY Fe B8l [Fe(CN)s]* 180 n.o(Fe) +(-1)6 =—4 S1G] n.o(Fe) = +2
UEjEli 1 SAMiGjEgSHAMANY +2 ivaSIAn: Fe fi IS [Fe(CN)e]”

s AANAIN AN BISTSAIA] -1

HGIS: Ke[Fe(CN)s] H1SIRLN N t:imﬁj%[&i fgorngnaniungEQn)

Y I EYM Ym Ay fiamg

Naz[NiCls] e8I 81 Afiffe IngmpRiamugpa

mingias: TN AFGUSATGRISYS ARGUSARIGMSIMW 19 TN GATTIMS:
[NICla]> s 8 pun sth HeintapmgiSiaugpaqn)

ughis SRR ARoR 2 iyn:fRosjunhfunagutss 2

I :Ggsnnmannylinum St [NiCla]? 18 n.o(Ni) + (-1)4 = -2 816 n.o(Ni) = +2
tsejEin Il AnmdajigsHARTANY +2 IWATIANGN: Ni TEasssER [NICL)*

s AR B1SUSATA] -1

§GI8: Naz[NiCls] tnSirun:th agijjes mgmpisimrugnsqn)
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Pt(NH3):Cls 181run:th SsSsiaimaimésQv)
Mingyrs: iGARENES (ammine) (TUTIIALN sy 8 SRR (chloro) Iy T MBHRIE
YIURIS ARG AN (neutral complex) IANIUSA P IAJU§ARTG 1 SIUASAOAN I i1 4
I GgsHARAY Pt 1871 Pt(NHz)2Cla I8 n.o(Pt) + (0x2) +(-1)4 =0 8IG] n.o(Pt) = +4
Iugjuin IV Anmig i sHAMARY +4 IUATIANU: M FTHANS AN PY(NH:).Cla
N NHs SR ang (neutral ligand) 18U §AIRIAIR] SDEIUGAIAT 17
HBIS: Pt(NH:):Cls t18IRUN:th MBSIAMAIMEsV)
Fe(CO)s wsinun:th tammugtiifi(0)
HIUAMISShAJGANG (neutral complex) KN USA Fe IA] 0 FEhtisani CO thGAAANE (neutral
ligand) S1SUGAIRIAYR] |

FUTUIRIAY S BRNG RSTIRSITNS:
n.o(Fe) +(0x5) =0 §1Gj n.o(Fe) =0 F{Ms CO PFGAANNA (neutral ligand) mSUglﬁtﬁ:jﬁ;SJ
HGIS: Fe(CO)s wsiun:th thmmy i) u fin mysni

(NH4)2[Ni(C204)2(H20)2] t18snun: th s Smnbes@nangpg) innignac)

~J 4
v

MIN§IAI: oA ARGUSAIGUSYS ARGUSAHIGMSI{MW I IThMGAsIIIINS:

[Ni(C204)2(H20)2]> ssinun:zth §tijndmnlasmangng)&innugnac)

USRITRSHWNARGRTA] -2 ipn AR GIsijud

(Y

Afuinmdnudgs 2

21 [Ni(C204)2(H20)2]% 183 n.o(Ni) + (-2)2 = -2 1G] n.o(Ni) = +2

it Seogaangng) ipn:duingnangpacoindigmis (bidentate ligand)
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56182 (NHa)2[Ni(C204)2(H20)2] snsinin:th g Smabrscaangngtacugnan

[Ag(NH2)2][Ag(CN)2] B18ERuN st SIS S{MA(I) &agpansumea()

MINgIRI: oA AR GUSAIGUISYS ARGUSARIGMSI{MW I IThMGAsIIINS:

[Ag(NHa)2]* 18 Ui gmSs{ma() [Ag(CN)2] ftingrynaneujima()

IS1:G§SHAMNARYMARY [Ag(NHa)2]* 18] n.o(Ag) + (0x2) =+1 S1G] n.o(Ag) = +1

a

IS1:G§SHANARYMAR[Y [Ag(CN)2 ] 18 n.o(Ag) + (-1)2=-1 SIG] n.o(Ag) = +1

a

RUEjEIi | ANMAGIESSHAMARY +1 IUAJIAN: Ag

(X4

fihtis [Ag(CN)2]” thiiRBUSAKIGES (anionic complex) 812 Ag {RTIUT IRIN S UM BTN 7

BN :ARTIEMRT IUDIUATIN U UL H6

HGI8: [Ag(NH3)2][Ag(CN)2] ti8Inun:th :MBS{MA() Eagnanmujme()
m. AANSIEIAS Cu 811 Br fiinue grumsisguimantylinnty cusr,
[iasAdMms cur 81 Br

My (BRI AY Cu* + 2& — Cu

2Br — Br, + 2¢

816] mc, = ng,XxMg, LN M, = 645

mol

Q=1It= ne.-xF SW@J ne—=%

I=45A,t=1h=3600s 8h F = 96500 C/ mol

y (4.5 A) (3600 s) — 0.168 mol
96500 C/mol

__ 0.168 mol
- 2

= 0.084 mol

= °'16’2’ mol _ 0.084 mol

g\ _
(0.084 mol) (64-5.) = 5.376 ¢
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mg,, = (0.084 mol) (160 ﬁ) =13.44¢g

€. AANSIM AW EAIIU RS CuSO4.5H0 Fiirutn 8 iy Hydrates

A hydrate is an ionic compound thai has

ﬁji?iﬁ‘liﬁ AMAQN ﬂjﬁl Fin [i‘ﬂ ﬂj'j'l [Iﬁ:fﬁ 18] water chemically attached to ils ions

If the water was remaoved from the hydrate

CuS04.5H20 —  CuSOs +5H20 it becomes anhydrous

Hydrate Anhyarous
MgS0O4.7H20 —  MgSO0s + 7H20 N cuso.

Copperill) sulfate pentahydrate  Coppenll} sulfate

asa
553 g blue crestals - while crystals ::j

i X thE§SY CuSO45H.0 811 Y thi§stins MgS0O4.7H.0

- Let X is mole of CuS0O4.5H,0, then
—_ i A i ) 1
HNW  Mcuso,sm,0 = 25000 S8 Mugso, 7m0 = 24605 1aqs of CuSO4.5H,0 = n.M = 250 X (g)

[ m — 250X 83 m _ 246y LetYismoleof MgSO..7Hz0, then,
CuS04.5H,0 MgS04.7H,0 mass of MgSO..7H.0 = n.M = 246 Y (g)

TN GAIITRUIT S 250X + 246Y = 5029
MupsEMININT  ngyso, = X mol 81 npgso, = Y mol

bih s Mcuso, = 1602 811 My, = 1205

mol mol
IR GRS S 160X + 120Y = 29889
5 250 X + 246 Y = 5.02
160 X +120 Y = 2.988
ITAMS X = ngyso, 51,0 = 0-0142 mol
19K Meuso,sm,0 = (0.0142mol) (250-£.) =3.55¢

nfams % CuS0, 5H,0 = —520y 100 9 = (322£) x 100 9% = 70.72 %

s 5.02g

&
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M X thGg8ns MgS0.7H20 81t Y thG§8Hn CuSO4.5H20

Let Y is mole of CuSO4.5H,0, then,
mass of CuS04.5H,0 =n.M =250 (g)

Let X is mole of MgSO4.7H-0, then,
mass of MgSO..7H;0 = n.M =246 X (g)

guglivg Mcuso, 54,0 = 250ﬁ 811 Mugso, 70,0 = 246 >
{95 Mcyso, 51,0 = 250Y 811 mMygso,7m,0 = 246X

IR GAIIASITNSE 246X + 250Y = 502g
MuIEMINNINT  ngyg, = Ymol 89 Nygso, = X mol

bihtis Mcuso, = 1605 811 My, = 1202

mol mol

IMTREN G ATTIEUITN 8 120 X +160Y =2.988 ¢

246 X +250Y =5.02¢g

120 X + 160 Y = 2.988 g

Y= ncuso4.5H20 = 0.0142 mol

Mcyso,sn,0 = 0.0142 mol x 2502 =3.55g

nams % CuSO,. 5H,0 = — 0% 100 05 = (22£) x 100 % = 70.72 %

mﬂjbj“ltiﬁfiﬁ'ﬂj 5.02 g
aoa

seEaR M

Ml X ty1sd CuSO45H0 8§11 Y thesd MgSO4.7H20

_ rs - _ g Let Xis mass of CuSO..5H,0, then,
BN Mcyso,sn,0 = 250 mol S8 Mugso, 7m0 = 246 mol  mpole of CuS04.5H,0 =E - % (mol)

° a Y
IS1:  ncuso,5m0 = 5 SO NMgso,7m,0 = 352 MOl [ et Y is mass of MgSO4.7H,0, then,

- mole of MgS04.7H,0 =% = ~ (mol)
IREGAIIIITNS X + Y=502¢

MuSMINNINT  neyso, = % mol

fihts Mcuso, = 160 =
-1
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X

ISRMGIININS 160 (250

) +120 (TL) — 2.988

ISTe X+ Y=502g

X
250

Y

160 ( 246

) +120 (5) = 2.988

X = mcyso,5H,0 = 3-54 8

% CuS0,.5H,0 = —5045120 4 100 % = i“: x 100 % = 70.52 %

AN WHY K

Let Y is mass of CuSO4.5H,0, then,

mi X theing MgS0.7H0 81 Yty CuS0s5H0  mole of CuSO.5H0 == = - (mol)

Let X is mass of MgSO..7H;0, then,

X
mole of MgSO4.7H,0 =2 = —— (mol)

PN Mcyso, 50,0 = 250mi01 811 Mwgso,.7H,0 = 246%01
RONEMGAIIININS X+ Y=502g

MupsBMIININT neuso, = 55; mol 811 nygso, =5, mol iii Some lonic Hydrates

50

formula name

— 8 a - -
bty MCu504 =160 mol Sy MMgSO4 ) 120m0] CaSO,2H,0 | calcium sulfate dihydrate; gypsum

X
246

Y
250

CaCl,-2H,0 | calcium chloride dihydrate
LiCl-4H,0 |lithium chloride tetrahydrate

ITH N G RIS 8 120( )+ 160 ( ) — 2.988

Is1e X+ Y=502g MgSO, - 7H,0 magnesium sulfate heptahydrate, epsom
salts

Ba(OH),-8H,0 barium hydroxide octahydrate

X

e (24—6

Y

)+ 160 (35

)=2.988

Na,CO5;-10H,0  |sodium carbonate decahydrate

T g
IOAMS Y= Mcyso, 50,0 = 0.0142 mol x 250m—01 =3.558 |KAI(SO,),12H,0 |potassium aluminum sulfate
| dodecahydrate; alum

niame % CuS0, 5H,0 = —2t30 y 100 94 = (222£) x 100 9 = 70.72 %

l'nrleTI R RiTAL) 5.02 g

SER &
M X e fg CuSOa5H0  IS1SIMINMS  5.02¢g- X theifg MgSO4.7H20

[ifﬂ [ﬁ MCuSO4.5H20 = 250 ﬁ Sh MMgSO4.7H20 = 246% Let X iS msS Of CUSO4.5HZO, then,

502-X 5.02 — X is mass of MgS0..7H,0,
16 mol

X a
(] —_— J—
IR Ncuso,5H,0 = 5z5MOl 81 Nygso, 7m,0 =
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5 5.02 - X
mol S#1  nygo, = —— mol

MuSMISWIG  neyso, = 216

X
250

W Mcyso, = 160> 811 Mpgso, = 1202

ol

5.02-X

IR GRSTIESIT S 160 (250) +120 ( - )_ 2.988

[[ﬁhtﬂs X = mcuso4'5H20 = 3. 54'g

Mcus04.5H,0 354¢g

x100% = ——x100% =70.52 %

TS % CuS0,4. 5H,0 = 502g

Mosnwddn
ST
M X M#ly MgSOs7H20  IS1IGRMS 5029 X M#18d CuSOs.5H20

— g8 & _ g
PN Mcuso,sm,0 = 250 —= 89 Mugso, 70,0 = 246— Let X is mss of MgSO..7H.0, then,

5.02-X

o Q X
IS nc“504_5H20 = 250 mol S8 nMgSO4.7H20 v E mol

5.02 — X is mass of CuSQO4.5H,0,

5.02 - X

MuIEMINNIT  neyso, = T

5 X
mol S nygso, = 72 Mol

W Mcuso, = 160 == 811 Mygso, = 120 £

l ol

5.02 -X

[T 0 G AT TRUTTN 8 160( -

) +120 (%) — 2.988

[[ﬁﬁms X= mMgSO4_7H20 =1.47 g [[f‘itlmS mcuso4_5H20 =5.02—-1.47 =3.55 g

M(Cus0,4.5H,0 5

fams % CuS0,.5H,0 = x 100 % = 02 x100 % = 70.72 %

Mot

858

M X MESSH CuSO.5H0 IR ITImMS  5.029-250 X thiiag MgSO..7H20

Let X is mole of CuS0O,4.5H,0, then,
HENS Meyso, sm,0 = 2505 811 Mygso, 7m0 = 246 -5 mass of CuSO4.5H;0 = n.M = 250 X

and, mass of MgSO..7H0 is

o a 5.02 -250X
[$1 1 ncuso4_5H20 = X mol Sh nMgSO4_7H20 = T mol 5.02 - 250 X

5.02 -250X
246

MUEMINNIT  neyso, = Xmol 811 nygso, = mol

B Meyso, = 1eoﬁ 811 Mpgso, = 120%
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5.02 - 250X

ISRHGAIIRNINS 160X + 120( —

) =2.988
[Lfihm S X= ncuso4'5H20 =0.0142 mol

9B Mcyso, 50,0 = 0.0142 mol x zsoﬁ =3.55g

M(Cus04.5H,0 3.55 3.55g

nams % CuSO0,.5H,0 = x 100 % = x100 % = 70.72 %

Mosnwidn

SR G

M X thGE8H MgSO.7H:0  ISISIETRME  5.02g-246 X 18y CuSO4.5H20
HNtS  Mcyso, 5H,0 = 250% 811 Mwmgso,.7H,0 = 246%

. 5.02 — 246 X -
IS1c NCus0,5H,0 = — 559 MOl S11 Npgso,7H,0 = X mol

5.02 -246 X

MuEMINIG  neyso, = 350

mol 81 Npgso, = X mol

R Let X is mole of MgSO.4.7H:0, then,

BNW  Mcyso, = 160 miol S1 Mugso, = 120miol mass of MgS04.7H,0 = n.M = 246 X
(9), and, mass of CuS0O4.5H,0 is

5.02 -246 X 5.02 - 246 X

R G RITIRUTTN S 160( —

)+120x=2.988

[[Iﬁ:l m S X= nMgSO4 7H,0 = 6X10 mol [Ujij m S mFeSO4 7H20 (6X 10~ mOl) (246g) =1.47 g

IS mc“504.5H20 =502—-1.47 =3.55 g

355g
502g

McyuS0,4.5H20

nfams % CuSO0,.5H,0 = X100 % = x100 % = 70.72 %

Mosnwsdn
858 8
giudamaviigmwganigl my,o = 5.02g-2.988g=2.032¢g

2]

M X th1fg CuSO45H0  IS1SIGHMS  5.02g- X thesy MgSO4.7H20

g & g :
b Mcuso, sH,0 = 250 S11 Mpugso, 7H,0 = 246 Let X is mss of CuSO4.5H,0, then,

- s o - 5.02 — X'is mass of MgS0O..7H:0,
BN SYMaEits G ali mmsgnﬁumﬁLmrﬁsgmﬂ

5(18)

% H,0 (CuS0,.5H,0) = x100 % = 36 %
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% H,0 (MgS0,.7H,0) = 202

x100 % = 51.22 %

N W R GAITIRITN S (Meyso, 5n,0)(% H20) + (Mygso, 71,0) (% H20) = my,o = 2.032 g
0.36 X+ 0.5122 (5.02 — X) = 2.032

il X = Mcys0,5H,0 = 3-54 8

354g
5.02¢g

McyS0,4.5H20

fams % CuS0,.5H,0 = x 100 % = x100 % = 70.52 %

Mt
858 90

HiuamnavIMWwgaaAgl my,o =5.02g—2.988g=2.032¢g
M X theiey MgSO47H:0  IS1IMINMS  5.02g- X thififd CuSO4.5H-0

8 a 8 Let X i fM TH h
NS Mcuso,sm,0 = 250—= S8 Mygso,7H,0 = 246 —= et X Is mss of MgSOa.7H.0, then,
5.02 — X is mass of CuSO4.5H,0,
ﬁI?LﬂmmﬁimgﬁfﬁﬂJH"IS‘r;ihHUﬂﬁ-IiLm[ﬁSTglﬁﬂ

% H,0 (CuS0,.5H,0) = 2= x100 % = 36 %

% H,0 (MgS04.7H,0) = 222 X100 % = 51.22 %

[fﬂ [ﬁ[[ﬁﬁf—ﬂﬁﬁﬁ[ﬁﬁms (mcuso4.5H20)(% Hzo) + (mMgSO4.7H20)(% Hzo) = mHZO =2.032 g
0.36(5.02 — X)+0.5122X =2.032

ILﬁ'hU‘IS X = mMgSO4_7H20 =1.47 g [Ujhm S mcuso4 5H,0 — =5.02—-1.47 = 3.55 g

McyS0,4.5H20 5

x100 % = x100% =70.72 %

[[ﬁ‘hms % CUSO4. 5H20 = 502

Myt
S5 99
Hiauamavdimwganig] my,o =5.02g-2.988g=2.032¢g
M X thGSSH CuSO45H0  IRITAME  5.029-250 X thiied MgSOs.7H20
HNMS Mcuso, sm,0 = 250 -2 811 Mygso, 7m0 = 246 2
sgssgeishes: we ﬁssgis':
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AnnmmAtsEnldunsgaiuimiywy
Let X is mole of CuSO4.5H:0, then,

5(18) _ mass of CuS04.5H,0 = n.M =250 X (g)
% H,0 (CuS0,4.5H,0) = —=x100% = 36 % 49112 '
6 H0 ( +-5H20) = 555 0T ° and, mass of MgSO4.7H,0 is

7(18) 5.02 - 250 X

% H,0 (MgS0,.7H,0) = x100 % = 51.22 %

N WIBHEGTRITMNS (Meuso, sH,0) (% H20) +  (Mpygso,71,0)(% H20) = my,o =2.032g
(250 X) (0.36) + 0.5122 (5.02 — 250 X) = 2.032
I[ﬁ'ﬁm S 250X = mcuso4_5H20 = 3.54 g

354g

ms % CuS0,. 5H,0 = —5045M20y 100 o5 = x100 % = 70.52 %

Myt
8§53 9k
giunmavimwiyaaig] my,o =5.02g-2.988g=2.032¢g

M X ESE MgSO47H20  ISIIITRMS  5.029-246 X theag CuSO4.5H20
[intis MCuSO4.5H20 = ZSOmiol §1‘j MMgSO4.7H20 246—

mol
annmmaAtséaliunsgRRS RN ImSHw Let X is mole of MgSO4.7H.0, then
mass of MgSO4.7H0 = n.M = 246 X
5(18) o _ o (9), and, mass of CuSO4.5H0 is
250 U0 =36% 5.02-246 X
7(18)
246

% H,0 (CuS0,4.5H,0) =

% H,0 (MgS0,.7H,0) = x100 % = 51.22 %

ITREGASIRITN S (Meuso, 51,0) (% H20)  + (Mpeso, 71,0) (% H20) = my,o = 2.032 g
(5.02 — 246 X) (0.36) + 0.5122 (246 X) = 2.032

RGNMIS 246 X = Mygso, 7n,0 = 1.47 g IDNME meyso, sn,0 = 5.02 - 1.47 = 3.55 ¢

355g
502g

McyS0,4.5H20

ims % CuS0,.5H,0 = X100 % = x100 % = 70.72 %

Mosnwsdn
88 om
giudamaviimiwganigl my,o = 5.02g-2.988g=2.032g

n

M X thefg CuSOa5H0  IS1SIMINMS  5.02¢g- X theifg MgSO4.7H20
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fints MCuSO4 5H20 = 250m

ol

Let X is mss of CuSO4.5H;0, then,
AN ERlHUEIS Qhﬁﬁmﬁ[,m 5.02 — X is mass of MgS0O..7H,0,

my, o (CuS0,.5H,0) = (5)(18) (250) 0.36 X (g)

5.02

my,o (MgS0,. 7H,0) = (7)(18)( ) =0.5122 (5.02 — X) (g)

fin Lﬁltﬁhiﬂﬁﬁjﬂﬁﬁms mHZO (CuSO4 5H20) + mHZO (MgSO4 7H20) = mHZO =2.032 g
0.36 X+ 0.5122 (5.02 — X) = 2.032
[Lflﬁ:lms X = mcuso4_5H20 = 3. 54g

nms % CuS0,. 5H,0 = —=5045120 v 100 % = 2228 ¥ 100 % = 70.52 %

mﬂj,j‘l WS 502g

i nmavdimwiantgl my,o=5.02g—2.988g=2.032¢g

n

M X ey MgSOs7H20  IR1GRMS  5.02¢- X ME18d CuSO45H20

g & g Let X is mss of MgSQO,.7H;0, then,
fints MCuSO4.5H20 = 250m_01 S‘tl MMgSO4.7H20 = 246—— g 4 2

1
™ 5.02- X is mass of CuSO4.5H:0,
annsgivialinmsgnadufpnimiyws
502 -X

my,o (CUSO4 SHZO) = (5)(18)( 250

) =0.36 (5.02-X) (g)
my,o (MgS0,. 7H,0) = (7)(18) (ﬁ) =0.5122 X (g)
NS RN G AITIASINS  my,o (CuS0,. 5H,0) + my,o (MgS04. 7H,0) = my,o = 2.032 g
0.36(5.02 — X) + 0.5122 X = 2.032
RENMS X = Mygso, 7m0 = 1.47g HHNME  meyso, 51,0 = 5-02 - 1.47 =3.55¢g

355g

8 % CuS0,.5H,0 = —%%45120 v 100 0 = x100 % = 70.72 %

Myt
&§&& 98

i fanavIMWEHAIgl my, =5.02g—2.988g=2.032¢
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M X thGS8H U CuSO45H0  IR:ITAME  5.029-250 X thyiey MgSOs.7H20

g = g Let X is mole of CuSO..5H-0, then,
N Mcuso,sH0 = 250 = 89 Mugso,7m,0 = 246 == mass of CuS04.5H,0 = n.M = 250 X (g),

and, mass of MgSO..7H.0 is
nnﬂmiﬂﬁj(}ntum‘mth lifal) H{ImsSywa 5.02-250 X

my,0 (CuS0,.5H,0) = (5)(18) (257) = 0.36(250 X) = 90X (g)

5.02 - 250X

mHZO (Mg504 7H20) - (7)(18)( 246

) =0.5122 (5.02 - 250 X) (g)
TRMGASIIASINS  my,o (CuS0,.5H,0) + my,o (MgS0,. 7H,0) = my,o = 2.032 g
0.36(250X) + 0.5122 (5.02 — 250 X) = 2.032
250 X = mcyso, 50,0 = 3.54 8

8 % CuSO0,.5H,0 = —=05120 , 100 05 = 3228 ¥ 100 % = 70.52 %

mﬂ{]‘l W 502g
- X-X-1
SHR 90

i nnavdmwisntygl my,0=5.02g—2.988g=2.032g

n

mi X thGSSH MgSO.7H:0  IS1IIRMS  5.02g-246 X thi18y CuSO4.5H20

LN M 250 S UM 246-2 Let X is mole of MgSO..7H-0, then,
CuS04.5H,0 = MgS04.7H20 = mol mass of MgS04.7H20 = n.M = 246 X

W ca o o (9), and, mass of CuSO..5H0 is
HANSIBI I GATH RIS ARHUIHN IS YUY 502 — 246 X

=3
1

5.02 -246X

my, o (CuS0,. 5H,0) = (5)(18)( =

) =0.36(5.02 — 246 X) (g)

my,0 (MgS0,.7H0) = (7)(18) (5=

) = 0.5122 (246 X) (g)

LN WD RN G RTS8 my, o (CuS04.5H,0) + my,o (MgS04.7H,0) = my,o =2.032 g
0.36(5.02 — 246 X) + 0.5122 (246X) = 2.032

MIUME 246 X = Mygso, 7,0 = 1.47 g TN NS meyso, 51,0 = 5.02 —1.47 = 3.55 g

355g

Mcyso,.
8 % CuS0,.5H,0 = —243204 100 % = Sore

Mo

x100% =70.72 %

SS2 9c)
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MR X e fg CuSOa5H0  IS1SIGRMS  5.02¢g- X thEify MgSO4.7H20

Let X is mss of CuSO4.5H,0, then,

v e - R e o . 5.02 — X is mass of MgS0O..7H;0,
ﬁrmmmﬁmﬁmmsmgwmﬁmmsghmmmﬁnmsgwﬂ

Muso, (CuS0,. 5H,0) = (160) () = (0.64X) (g)

Mygso, (MgS04.7H,0) = (120) (227 (g)

ENWISNEGAIIIGITS  meyso, (CuSO4.5H,0) + mygso, (MgS0,4. 7H,0) = 2.988

)+ 120 (5"2 X

L0 O RS IRSTT S 160( —

- )_2.988

I[ﬁﬁmS X = mcu504_5H20 = 3.54 g

Mcys0,4.5H,0 3.54g

fams % CuS0,.5H,0 = x 100 % = 02 x100 % = 70.52 %

Mynwsidu

SER 93

M X Mg MgSO47H0  IR1WGHMS  5.02g- X thE1 sy CuSO4.5H20

Let X is mss of MgSO..7H.0, then,

PN Mcyso, 50,0 = 25011%1 S1 Mugso,7n,0 = 2462
5.02 — X is mass of CuS0..5H,0,

mol

aans e wddumEafywoliumsgaaduiphimlyw

o

502 -X

Mcuso, (CuSO,. 5H;0) = (160) (22-=) = 0.64 (5.02 — X) (g)

Mygso, (MgS0,.7H,0) = (120) (5,-) (2)

NS RENGRIIESINS  meyso, (CuSO,. 5H,0) + Miygso, (MgS0,4. 7H,0) = 2.988
[T G AT TIASIT 8 0.64(5.02 —X) + 120 (%) = 2.988

ITNMS X = mygso, 7,0 = 1.47 g NS meyso, sn,0 = 502 — 1.47 = 3.55 g

ams % CuS0,. 5H,0 = —2S045H20 4 100 05 = 35°8 100 9% = 70.72 %

Mynwsitu 5028 02
52 98
M X theeg CuSOs IR TAMS 2,988 g— X thE1 ey MgSOs
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Irglivy Mcuso,.5H,0 = 250% S11 Mygso, 70,0 = 246-2

mo mol

— 8
HNW  Mcuso, = 160 mol 81 Mmgso, = 120 mol Let X is mss of CuSQy, then,

annS B wEd U mSgw it upigimsgang 2.988 g — X Is mass of MgSOx,

fn

X 25X
Mcyso, 5H,0 = (250) (ﬁ) = 15 ®

Mygso, 70,0 = (246) (2 98:0 X) = (123) (2 e X) @

PN WIS GAITITEAIINS m (CuS0,.5H,0) + m (MgS0,.7H,0) = 5.02

) +(246) (w) = 5.02

SN B AITIRITT 8 (250) (o —

160
S16] X = mgyso, =2.267g

2.267

227) = 3.54¢

ims Mcyso, 58,0 = (250) (

Mcyuso,.5H20 x100 % = 5_ x1009% =70.72 %

iiams % CuS0,.5H,0 = 502g

Mot
§&& o

M X ey MgSOs  IR1IHMS 2988 g- X thi sy CuSOs
fEh i Mcuso, 5,0 = 2502 811 Mugso, 71,0 = 246 2 Let X is mss of MgSO., then,

g = g 2.988 g — X is mass of CuSOs,
It’ﬂlﬁ MCuSO4 - 160m_01 S‘tl MMgSO4 == 120m_01

fn

ann At ufpnmSywaliupiimgang

2.988 — X) __ 25(2988-X)

Mys0, 5H,0 = (250)( 60 » (8)

Mygso, 7H,0 = (246) (120) = (123)( ) (€]
PSR GAITIEIIN S m (CuS0,.5H,0) + m (MgS0,.7H,0) = 5.02

2988 ‘X) + (246) (120) ~ 5.02

A G RS RTINS (250)( =

SSHEJ X = mMgso4 =0.720 g

0.720

TMMS Mo, 7m0 = (246)( )= 1.476¢g
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N M meyso, 51,0 = 5-02 — 1.476 = 3.544 g

3544 ¢g
502g

M(Cus0,.5H,0

nams % CuSO0,.5H,0 = x 100 % = x100 % = 70.59 %

Mosnwidn

&. fi. annSGIgHA u T rughme
[iAsAgms Mg 84 CIr
mga (URIN[Y) Mg” + 2¢ —Mg

Mans (G8IHAMAAY) 2C1 - CL + 2

ne— x F

MYJUEE Q=It= n.xF §IG] 1= 2=

_ mqg,  48x10°g
= = Jigmol 6760 mol

[N t= 18 h = 64800 s 811 F = 96500 C/mol

MuNSIHAMNANY  n.- = 2 ng, = 2(6760 mol) = 13520 mol

13520 mol) (96500—= :
(13520 mol) (96500 SIS Faraday’s Laws of Electrolysis:
64800 s

Expanded Relationship

SRS 1=

2. BANAYIGIUNALE

n = amount of material, mol

/1 =——| w=mass of material, g

mgn (83 HiAY) Cu* + 2e —Cu = F M = molar mass of material, g mol-!
I=current, A

t=time, s

w [t | z=number of electrons

pEN S t=304s 831 1=3.00 A Mz i F = Faraday constant, 96 485 C mol

[wiasAdMms cu®, H,0 §i1 SO

It

Ne—

MEJUE] Q=1It= n,xFSIG[F =

mcy, _ 0300g

_9309s _ -3
Bl s3mg/m) 4.724x107° mol

.’M
I ng, =

MEISIHEAY ne- = 2 ng, = 2 (4.724x 1073 mol) = 9.448x 1073 mol

nams F= 2= 2RO = 96528 C/mol

. GIAANSIATY Ke 81 K, 1T AUNGaIfutad 0.20 atm
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aae
SHGED)
G88HgAISFUUINRIRATRNIET = nyo + ng, + Nyo,
= 0.040 mol + 0.020 mol + 0.960 mol = 1.02 mol

atm

(1.02 mol)(0.0821 L2
0.20 atm

)(703 K)

MuEIEMI PV = nyy RT S1Gj V = =294.35L

[NO2 ]2 (nw%)2 (0.960)2

= - 6
[NOJZ [0;] (ENOy2 (“02) T (0.04)2(0.02) (294.35) = 8.48x10
v \'%

mujueg K¢ =

MUEAESH Ke 81 Kp: Kp = Ke(RT)™"
fiinu An = Gg8UUrIIUHY MANIAR - GSSUIIUHYMAARI

2 mol — 3 mol = —1 mol

al 6
IGRMS  Kp = Ke(RT)™ = ~< = _B348x10° _ _ 146925

RT _ (0.0821)(703) Dalton’s LaW
883 b Def:

GgstinaaisuIuINIni8nieg = nyo + no, + nyo,  Mole Fraction = mols of one substance = X
total moles

(Xq * X5 +Xc =1)

Partial Pressure = pressure exerted by
(0.20 atm) only one gas in a mixture.

2222 (0.20atm) P, =n,RTV or P,=X,Pror

1.02 mol
P§ X P)? 2
NO, No, X P) _ (0.96)
(P0)Po,  (XnoxP)2(Xo, xP)  (0.04)2(0.02)(0.2 atm)

=0.040 mol + 0.020 mol + 0.960 mol = 1. 02 mol

0.04 mol

MYGAUMES Pyo = Xno XP = T —

(0.20 atm)

0.02 mol

Po, = Xo, XP = 1.02 mol

= XNOZXP=

Myjuyg Kp = (1.02 mol) = 146880

MUEAESN Ke 83 Kp: Kp = Ke(RT)A"

fiiry An = Ggstrjurymantfin - GgsSurjuaymasHng

= 2mol —3 mol = —1 mol

ITRMS  Kp=Kc(RT)™ 8I6]  Kc=Kp(RT) = (146880)(0.0821)(703) = 8.48x 10
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SER M
SASUINFURAIBNIET = nyo + no, + Nyo,

= 0.040 mol + 0.020 mol + 0.960 mol = 1.02 mol

atm

(1.02 mol)(0.0821 Lt
0.20 atm

)(703 K)
=294.35L

MuegEMI PV =g RT S1G] V =

nyQ., RT
Plo, (—F)? (0.960)2

(Pio)Po, ("NORT, 5 (“OzRT) ~ (0.040)2 (0.020) (0.0821)(703)
\' A%

muyjusg Kp =

(294.35) = 146878

MuEAESH Ke 811 Kp: Kp = Ke(RT)AN
fiiru An = GgstnursuspmanIfia - Ggsduriualm
= 2mol -3 mol = — 1 mol

ITRMS  Kp=KcRT)~ S16] Kc=Kp(RT) = (146878)(0.0821)(703) = 8.48x 10°
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